
CHEMISTRY

BOOKS - UNIVERSAL BOOK DEPOT 1960 CHEMISTRY

(HINGLISH)

HYDROCARBON

ORDINARY THINKING (Objective question (Alkane ))

1. The most important method of preparation of hydrocarbons of lower

carbon number is

A. Pyrolysis of higher carbon number hydrocarbons

B. Electrolysis of salts of fatty acids

C. Sabatier and Senderens reaction

D. Direct synthesis

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3y9ol3llFGQ6


Answer: A

Watch Video Solution

2. Solid methane is

A. Molecular solid

B. ionic solid

C. Covalent solid

D. Not possible

Answer: A

Watch Video Solution

3. Sample of 2,3-dibromo-3-methylpentane is heated with zinc dust. The

resulting products is isolated and heated with HI in the presence of

https://dl.doubtnut.com/l/_3y9ol3llFGQ6
https://dl.doubtnut.com/l/_GsIceiAIwmYL
https://dl.doubtnut.com/l/_83eHvscAO9RA


phosphorus. Indicate which is the structure that represents the final

product in the reaction:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH2 − C
∣

CH3

H − CH2 − CH3

CH2 = CH −

CH3

∣

C H − CH2 − CH3

CH3 − CHI − C
∣

CH3

H − CH2 − CH3

CH2 − CH − C
∣

CH3

(I) − CH2 − CH3

4. Which is the best antiknock compound or Which one of following

substances is used as an antiknock compound

A. Lead tetrachloride

B. Lead acetate

C. Zinc ethyl

https://dl.doubtnut.com/l/_83eHvscAO9RA
https://dl.doubtnut.com/l/_PYoT5k1sTOxk


D. Tetraethyl lead (TEL)

Answer: D

Watch Video Solution

5. In the commercial gasolines, the type of hydrocarbons which are more

desirable is

A. Branched hydrocarbon

B. Straight-chain hydrocarbon

C. Linear unsaturated hydrocarbon

D. Toluene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PYoT5k1sTOxk
https://dl.doubtnut.com/l/_FcLhMJCfgvqQ


6. Which of the following reaction is expected to readily gives

hydrocarbon product in good yields

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RCOOK
Oxidation Electrolysis
−−−−−−−−−−−−→

RCOOAg
I2

−−→

CH3 − CH3

Cl2
−−→

hv

(CH3)2CCl
C2H5OH
−−−−→

7. The reaction  is an example of

A. Addition reactions

B. Substitution reaction

C. Elimination reaction

D. Rearrangement reaction

CH4 + Cl2
uv light
−−−→ CH3Cl + HCl

https://dl.doubtnut.com/l/_Ps8JeAPBjkcf
https://dl.doubtnut.com/l/_GUjleGvm9Slm


Answer: B

Watch Video Solution

8. Propane is obtained from propene, by which of the following methods

A. Wurtz reaction

B. Dehydrogenation

C. Frankland reaction

D. Catalytic hydrogenation

Answer: D

Watch Video Solution

9. Liquid hydrocarbon can be converted to a mixture of gaswous

hydrocarbon by

https://dl.doubtnut.com/l/_GUjleGvm9Slm
https://dl.doubtnut.com/l/_qeS56MD0k5lN
https://dl.doubtnut.com/l/_pnCzKMr98m6e


A. Cracking

B. Hydrolysis

C. Oxidation

D. Distillation under reduced pressure

Answer: A

Watch Video Solution

10. Which of the following is not formed by the reaction of  on  in

sunlight

A. 

B. 

C. 

D. 

Answer: D

Cl2 CH4

CHCl3

CH3Cl

CH3CH3

CH3CH2CH3

https://dl.doubtnut.com/l/_pnCzKMr98m6e
https://dl.doubtnut.com/l/_nDBOWFC6YDId


Watch Video Solution

11. Which of the following statements is not true for ethane?

A. It can be chlorinated with chlorine

B. It can be catalytically hydrogenated

C. When oxidised produces  and 

D. It is a homologue of iso-butano

Answer: B

Watch Video Solution

CO2 H2O

12. Petroleum refining is

A. Distillation of petroleum to get different fractions

B. Obtaining aromatic compounds from aliphatic compounds present

in petroleum

https://dl.doubtnut.com/l/_nDBOWFC6YDId
https://dl.doubtnut.com/l/_r19jzhy0UeKh
https://dl.doubtnut.com/l/_I9pbvysjGKBW


C. Cracking of petroleum to get gaseous hydrocarbons

D. Purification of petroleum

Answer: A

Watch Video Solution

13. On mixing an alkane with chlorine and irradiating with ultra violet

light, it forms only one monochloro alkane. The alkane is

A. Propane

B. Pentane

C. Iso-pentane

D. Neo-pentane

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_I9pbvysjGKBW
https://dl.doubtnut.com/l/_HIl08ctidIfV
https://dl.doubtnut.com/l/_0cY4P7YM81iW


14. Iodoethane reacts with sodium in the presence of dry ether The

product is

A. Pentane

B. Propane

C. Butene

D. Butane

Answer: D

Watch Video Solution

15. The final product of complete oxidation of hydrocarbons is

A. Acid

B. Aldehyde

C. 

D. Dihydric alcohol

H2O + CO2

https://dl.doubtnut.com/l/_0cY4P7YM81iW
https://dl.doubtnut.com/l/_ohpKRBirfdF4


Answer: C

Watch Video Solution

16. In alkanes, the bond angle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

109.5∘

109∘

120∘

180∘

17. In the reaction , the reaction is

called

CH3 − Br + 2Na + Br − CH3 →

https://dl.doubtnut.com/l/_ohpKRBirfdF4
https://dl.doubtnut.com/l/_HUtKHL0cQt3z
https://dl.doubtnut.com/l/_PLP8tU7dBlw3


A. Wurtz reaction

B. Aldol condensation

C. Perkin's reaction

D. Levit reaction

Answer: A

Watch Video Solution

18. The decreasing order of boiling points is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n − pen tan e > iso − pen tan e > ≠ open tan e

Iso − pen tan e > pen tan e > ≠ o − pen tan e

Neo − pen tan e > iso − pen tan e > n − pen tan e

n − pen tan > ≠ open tan eiso − pen tan e

https://dl.doubtnut.com/l/_PLP8tU7dBlw3
https://dl.doubtnut.com/l/_6BD4fmBcQh6y


19. By wurtz reaction a mixture of methyl iodide and ethyl iodide gives

A. Butane

B. Ethane

C. Propane

D. A mixture of the above three

Answer: D

Watch Video Solution

20. Methane and ethane both can be obtained in single step from

A. 

B. 

C. 

CH3I

C2H5I

CH3OH

https://dl.doubtnut.com/l/_6BD4fmBcQh6y
https://dl.doubtnut.com/l/_Tp06WCCnFToI
https://dl.doubtnut.com/l/_aBcpn9si7HyC


D. 

Answer: A

Watch Video Solution

C2H5OH

21. Which of the following does not react with 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCI5

CH3OH

CH3COOH

CH3CHO

C2H6

22. Which represents an alkane

https://dl.doubtnut.com/l/_aBcpn9si7HyC
https://dl.doubtnut.com/l/_U3JqQYGatOcN
https://dl.doubtnut.com/l/_RnkhWQPBNKMd


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C5H8

C8H6

C9H10

C7H16

23. Which of the following has highest percentage of hydrogen

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

C2H4

C6H6

C2H2

https://dl.doubtnut.com/l/_RnkhWQPBNKMd
https://dl.doubtnut.com/l/_SSqjHr65Ygw0


24. Most of the hydrocarbons from petroleum are obtained by

A. Fractional distillation

B. Fractional crystallization

C. Vaporization

D. Polymerization

Answer: A

Watch Video Solution

25. When petroleum is heated the vapours contain mainly

A. Kerosene

B. Petroleum ether

C. Diesel

https://dl.doubtnut.com/l/_SSqjHr65Ygw0
https://dl.doubtnut.com/l/_PKPfSMvi3whu
https://dl.doubtnut.com/l/_YqVRzCa1ueu2


D. Machine oil

Answer: B

Watch Video Solution

26. Knocking sound occurs in engine when fuel

A. Ignites slowly

B. Ignites rapidly

C. Contains water

D. Is mixed with machine oil

Answer: B

Watch Video Solution

27. On mixing tetraethyl lead to gasoline available at petrol pumps

https://dl.doubtnut.com/l/_YqVRzCa1ueu2
https://dl.doubtnut.com/l/_CYg4r6BTq76T
https://dl.doubtnut.com/l/_YUEcCiC5ENFU


A. Calorific value of the fuel increases

B. Odour diminishes

C. Less smoke is obtained on combustion

D. Antiknock property of fuel increases

Answer: D

Watch Video Solution

28. Gasoline has composition

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

C8 − C12

C2 − C5

C6 − C8

https://dl.doubtnut.com/l/_YUEcCiC5ENFU
https://dl.doubtnut.com/l/_woKzIGeEkSJP


29. Petroleum is mainly a mixture of

A. Alkanes

B. Cyclohexane

C. Benzenoid hydrocarbons

D. Alkenes

Answer: A

Watch Video Solution

30. Anhydrous sodium acetate on heating with sodalime gives

A. Acetic acid

B. Methane

C. Calcium acetate

https://dl.doubtnut.com/l/_woKzIGeEkSJP
https://dl.doubtnut.com/l/_c3saBTJkYuF0
https://dl.doubtnut.com/l/_o5H29FjAwZUI


D. Ethane

Answer: B

Watch Video Solution

31. For preparing an alkane , a concentrated aqueous solution of sodium

or potassium salt of saturated carboxylic acid is subjected to

A. Hydrolysis

B. Oxidation

C. Hydrogenation

D. Electrolysis

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_o5H29FjAwZUI
https://dl.doubtnut.com/l/_tDwEE4PowOC1


32. Sodium ethoxide is a specific reagent for

A. Dehydration

B. Dehydrogenation

C. Dehydrohalogenation

D. Dehalogenation

Answer: C

Watch Video Solution

33. In Wurtz reaction the reagent used is

A. Na

B. Na/liquid 

C. Na/Dry ether

D. Na/dry alcohol

NH3

https://dl.doubtnut.com/l/_rZV4qYfoAKKF
https://dl.doubtnut.com/l/_qk7zZssCimPH


Answer: C

Watch Video Solution

34. Water gas is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO + CO2

CO + N2

CO + H2

CO + N2 + H2

35. Daily use candles (paraffin wax) contain

A. Higher saturated hydrocarbon

https://dl.doubtnut.com/l/_qk7zZssCimPH
https://dl.doubtnut.com/l/_8Umt6cDjFUck
https://dl.doubtnut.com/l/_RohgVhzZZDDd


B. Lower saturated hydrocarbon

C. Higher unsaturated hydrocarbon

D. Lower unsaturated hydrocarbon

Answer: A

Watch Video Solution

36. Kerosene is used as fuel because it is

A. Less volatile

B. More volatile

C. Cheap

D. Abundantly available

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RohgVhzZZDDd
https://dl.doubtnut.com/l/_eAY0aeGtUTi9
https://dl.doubtnut.com/l/_6fYl9jjPztbv


37. Dry distillation of sodium propanoate with sodalime gives

A. Propane

B. Propene

C. Ethane

D. Ethene

Answer: D

Watch Video Solution

38. On monochlorination of pentane, the number of straight chain

isomers formed is

A. 4

B. 3

C. 2

D. 1

https://dl.doubtnut.com/l/_6fYl9jjPztbv
https://dl.doubtnut.com/l/_KHLostx3oXqO


Answer: C

Watch Video Solution

39.  is formed when

A. Sodium acetate is heated with sodalime

B. Iodomethane is reduced

C. Aluminium carbide reacts with water

D. All of these

Answer: D

Watch Video Solution

CH4

40. As the number of carbon atoms in a chain increases the boiling point

of alkanes

https://dl.doubtnut.com/l/_KHLostx3oXqO
https://dl.doubtnut.com/l/_cRA0erfkp0zI
https://dl.doubtnut.com/l/_nW7pIHQL5ybt


A. Increases

B. Decreases

C. Remains same

D. May increase or decrease

Answer: A

Watch Video Solution

41. Kerosene is a mixture of

A. Alkanes

B. Aromatic compounds

C. Alcohols

D. Aliphatic acids

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nW7pIHQL5ybt
https://dl.doubtnut.com/l/_Yq7sbxysUYX7


42. Octane number can be changed by:

A. Isomerisation

B. Alkylation

C. Cyclisation

D. All of these

Answer: D

Watch Video Solution

43. The product obtained on reaction of  with hydrogen over

palladium carbon is

A. 

B. 

C. 

C2H5Cl

C3H8

C4H10

C2H6

https://dl.doubtnut.com/l/_Yq7sbxysUYX7
https://dl.doubtnut.com/l/_F9OSUxBMWlsC
https://dl.doubtnut.com/l/_yVNzqkZTk5UK


D. 

Answer: C

Watch Video Solution

C2H4

44. Producer gas is a mixture of …………………. And …………………..,

A. CO and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

N2

CO2 H2

N2 O2

CH4 N2

https://dl.doubtnut.com/l/_yVNzqkZTk5UK
https://dl.doubtnut.com/l/_APc30NpCeskV


45. The chemical added to leaded petrol to prevent the deposition of lead

in the combustion chamber is:

A. Iso-octane

B. Ethylene dibromide

C. Tetraethyl lead

D. Mercaptan

Answer: B

Watch Video Solution

46. Photochemical chlorination is initiated by a process of

A. Pyrolysis

B. Substitution

C. Homolysis

D. Peroxidation

https://dl.doubtnut.com/l/_sfLQza4Z4Bzs
https://dl.doubtnut.com/l/_KOsOMNKb9AYa


Answer: C

Watch Video Solution

47. Which of the following has highest octane number?

A. n-hexane

B. n-heptane

C. n-pentane

D. 2,2,4-trimethyl pentane

Answer: D

Watch Video Solution

48. Which one of the following has the lowest boiling point

A. 2-methylbutane

https://dl.doubtnut.com/l/_KOsOMNKb9AYa
https://dl.doubtnut.com/l/_NnMgFOLKbEQE
https://dl.doubtnut.com/l/_vynW5szFegyb


B. 2-methylpropane

C. 2,2-dimethyl propane

D. n-pentane

Answer: B

Watch Video Solution

49. The correct order of boiling points of 2, 2-dimethylpropane, 2

methylbutane and n pentane is

A. n-pentane gt 2,2-dimethylpropane gt 2-methylbutane

B. n-pentane gt 2-methylbutane gt 2,2-dimethylpropane

C. 2,2-dimethylpropane gt 2-methylbutanegt n-pentane

D. 2-methylbutane gt n-pentane gt 2,2-dimethylpropane

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vynW5szFegyb
https://dl.doubtnut.com/l/_169ugjPr4lnd


50. For preparing an alkane , a concentrated aqueous solution of sodium

or potassium salt of saturated carboxylic acid is subjected to

A. Hydrolysis

B. Oxidation

C. Hydrogenation

D. Electrolysis

Answer: D

Watch Video Solution

51. Halogenation of alkanes is an example of

A. Electrophilic substitution

B. Nucleophilic substitution

C. Free-radical substitution

https://dl.doubtnut.com/l/_169ugjPr4lnd
https://dl.doubtnut.com/l/_Z2TsgmUYbMkB
https://dl.doubtnut.com/l/_JsACE5G3lAIQ


D. Oxidation

Answer: C

Watch Video Solution

52. Formation of alkane by the action of Zn on alkyl halide is called

A. Frankland's reaction

B. Wurtz reaction

C. Cannizzaro reaction

D. Kolbe's reaction

Answer: A

Watch Video Solution

53. The most volatile compound is

https://dl.doubtnut.com/l/_JsACE5G3lAIQ
https://dl.doubtnut.com/l/_I0LgdT6wrBHj
https://dl.doubtnut.com/l/_0oUWmYsr0TgU


A. 2,2-dimethyl propane

B. 2-methyl butane

C. Isobutane

D. n-pentane

Answer: A

Watch Video Solution

54. Which of the following reactions will not give propane

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CH3CH2CH2Cl
Mg/ether
−−−−−→

H2O

CH3COCl
CH3MgX
−−−−−→

H2O

CH3CH = CH2

B2H6

−−−−−−→
CH3COOH

CH3 C
∣

OH

H − CH3

P/HI
−−→

https://dl.doubtnut.com/l/_0oUWmYsr0TgU
https://dl.doubtnut.com/l/_fOtuuFcT0QLP


55. The alkane that yields two isomeric monobromo derivatives is

A. Neopentane

B. Ethane

C. Methane

D. Propane

Answer: D

Watch Video Solution

56. Which one of the following compounds does not form an ozonide?

A. Ethene

B. Propyne

C. Propene

https://dl.doubtnut.com/l/_fOtuuFcT0QLP
https://dl.doubtnut.com/l/_XfNiJbMpHK2j
https://dl.doubtnut.com/l/_N6wWXZWWrV2C


D. Propane

Answer: D

Watch Video Solution

57. Gasoline is obtained from crude petroleum oil by its

A. Fractional distillation

B. Vacuum distillation

C. Steam distillation

D. Pyrolysis

Answer: A

View Text Solution

58. Which of the following does not give alkane

https://dl.doubtnut.com/l/_N6wWXZWWrV2C
https://dl.doubtnut.com/l/_VZY6EYrNfm1v
https://dl.doubtnut.com/l/_MmQnqrA5Cg1K


A. Reaction of  with Na in ether

B. Reaction of sodium acetate with sodalime

C. Electrolysis of concentrated sodium acetate solution

D. Reaction of ethyl chloride with alc. KOH

Answer: D

View Text Solution

CH3I

59. LPG is mixture of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H12 + C6H6

C4H10 + C3H8

C2H4 + C2H2

C2H4 + CH4

https://dl.doubtnut.com/l/_MmQnqrA5Cg1K
https://dl.doubtnut.com/l/_DbI63a29MvbG


60. In which case butane is formed

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2C2H5 − Cl + Na

C2H5COOH + Na2CO3

CH2 = CH − CH3 + H2SO4

61. . A is

A. Ethane

B. Butane

C. Methane

C2H5I
[H]

−−→ A

https://dl.doubtnut.com/l/_DbI63a29MvbG
https://dl.doubtnut.com/l/_ztD6t5JckBBc
https://dl.doubtnut.com/l/_EprdPz36QiWW


D. Methyl iodide

Answer: A

View Text Solution

62. Natural gas is a mixture of

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO + CO2

CO + N2

CO + H2 + CH4

CH4 + C2H6 + C3H8

https://dl.doubtnut.com/l/_EprdPz36QiWW
https://dl.doubtnut.com/l/_GsEALjGnc4rd


63. Which of the following represents the most oxidized form of

hydrocarbon ?

A. 

B. RCHO

C. RCOOH

D. RCOOOH

Answer: A

Watch Video Solution

CO2

64. Out of the following fractions of petroleum, the one having the lowest

boiling point is

A. Kerosene

B. Diesel oil

C. Gasoline

https://dl.doubtnut.com/l/_noAQcfhdI5sW
https://dl.doubtnut.com/l/_wN5nF6LmPogH


D. Heavy oil

Answer: C

View Text Solution

65. Which of the following is obtained at lowest temperature by fractional

distillation of petroleum

A. Kerosene

B. Diesel oil

C. Gasoline

D. Heavy oil

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_wN5nF6LmPogH
https://dl.doubtnut.com/l/_GjnjemFX8AF9


66. The natural petroleum contains

A. Saturated hydrocarbons

B. Cyclic saturated hydrocarbons

C. Compounds of sulphur

D. All of these

Answer: D

View Text Solution

67. Name the reaction 

A. Alkylation

B. Cracking

C. Pyrolysis

D. Fractionation

C10H22

900 K
−−→ C4H8 + C6H14

https://dl.doubtnut.com/l/_V2hb2CCDUV6B
https://dl.doubtnut.com/l/_iegWegP5bKl1


Answer: B

View Text Solution

68. At room temperature solid paraffin is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C3H8

C8H18

C4H10

C20H42

69. The process in which higher hydrocarbons are broken down into lower

hydrocarbons by controlled pyrolysis is called ___.

https://dl.doubtnut.com/l/_iegWegP5bKl1
https://dl.doubtnut.com/l/_qwmTTqf40hKs
https://dl.doubtnut.com/l/_45RlbL5UOBHt


A. Hydrolysis

B. Cracking

C. Oxidation

D. Reduction

Answer: B

Watch Video Solution

70. Successive alkanes differ by

A. 

B. 

C. 

D. 

−CH3

C2H4

https://dl.doubtnut.com/l/_45RlbL5UOBHt
https://dl.doubtnut.com/l/_zeJHYQwHdfee


Answer: A

Watch Video Solution

71. Which of the following alkane cannot be prepared by Wurtz synthesis?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

C2H6

C3H8

C4H10

72. What is the molecular formula of the alkane, the 5.6 litre of which

weight 11 g at STP

https://dl.doubtnut.com/l/_zeJHYQwHdfee
https://dl.doubtnut.com/l/_ShIFWbXIQm2S
https://dl.doubtnut.com/l/_fUq3lUxOEypj


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C6H14

C4H10

C3H8

C2H6

73. The reaction n-butane is known as

A. Wurtz synthesis

B. Corey-House synthesis

C. Kolbe synthesis

D. Friedel-Craft's synthesis

Answer: B

View Text Solution

CH3CH2Cl
1-Li

−−−→
2-Cu I

CH3CH2Cl
−−−−−−→

https://dl.doubtnut.com/l/_fUq3lUxOEypj
https://dl.doubtnut.com/l/_oaP20MFEEDcg


74. n-hexadecane has cetane number

A. 90

B. 100

C. 110

D. Zero

Answer: B

View Text Solution

75. Aqueous solution of the following compound on electrolysis gives

ethane

A. Acetic acid

B. Acetamide

C. Potassium acetate

https://dl.doubtnut.com/l/_oaP20MFEEDcg
https://dl.doubtnut.com/l/_SdoMR9l6njTz
https://dl.doubtnut.com/l/_MHTKKFs9Cs7F


D. Ethyl acetate

Answer: C

View Text Solution

76. Which of the following does not decolourise bromine solution in

carbon disulphide

A. Acetylene

B. Propene

C. Ethane

D. Propyne

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_MHTKKFs9Cs7F
https://dl.doubtnut.com/l/_uaJkHlxFVHmw


77. Carbon black, which is used in making printer's ink, is obtained by

decomposition of

A. Acetylene

B. Benzene

C. Carbon tetrachloride

D. Methane

Answer: D

View Text Solution

78. Which hydrocarbon will be most stable

A. Methane

B. Ethane

C. Propane

D. Butane

https://dl.doubtnut.com/l/_eRDy3pginxoK
https://dl.doubtnut.com/l/_alcpf7YgZx7C


Answer: D

View Text Solution

79. The petrol of octane number 80 has :

A. 20% normal heptane +80% iso-octane

B. 80% normal heptane+ 20% isooctane

C. 20% normal heptane +80% normal octane

D. 80% normal heptane +20% normal octane

Answer: A

Watch Video Solution

80. Which compound is not inflammable

A. CCl4

https://dl.doubtnut.com/l/_alcpf7YgZx7C
https://dl.doubtnut.com/l/_EsCfjPfwSfsP
https://dl.doubtnut.com/l/_pJE6txIwEDkF


B. 

C. 

D. 

Answer: A

View Text Solution

C2H5OH

CH4

C6H6

81. Which statement is NOT TRUE concerning alkanes ?

A. Large number alkanes are soluble in water

B. All alkanes have a lower density than water

C. At room temperature some alkanes are liquids, some solids and

some gases

D. All alkanes burn

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pJE6txIwEDkF
https://dl.doubtnut.com/l/_SiHUns5Y4LW9


82. Fischer Tropsch process is used for the manufacture of

A. Synthetic petrol

B. Thermosetting plastics

C. Ethanol

D. Benzene

Answer: A

View Text Solution

83. Thermal decomposition of alkanes in the absence of air is called as

A. Cracking

B. Oxidation

C. Combustion

https://dl.doubtnut.com/l/_SiHUns5Y4LW9
https://dl.doubtnut.com/l/_d8upCSImOjJr
https://dl.doubtnut.com/l/_s2klKmFyqJHZ


D. Hydrogenation

Answer: A

View Text Solution

84. What will be the octane no. of best fuel

A. 80

B. 81

C. 74

D. 65

Answer: B

View Text Solution

85. The shape of ethane is

https://dl.doubtnut.com/l/_s2klKmFyqJHZ
https://dl.doubtnut.com/l/_mMOdT0uRxSpg
https://dl.doubtnut.com/l/_JaFeHPjS4vvH


A. Triangular

B. Tetrahedral

C. Linear

D. None of these

Answer: B

View Text Solution

86. In the preparation of Grignard reagent from haloalkane, the metal

used is

A. Mg

B. Li

C. Zn

D. K

Answer: A

https://dl.doubtnut.com/l/_JaFeHPjS4vvH
https://dl.doubtnut.com/l/_k0jC8iNZKoGn


View Text Solution

87.  product. Product in above reaction

is

A. 

B. 

C. 

D. All of these

Answer: B

View Text Solution

CH3 − CH2 − CH2 − CH3

AlCl3
−−→
HBr

CH3 − C
∣
Br

H − CH2 − CH3

CH3 − C
∣

CH3

H − CH3

C
∣
Br

H2 − CH2 − C
∣

CH3

H2

88. Product obtained by nitraction of propane is ______.

A. Nitropropane

https://dl.doubtnut.com/l/_k0jC8iNZKoGn
https://dl.doubtnut.com/l/_c6byPkTZCU0b
https://dl.doubtnut.com/l/_orR2Wqk3dejt


B. Nitromethane

C. Nitroethane

D. All of these

Answer: D

Watch Video Solution

89. Which one gives only one monosubstitution product on chlorination

A. n pentane

B. N Pentane

C. Isopentane

D. n butane

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_orR2Wqk3dejt
https://dl.doubtnut.com/l/_2MifDWg8uTXS
https://dl.doubtnut.com/l/_SJ1UOIMWzve3


90. Of the five isomeric hexanes, the isomer which can give two

monochlorinated compounds is

A. n-hexane

B. 2, 3-dimethylbutane

C. 2,2-dimethylbutane

D. 2-methylpentane

Answer: B

Watch Video Solution

91. Methylbutane on reacting with bromine in the presence of

sunlight gives mainly

A. 1-bromo-2-methylbutane

B. 2-bromo-2-methylbutane

C. 2-bromo-3-methylbutane

2 −

https://dl.doubtnut.com/l/_SJ1UOIMWzve3
https://dl.doubtnut.com/l/_eVQ9aCgOj6pL


D. 1-bromo-3-methylbutane

Answer: B

Watch Video Solution

92. Which branched chain isomer of the hydrocarbon with molecular

mass  gives only one isomer of mono substituted alky halide ?

A. Tertiary butyl chloride

B. Neopentane

C. Isohexane

D. Neohexane

Answer: B

Watch Video Solution

72μ

https://dl.doubtnut.com/l/_eVQ9aCgOj6pL
https://dl.doubtnut.com/l/_6G1LNqEXl2hh


93. How many chiral compounds are possible on monochlorination of 2-

methyl butane

A. 8

B. 2

C. 6

D. 4

Answer: C

View Text Solution

94. Which of the following are produced from coaltar

A. Synthetic dyes

B. Drugs

C. Perfumes

D. All the three

https://dl.doubtnut.com/l/_ruvtnfxFHhAL
https://dl.doubtnut.com/l/_qWFhRsLec1B3


Answer: D

View Text Solution

95. The order of apperance of the following with rising temperature

during the refining of crude oil is ______.

A. Kerosene oil, gasoline, diesel

B. Diesel, gasoline, kerosene oil

C. Gasoline, diesel, kerosene oil

D. Gasoline, kerosene oil, diesel

Answer: D

Watch Video Solution

96. Which does not react with chlorine in dark

https://dl.doubtnut.com/l/_qWFhRsLec1B3
https://dl.doubtnut.com/l/_ep7oN2QmL6dc
https://dl.doubtnut.com/l/_QR9lgnWU5CEe


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H4

C2H2

CH4

CH3CHO

97. Heating of alkanes with fuming sulphuric acid or oleum at high

temperature, which forms sulphonic acid, is called

A. Nitration

B. Halogenation

C. Sulphonation

D. Oxidation

Answer: C

https://dl.doubtnut.com/l/_QR9lgnWU5CEe
https://dl.doubtnut.com/l/_yXWb5zVkni5U


Watch Video Solution

98. Which of the following is not an endothermic reaction

A. Dehydrogenation

B. Ethane to ethene

C. Combustion of propane

D. Change of chlorine molecule into chlorine atoms

Answer: C

Watch Video Solution

99. Which of the following petroleum corresponds to kerosene oil

A. 

B. 

C. 

C15 − C18

C10 − C12

C5 − C9

https://dl.doubtnut.com/l/_yXWb5zVkni5U
https://dl.doubtnut.com/l/_KTjY75OkLIKA
https://dl.doubtnut.com/l/_qDGiQVReRWN0


D. 

Answer: B

Watch Video Solution

C1 − C9

100. Methane can be prepared by:

A. Wurtz reaction

B. Decarboxylation

C. Hydrogenation reaction

D. All of these

Answer: B

Watch Video Solution

101. In catalytic reduction of hydrocarbons which catalyst is mostly used

https://dl.doubtnut.com/l/_qDGiQVReRWN0
https://dl.doubtnut.com/l/_qblrqtYYFa6I
https://dl.doubtnut.com/l/_TS8jTtWfpdW2


A. Pt/Ni

B. Pd

C. 

D. Misch metal

Answer: A

Watch Video Solution

SiO2

102. Grignard reagent is not prepared in aqueous medium but prepared

in ether medium because

A. Reacts with water

B. Is insoluble in water

C. Is highly reactive in ether

D. Becomes inactive in water

Answer: A

https://dl.doubtnut.com/l/_TS8jTtWfpdW2
https://dl.doubtnut.com/l/_5TAFVT9rOJad


Watch Video Solution

103. Pick out the alkane which differs from the other members of the

group

A. 2,2-dimethylpropane

B. Pentane

C. 2-methyl butane

D. 2,2-dimethyl butane

Answer: D

Watch Video Solution

104. Merthyl bromide is converted into ethan by heating it in ether

medium with:

A. Al

https://dl.doubtnut.com/l/_5TAFVT9rOJad
https://dl.doubtnut.com/l/_SFxoPBWggGFp
https://dl.doubtnut.com/l/_c2PGrVzEScJL


B. Zn

C. Na

D. Cu

Answer: C

Watch Video Solution

105. Which cycloalkane has the lowest heat of combustion per 

group

A. Cyclopropane

B. Cyclobutane

C. Cyclopentane

D. Cyclohexane

Answer: D

Watch Video Solution

CH2

https://dl.doubtnut.com/l/_c2PGrVzEScJL
https://dl.doubtnut.com/l/_WXBttduLkRFK


106. n-propyl bromide on treating with alcoholic KOH produces

A. Propyne

B. Propanol

C. Propane

D. Propene

Answer: D

Watch Video Solution

107. The angle strain in cyclobutane is:

A. 

B. 

C. 

D. 

19∘ 22'

9∘ 44'

24∘ 44'

29∘ 16'

https://dl.doubtnut.com/l/_WXBttduLkRFK
https://dl.doubtnut.com/l/_aD6TOZ2cylS1
https://dl.doubtnut.com/l/_xKyKWaDBv0Q5


Answer: a

Watch Video Solution

108. A dibromo derivative of an alkane reacts with sodium metal to form

an alicyclic hydrocarbon. The derivative is

A. 1,1-dibromopropane

B. 2,2-dibromobutane

C. 1,2-dibromoethane

D. 1,4-dibromobutane

Answer: D

View Text Solution

109. In the chlorination reaction of propane, mixture of products are

obtained. How many isomers, the mixture contains

https://dl.doubtnut.com/l/_xKyKWaDBv0Q5
https://dl.doubtnut.com/l/_W0YitzKRaaVP
https://dl.doubtnut.com/l/_1OFUtO9XENMV


A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

110. Which of the following cycloalkane gives open chain compound, when

reacts with bromine

A. Cyclopropane

B. Cyclopentane

C. Cyclohexane

D. Cyclo-octane

Answer: A

https://dl.doubtnut.com/l/_1OFUtO9XENMV
https://dl.doubtnut.com/l/_urde5GycuDOh


Watch Video Solution

111. A petroleum fraction having boiling range  and cotaining

6 - 10 carbon atoms per molecule is called

A. Natural gas

B. Gas oil

C. Gasoline

D. kerosene

Answer: C

Watch Video Solution

70 − 200∘C

112. Which of the following has the higest knocking property ?

A. Olefins

B. Branched chain olefins

https://dl.doubtnut.com/l/_urde5GycuDOh
https://dl.doubtnut.com/l/_7vghhxCw7p2i
https://dl.doubtnut.com/l/_Cjh440rcQ3Wd


C. Straight chain olefins

D. Aromatic hydrocarbons

Answer: C

Watch Video Solution

113. When propionic acid is subjected to reduction with hydroiodic acid

acid Red phosphorus ,the product formed is

A. Ethane

B. Propane

C. Butane

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Cjh440rcQ3Wd
https://dl.doubtnut.com/l/_anMfEw8sVnOr
https://dl.doubtnut.com/l/_SEAuB9WjeDvj


114. Which of the following is oxidised by 

A. Methane

B. Pentane

C. Isobutane

D. Neopentane

Answer: C

Watch Video Solution

KMnO4

115. Petroleum ether can be used as

A. Solvent for fat, oil, varnish and rubber

B. As a fuel

C. Both (a) and (b)

D. None of these

https://dl.doubtnut.com/l/_SEAuB9WjeDvj
https://dl.doubtnut.com/l/_X5zF19Ow4Ztg


Answer: A

Watch Video Solution

116. Iso-octane is mixed to the petrol

A. To precipitate inorganic substances

B. To prevent freezing of petrol

C. To increase boiling point of petrol

D. As an antiknock

Answer: D

Watch Video Solution

117. Action of hydrogen chloride on  and on 

 will predominantly give the compounds, reapectively

CH3 − C
∣

CH3

= CH2

CH ≡ CH

https://dl.doubtnut.com/l/_X5zF19Ow4Ztg
https://dl.doubtnut.com/l/_AfOcCeu2Bg1K
https://dl.doubtnut.com/l/_VScg965LvMLO


A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

CH3 − C
∣

CH3

H − CH2Cl CH2Cl − CH2Cl

CH3 − CCl
∣

CH3

− CH3 CH3 − CHCl2

CH3 − C
∣

CH3

H − CH2Cl CH3 − CHCl2

CH3 − C
∣

CH3

H − CH3 CH2Cl − CH2Cl

118. A mixture of propene and methane is obtained by the cracking of

A. 1-butene

B. 2-butene

C. n-butane

D. Isobutane

Answer: C

https://dl.doubtnut.com/l/_VScg965LvMLO
https://dl.doubtnut.com/l/_SAyzbtJeVtoO


Watch Video Solution

119. Which of the following fractions of petroleum refining contains

kerosene (Boiling ranges in C are given below)

A. 40-80

B. 80-200

C. 200-300

D. Above 300

Answer: C

Watch Video Solution

. ∘

120. A mixture of methane, ethylene and acetylene gases is passed

through a Wolf bottle containing ammoniacal cuprous chloride. The gas

coming out is

https://dl.doubtnut.com/l/_SAyzbtJeVtoO
https://dl.doubtnut.com/l/_2u8JRjgDYG74
https://dl.doubtnut.com/l/_FVLUc4luXXs4


A. Methane

B. Acetylene

C. A mixture of methane and ethylene

D. The original mixture

Answer: C

Watch Video Solution

121. Silver acetylide when heated with HCl gives

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

C2H4

H2

C2H4

https://dl.doubtnut.com/l/_FVLUc4luXXs4
https://dl.doubtnut.com/l/_C7aibSys6Oyd


122. Method by which aniline cannot be prepared is:

A. Hydrolysis of phenyl isocyanide with acidic solution

B. Degradation of benzamide with bromine in alkaline solution

C. Reduction of nitrobenzene with /pd in ethanol

D. Potassium salt of phthalimide treated with chlorobenzene followed

by hydrolysis with aqueous NaOH solution

Answer: D

Watch Video Solution

H2

https://dl.doubtnut.com/l/_C7aibSys6Oyd
https://dl.doubtnut.com/l/_5QUoUu4tCqBz


123. Which of the following is not the product of dehydration of 

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_rVrgUbVcUvoL


Watch Video Solution

124. The compound that will react most readily with gaseous bromine has

the formula

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H4

C3H6

C2H2

C4H10

125. Hydrocarbon  reacts with bromine by substitution to form an alkyl

bromide which by Wurtz reaction is converted to gaseous hydrocarbon

containing less than four carbon atoms  is

(A)

(A)

https://dl.doubtnut.com/l/_rVrgUbVcUvoL
https://dl.doubtnut.com/l/_AEWIsm3m9rXC
https://dl.doubtnut.com/l/_x3RgM9OXWedh


ORDINARY THINKING (Objective question) (ALKENE)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH ≡ CH

CH2 = CH2

CH3 − CH3

CH4

1. The disappearance of the characteristic purple colour of  in its

reaction with an alkene is the test for unsaturation it is known as:

A. Markownikov test

B. Baeyer test

C. Wurtz test

D. Gringnard test

KMnO4

https://dl.doubtnut.com/l/_x3RgM9OXWedh
https://dl.doubtnut.com/l/_Oi9sofcoFHk8


Answer: B

Watch Video Solution

2. A hydrocarbon reacts with hypochlorous acid to give 1-chloro-2-

hydroxyethane. The hydrocarbon is

A. Ethylene

B. Methane

C. Ethane

D. Acetylene

Answer: A

View Text Solution

3. Reaction of HBr with propene in the presence of peroxide gives :-

https://dl.doubtnut.com/l/_Oi9sofcoFHk8
https://dl.doubtnut.com/l/_bCkplFzfxBWO
https://dl.doubtnut.com/l/_qpcMF5KEvqzH


A. Allyl bromide

B. n-propyl bromide

C. Isopropyl bromide

D. 3-bromo propane

Answer: B

Watch Video Solution

4. Indicate the organic structure for the product expected when -

methylpropene is heated with acetyl chloride in the presence of

anhydrous .

A. 

B. 

C. 

2

ZnCl2

CH3 −

CH3

∣

C
∣

Cl

− CH2 − CO − CH3

CH3 −

H

∣

C
∣

CH3

− CH2 − CO − CH3

https://dl.doubtnut.com/l/_qpcMF5KEvqzH
https://dl.doubtnut.com/l/_9F0f8VdfCAcN


D. 

Answer: A

Watch Video Solution

CH3 −

O

∣ ∣

C −

CH3

∣

C = CH2

5. Baeyer's reagent is used in the laboratory for-

A. Detection of double bonds

B. Detection of glucose

C. Reduction

D. Oxidation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9F0f8VdfCAcN
https://dl.doubtnut.com/l/_NqLdRZSTB6Gd


6. When dimethyl butanol is heated with  the major

product obtained is

A. Cis and trans isomers of 2,3-dimethyl -2-butene

B. 3,3-dimethyl-1-butene

C. 2,3-dimethyl-1-2-butene

D. 2,3-dimethyl-1-butene

Answer: C

Watch Video Solution

3, 3 − −2 − H2SO4

7. Alkene  reacts readily with  and the product on

oxidation with alkaline hydrogen peroxides produces

A. 

B. 

C. 

R − CH = CH2 B2H6

R − CH2 − CHO

R − CH2 − CH2 − OH

R − C
∣ ∣
O

− CH3

https://dl.doubtnut.com/l/_f4iPr0MQK3ib
https://dl.doubtnut.com/l/_M74JtHFYM1jt


D. 

Answer: B

Watch Video Solution

R − C
∣
OH

H − C
∣
OH

H3

8. The reaction  is

A. Nucleophilic reaction

B. Electrophilic reaction

C. Electrophilic reaction

D. Free radical addition

Answer: B

Watch Video Solution

CH2 = CH − CH3 − HBr → CH3CHBr − CH3

https://dl.doubtnut.com/l/_M74JtHFYM1jt
https://dl.doubtnut.com/l/_wQ2sm11IziNZ


9. In the reactions 

 


M and R are respectively

A.  and NaOH

B.  and aq. 

C.  and HCl

D.  and heat

Answer: B

Watch Video Solution

CH2

∣∣
CH2

Hypochlorous
−−−−−−−→

acid
M

R
−−→

CH2OH

∣
∣
∣

CH2OH

CH3CH2Cl

CH2Cl − CH2OH NaHCO3

CH3CH2OH

CH2 = CH2

10. The reaction,  is called

A. Wurtz reaction

B. Kolbe reaction

CH2 = CH2 + H2

Ni
−−−−−−−→
250 ∘ − 300 ∘C

CH3 − CH3

https://dl.doubtnut.com/l/_07KqdSzhzNrA
https://dl.doubtnut.com/l/_yS9yckBXszim


C. Sabatier and Senderens reaction

D. Carbylamine reaction

Answer: C

Watch Video Solution

11. Which of the following is not used to distinguish ethene from ethane

A. Iodine in 

B. Bromine in 

C. Alkaline 

D. Ammonical 

Answer: D

Watch Video Solution

CCl4

CCl4

KMnO4

Cu2Cl2

https://dl.doubtnut.com/l/_yS9yckBXszim
https://dl.doubtnut.com/l/_frR1aPHzAhhd


12. Using anhydrous  as catalyst, which one of the following

reactions produces ethylbenzene  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AlCl3

(PhEt)

H2C = CH2 + C6H6

H3C − CH3 + C6H6

H3C − CH2OH + C6H6

CH3 − CH = CH2 + C6H6

13. Which of the compounds with molecular formula yields acetone

on ozonolysis ?

A. 2-methyl-2-butene

B. 3-methyl-1-butene

C. Cyclopentane

C5H10

https://dl.doubtnut.com/l/_I1RmT8EBxjzB
https://dl.doubtnut.com/l/_xljtV6OJBopE


D. 2 methyl-1-butane

Answer: A

Watch Video Solution

14.  


A (Predominantly ) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3C − C
∣

CH3

H − CH = CH2 + HBr → A

CH3 − C
∣
Br

H − C
∣

CH3

H − CH3

CH3 − C
∣

CH3

H − C
∣
Br

H − CH3

CH3 − C
∣

CH3

H − CH2 − CH2Br

CH3 −

Br

∣

C
∣

CH3

− CH2CH3

https://dl.doubtnut.com/l/_xljtV6OJBopE
https://dl.doubtnut.com/l/_KdB7LBXFvuFt
https://dl.doubtnut.com/l/_drd15WN2bKzA


15. In the following reaction 

 


The major product is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H3C −

CH3

∣

C
∣

CH3

− CH = CH2

H2O/H +

−−−−−→ A
Major Product

+ B
Minor Product

H3C −

CH3

∣

C
∣
OH

− C
∣

CH3

H − CH3

C
∣
OH

H2 −

CH3

∣

C
∣

CH3

− CH2 − CH3

H3C −

CH3

∣

C
∣

CH3

− C
∣
OH

H − CH3

H3C −

CH3

∣

C
∣

CH3

− CH2 − C
∣
OH

H2

16. Identity Z in the sequence of reactions,

CH3CH2CH = CH2

HBr/H2O2

−−−−−−→ Y
C2H5ONa
−−−−−→ Z

https://dl.doubtnut.com/l/_drd15WN2bKzA
https://dl.doubtnut.com/l/_Op9OyulJSS73


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3(CH2)4 − O − CH3

CH3CH2 − CH(CH3) − O − CH2CH3

CH3 − (CH2)3 − O − CH2CH3

(CH3)2CH2 − O − CH2CH3

17. Identify Z in the series 

A. 

B. 

C. 

D. 

Answer: C

CH2 = CH2
HBr

−−→ X
aq.KOH
−−−−→ Y

Na2CO3

−−−−→
I2excess

Z

C2H5I

C2H5OH

CHI3

CH3CHO

https://dl.doubtnut.com/l/_Op9OyulJSS73
https://dl.doubtnut.com/l/_IrCesG0mtpav


Watch Video Solution

18. In the following reaction 

A.  predominates

B.  predominates

C. Both are formed in equal amounts

D. The amount of production depends on the nature of catalyst

Answer: A

Watch Video Solution

CH3 − CH2 − CH2 − CH3

H2SO4

−−−→
475 K

CH3CH = CHCH3

CH2 = CHCH2CH3

19. A compound 'X' on ozonolysis form two molecules of HCHO.

Compound 'X' is

A. C2H4

https://dl.doubtnut.com/l/_IrCesG0mtpav
https://dl.doubtnut.com/l/_6EZAZAIyq3ak
https://dl.doubtnut.com/l/_HRaMK09SaQnX


B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H2

C2H6

C6H6

20. The negative part of the addendum adds on to the carbon atom

joined to the least number of hydrogen atoms. This statemet is called.

A. Thiele's principle

B. Baeyer's strain theory

C. Markownikov's rule

D. Peroxide effect

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HRaMK09SaQnX
https://dl.doubtnut.com/l/_X8EtN7SZOqDS


21. Olefins can be hydrogenated by :

A. Zinc and HCl

B. Nascent hydrogen

C. Raney Ni and 

D. Lithium hydride in ether

Answer: C

Watch Video Solution

H2

22. Which of the following is the most stable alkene

A. 

B. RCH=CHR

C. 

D. 

R2C = CR2

RCH2 = CH2R

CH2 = CH2

https://dl.doubtnut.com/l/_X8EtN7SZOqDS
https://dl.doubtnut.com/l/_XWOARTV4Gnig
https://dl.doubtnut.com/l/_m4HdVgLFOZJb


Answer: A

Watch Video Solution

23. Alkynes usually show which type of reaction ?

A. Addition

B. Substitution

C. Elimination

D. Superposition

Answer: A

Watch Video Solution

24. Which of the following compound is produced when

 reacts with HBr in presence of peroxidesCH2 = CH − (CH2)2COOH

https://dl.doubtnut.com/l/_m4HdVgLFOZJb
https://dl.doubtnut.com/l/_QNONL61wp8aZ
https://dl.doubtnut.com/l/_5QkTgv6ekWCE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH(CH2)5COOH

BrCH2CH2(CH2)2COOH

CH3CH2CH2(CH2)5COOH

CH3CH2BrCH2CH2COOH

25. -Phenylpropene on reaction with  gives (as major product)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 HBr

C6H5CH2CH(Br)CH3

C6H5CH(Br)CH2CH3

C6H5CH2CH2CH2Br

C6H5CH(Br)CH = CH2

https://dl.doubtnut.com/l/_5QkTgv6ekWCE
https://dl.doubtnut.com/l/_3gRlsoK2lhwR


26. Which of the following sequence of reactions (reagent ) can be used

for the conversion of  into 

A. 

B. 

C. 

D.  , alc. KOH

Answer: B

Watch Video Solution

C6H5CH2CH3 C6H5CH = CH3

SOCl2, H2O

SO2Cl2, alc. KOH

Cl2 /hv, H2O

SOCl2

27. Ethylene is a member of ……...series

A. Alkyne

B. Olefin

C. Paraffin

https://dl.doubtnut.com/l/_3gRlsoK2lhwR
https://dl.doubtnut.com/l/_hXpDeJeEujy1
https://dl.doubtnut.com/l/_simped1KUh9l


D. Amine

Answer: B

Watch Video Solution

28. Catalyst used in the dimerization of acetylene to prepare chloroprene

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HgSO4 + H2SO4

Cu2Cl2

Cu2Cl2 + NH4Cl

Cu2Cl2 + NH4OH

https://dl.doubtnut.com/l/_simped1KUh9l
https://dl.doubtnut.com/l/_qFSFbAHFIgy5


29. Presence of peroxides affects the addition of

A. HBr

B. HCl

C. HI

D. All of these

Answer: A

Watch Video Solution

30. 1,3-butadiene reacts with ethylene to form

A. Benzene

B. Cyclohexane

C. Cyclohexene

D. 2, 3 dimethyl butane

https://dl.doubtnut.com/l/_A70HvXmgTUrr
https://dl.doubtnut.com/l/_1cmpAbC3DVNP


Answer: C

Watch Video Solution

31. In the reaction  Product. What is the

product

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5CH = CH2 + H − X →

C2H5 − CH3

C2H5CH2 − CH2X

C2H5 − CHX − CH3

CH3 − CH2X − CH = CH2

32.  Optical isomers(CH3)2C − C
∣

CH3

H
Catalyst
−−−−→

H2

https://dl.doubtnut.com/l/_1cmpAbC3DVNP
https://dl.doubtnut.com/l/_9znP42WRtLEt
https://dl.doubtnut.com/l/_TS4jIgJam7nd


A. 2

B. 4

C. Zero

D. 3

Answer: C

Watch Video Solution

33. Which reagent used to test unsaturation of alkenes ?

A. Conc. 

B. Ammoniacal 

C. Ammoniacal 

D. Solution of  in 

Answer: D

Watch Video Solution

H2SO4

Cu2Cl2

AgNO3

Br2 CCl4

https://dl.doubtnut.com/l/_TS4jIgJam7nd
https://dl.doubtnut.com/l/_10IK2KrytRFE


34. In paraffins, with the increasing molecular weight, it is found that

A. Freezing point decreases

B. Boiling point decreases

C. Boiling point increases

D. Vapour pressure decreases

Answer: C

Watch Video Solution

35. In a reaction, if half of the double bond is broken and two new bonds

are formed, this is a case of

A. Elimination

B. Addition

C. Displacement

https://dl.doubtnut.com/l/_10IK2KrytRFE
https://dl.doubtnut.com/l/_2wq95l0yqZXh
https://dl.doubtnut.com/l/_F7ADLvlRS6aD


D. Rearrangement

Answer: B

Watch Video Solution

36. The formation of alkene from alkyl halide is an example of

A. Addition

B. Elimination

C. Substitution

D. (a) and (c )

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_F7ADLvlRS6aD
https://dl.doubtnut.com/l/_6qzKyK2tjavj


37.  


X in the above reaction is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HNO3

O2

O3

KMnO4

38. Electrolysis of cold concentrated aqueous solution of potassium

succinate yields

A. Ethane

https://dl.doubtnut.com/l/_F9C6G2vA7StC
https://dl.doubtnut.com/l/_2FJeVq5bdaUY


B. Ethyne

C. Ethene

D. Ethane-1, 2-diol

Answer: C

Watch Video Solution

39.  reacts with HCl to form

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

CH2 = CHCl

CH2Cl − CH2Cl

CH3 − CHCl2

CH2 = CHCl. HCl

https://dl.doubtnut.com/l/_2FJeVq5bdaUY
https://dl.doubtnut.com/l/_g0vYOqEuxFen
https://dl.doubtnut.com/l/_qwtTdPOelNQ7


40. . Product 'X' in above reaction is

A. Ethylene glycol

B. Glucose

C. Ethanol

D. All of these

Answer: A

Watch Video Solution

CH2 = CH2

KMnO4

−−−−−−→
KOH /H2O

X

41. Ethyl hydrogen sulphate is obtained by the reaction of  on

A. Ethylene

B. Ethane

C. Ethyl chloride

D. Ethanol

H2SO4

https://dl.doubtnut.com/l/_qwtTdPOelNQ7
https://dl.doubtnut.com/l/_SRXB6rmNst4D


Answer: D

Watch Video Solution

42. A gas decolourises  solution but gives no precipitate with

ammoniacal cuprous chloride is

A. Ethane

B. Methane

C. Ethene

D. Acetylene

Answer: C

Watch Video Solution

KMnO4

43. Cyclopentene on treatment with alkaline  givesKMnO4

https://dl.doubtnut.com/l/_SRXB6rmNst4D
https://dl.doubtnut.com/l/_lKhrCvQivKgY
https://dl.doubtnut.com/l/_Ea9tSg5bXzEq


A. Cyclopentanol

B. Trans 1, 2-cyclopentanediol

C. Cis 1, 2-cyclopentanediol

D. 1 : 1 mixture of cis and trans 1, 2-cyclopentanediol

Answer: C

Watch Video Solution

44. Which one of the following organic compounds decolourizes an

alkaline  solution

A. 

B. 

C. 

D. 

Answer: B

KMnO4

CS2

C3H6

C3H8

CH3OH

https://dl.doubtnut.com/l/_Ea9tSg5bXzEq
https://dl.doubtnut.com/l/_Pto1OVvHSpf0


Watch Video Solution

45. Addition of  on the double bond of propene yields isopropyl iodide

and not n-propyl iodide as the major product. This is because the

addition proceeds through:

A. A more stable carbonium ion

B. A more stable carbanion

C. A more stable free radical

D. None of the above being a concerted reaction

Answer: A

Watch Video Solution

HI

46. When alocoholic solution of ethylene dibromide is heated with

granulated zinc, the compound formed is

https://dl.doubtnut.com/l/_Pto1OVvHSpf0
https://dl.doubtnut.com/l/_i5BfkIEfDGML
https://dl.doubtnut.com/l/_2vIuXt3cG0wH


A. Ethylene

B. Ethyne

C. Cyclobutane

D. Butane

Answer: A

Watch Video Solution

47. 

A. 

B. 

C. 

D. None of these

https://dl.doubtnut.com/l/_2vIuXt3cG0wH
https://dl.doubtnut.com/l/_MCtOlGmq8iWE


Answer: B

Watch Video Solution

48. Propene when heated with chlorine at about  C forms

A. 

B. 

C. 

D. All of three

Answer: A

Watch Video Solution

500∘

CH2Cl. CH = CH2

CH3. CHCl. CH2Cl

CH2Cl. CHCl. CH2Cl

49. Electrophilic addition reaction is easily given by

A. Acetylene

https://dl.doubtnut.com/l/_MCtOlGmq8iWE
https://dl.doubtnut.com/l/_TQ3QOabwUtC1
https://dl.doubtnut.com/l/_5jMqEQ6CTZRT


B. Ethene

C. Ethane

D. Benzene

Answer: B

Watch Video Solution

50. The only alcohol that can be prepared by the indirect hydration of

alkene is

A. Ethyl alcohol

B. Propyl alcohol

C. Isobutyl alcohol

D. Methyl alcohol

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5jMqEQ6CTZRT
https://dl.doubtnut.com/l/_ZTFiMErDB1gr


51. Which reactions are most common in alkenes ?

A. Electrophilic substitution reactions

B. Nucleophilic substitution reactions

C. Electrophilic addition reactions

D. Nucleophilic addition reactions

Answer: C

Watch Video Solution

52. Oils are converted into fats by

A. Hydration

B. Decarboxylation

C. Hydrogenation

D. Dehydrogenation

https://dl.doubtnut.com/l/_ZTFiMErDB1gr
https://dl.doubtnut.com/l/_7vC2f5g4Hb1t
https://dl.doubtnut.com/l/_375M5GdpCPGJ


Answer: C

Watch Video Solution

53. One mole of an unsaturated hydrocarbons on ozonolysis gives one

mole each of  and . The hydrocarbon

is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CHO, HCHO OHC − CHO

CH3. CH2C ≡ C. CH3

CH ≡ C. CH2. CH2. CH3

CH3. CH = CH. CH = CH2

CH2 = CH. CH2CH ≡ CH2

54. The Markovnikov rule is best applicable to the reaction between

https://dl.doubtnut.com/l/_375M5GdpCPGJ
https://dl.doubtnut.com/l/_CVFenX2QT73f
https://dl.doubtnut.com/l/_3vXcFq17byTJ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H4 + HCl

C3H6 + Br2

C3H6 + HBr

C3H8 + Cl2

55. The addition of  to ( E)-but-2-ene gives

A. (R,R)-2-3-dibromobutane

B. ( S,S)-2,3- dibromobutane

C. (R,S)-2,3- dibromobutane

D. A mixture of (R,R) and (S,S-2,3)- dibromobutane

Answer: C

Watch Video Solution

Br2

https://dl.doubtnut.com/l/_3vXcFq17byTJ
https://dl.doubtnut.com/l/_221I31gZrGsL


56. An alkene on reductive ozonolysis gives two molecules of

. The alkene is:

A. 2,4-hexadiene

B. 1,3-cyclohexadiene

C. 1,4-cyclohexadiene

D. 1-methyl-1, 3-cyclopentadiene

Answer: C

Watch Video Solution

CH2(CHO)2

57. 

https://dl.doubtnut.com/l/_221I31gZrGsL
https://dl.doubtnut.com/l/_fqxcB6qNRVWx
https://dl.doubtnut.com/l/_J3jRqJAIefZY


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

58. The alkene that will give the same product with HBr in the presence as

well as in the presence of peroxide is

A. 2-butene

B. 1-butene

C. Propene

D. 1-hexene

https://dl.doubtnut.com/l/_J3jRqJAIefZY
https://dl.doubtnut.com/l/_HviV88N46ki1


Answer: A

Watch Video Solution

59. One mole of a symmetrical alkene on ozonolysis gives two moles of an

aldehyde having a molecular mass of 44u. The alkene is:

A. Ethene

B. Propene

C. 1-butene

D. 2-butene

Answer: D

Watch Video Solution

60. One mole of propanone and one mole of formaldehyde are the

products of ozonolysis of one mole of an alkene. The alkene may be

https://dl.doubtnut.com/l/_HviV88N46ki1
https://dl.doubtnut.com/l/_Qz7AT1VrCj6e
https://dl.doubtnut.com/l/_cyIzoSSHfwjx


A. 2-methylpropene

B. 2,2-dimethyl-1-butene

C. Propene

D. 2-butene

Answer: A

Watch Video Solution

61. When HBr adds on hex-1-ene in the presence of benzoyl peroxide, the

product is

A. 2-bromohexane

B. 2,3-dibromohexane

C. 1.2-dibromohexane

D. 1-bromohexane

Answer: D

https://dl.doubtnut.com/l/_cyIzoSSHfwjx
https://dl.doubtnut.com/l/_aciwVONh9dX3


Watch Video Solution

62. Ethylene reacts with ozone gas to form the compound

A. HCHO

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5OH

CH3CHO

63. Which of the following gives on ozonolysis both aldehydes and

ketones?

A. 

B. 

Me2C = CHMe

Me2C = CMe2

https://dl.doubtnut.com/l/_aciwVONh9dX3
https://dl.doubtnut.com/l/_dCCjSQWUlsqN
https://dl.doubtnut.com/l/_ih2Zhjg0CGPC


C. 

D. 

Answer: A

Watch Video Solution

MeCH2 − C(Me) = CMe2

MeCH(Me) − CH − CHMe

64. The compounds that will give an isomer of 2, 2-dimethyl propane on

catalytic hydrogenation are 

(1)  


(2)  

(3)  


(4)

A. 1 and 4

B. 2 and 4

C. 1 and 3

D. 1 and 2

CH3CH = C
∣

CH3

− CH3

CH3CH = CHCH3

CH3CH = CHCH3

CH3 C
∣

CH3

= C
∣

CH3

− CH3

https://dl.doubtnut.com/l/_ih2Zhjg0CGPC
https://dl.doubtnut.com/l/_z0Cg8eCGhv2T


Answer: C

Watch Video Solution

65. 2-chlorobutane is heated with alcoholic NaOH, the product formed in

larger amount is

A. 1-butene

B. 1-butyne

C. 2-butene

D. All of these

Answer: C

Watch Video Solution

66. In the following reactions, 

 
RCH2CH = CH2 + (ICl) → (A)

https://dl.doubtnut.com/l/_z0Cg8eCGhv2T
https://dl.doubtnut.com/l/_PennsBksyAGF
https://dl.doubtnut.com/l/_C4qSIfBnsb7x


Markownikoff's product (A) is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RCH2C
∣
Cl

H − CH2I

RCH2 − C
∣
I

H − CH2Cl

RCH − C
∣
I

H = CH2

RCH = CH − CH2I

67. The order of reactivity of alkenes ,

when subjected to

acid catalyzed hydration is

A. 

B. 

C. 

(CH3)2C
(I)

= CH2, CH3CH
(II)

= CH2, CH2 = CH2
(III)

I > II > III

I > III > II

III > II > I

https://dl.doubtnut.com/l/_C4qSIfBnsb7x
https://dl.doubtnut.com/l/_IGC9nqql2hrf


D. 

Answer: A

Watch Video Solution

II > I > III

68. The product of following reaction is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH = CH2

( i )Hg (OAc ) 2 ,H2O

−−−−−−−−−−−−→
( ii )NaBH4

CH3 −

CH2

∣

C
∣

CH3

− C
∣
OH

H − CH2

CH3 −

CH3

∣

C
∣

CH3

− CH2 − CH2OH

CH3 −

OH

∣

C
∣

CH3

−

CH3

∣

C H − CH3

HOCH2 −

CH3

∣

C
∣

CH3

− CH2 − CH3

https://dl.doubtnut.com/l/_IGC9nqql2hrf
https://dl.doubtnut.com/l/_LRsb0HkA1FOt


69. Conjugated double bond is present in:

A. Propylene

B. Butadiene

C. Isobutylene

D. Butylene

Answer: B

Watch Video Solution

70. Ethene gives with acidic  solution

A. Ethylene glycol

B. Ethylene oxide

C. Formaldehyde

KMnO4

https://dl.doubtnut.com/l/_LRsb0HkA1FOt
https://dl.doubtnut.com/l/_Hnvx08IHtkYn
https://dl.doubtnut.com/l/_Xig0Pczlcct6


D. Acetaldehyde

Answer: C

Watch Video Solution

71. In the reaction 

X is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CH3CH = CH2 + H2O + [O]
KMnO4

−−−−→
Acid

CH3 − C
∣
OH

H − C
∣
OH

H2

[O]
−−→ X + HCO

CH3CH2COOH

CH3COOH

CH3CH2CHO

CH3CH2OH

https://dl.doubtnut.com/l/_Xig0Pczlcct6
https://dl.doubtnut.com/l/_Uigv7fQdNRHk
https://dl.doubtnut.com/l/_5d4qCOIPotyz


72. Which doesn't follow Markovnikov's rule

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH = CH2

CH3CH = CHCH3

CH3 − C
∣

CH3

H − CH = CH2

CH3 − CH2 − CH = CH2

73. The ozonolysis of  produces

A. 

B. 

C. 

D. 

> C = C <

> C = O + O = C <

> C = O = O

https://dl.doubtnut.com/l/_5d4qCOIPotyz
https://dl.doubtnut.com/l/_1xqT8WpIxqJ9


Answer: A

Watch Video Solution

74. How many gm of bromine will react with 21 gm 

A. 80

B. 160

C. 240

D. 320

Answer: A

Watch Video Solution

C3H6

75. The order of increasing reactivity towards HCI of the following

compounds will be 

(1)  
CH2 = CH2

https://dl.doubtnut.com/l/_1xqT8WpIxqJ9
https://dl.doubtnut.com/l/_lK64A43aRhzY
https://dl.doubtnut.com/l/_XP0Yu9PlpROw


(2)  


(3)

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(CH3)2C = CH2

CH3CH = CHCH3

1 < 2 < 3

1 < 3 < 2

3 < 2 < 1

2 < 1 < 3

76. Bond length between carbon-carbon in ethylene molecule is

A. 1.54 Å

B. 1.35 Å

C. 1.19 Å

D. 2.4 Å

https://dl.doubtnut.com/l/_XP0Yu9PlpROw
https://dl.doubtnut.com/l/_IdZaPEixGlzl


Answer: B

Watch Video Solution

77. Which of the following alkenes gives only acetic acid on oxidation with

potassium permanganate solution

A. Ethylene

B. 1-butene

C. Propene

D. 2-butene

Answer: C

Watch Video Solution

78. Which of the following reactions can be used for the synthesis of an

alkene

https://dl.doubtnut.com/l/_IdZaPEixGlzl
https://dl.doubtnut.com/l/_soEVmLDquCzL
https://dl.doubtnut.com/l/_a2H14FPixi8N


A. Chugaev reaction

B. Dakin reaction

C. Reimer-Tiemann reaction

D. Wurtz-Fittig reaction

Answer: A

View Text Solution

79. Towards electrophilic reagents

A. Ethene is more reactive than ethyne

B. Ethene is less reactive than ethyne

C. Both have equal reactivity

D. The reactivity of both cannot be predicted

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_a2H14FPixi8N
https://dl.doubtnut.com/l/_0ITWIjrW9tWg


80. In the following reaction Prouduct . The

Product is

A. Mustard gas

B. Lewisite

C. Polythene

D. Teflon

Answer: A

Watch Video Solution

2CH2 = CH2 + S2Cl2 →

81. The which is not used as gaseous fuel :

A. Gasoline

B. Acetylene

C. Carbon monoxide

https://dl.doubtnut.com/l/_0ITWIjrW9tWg
https://dl.doubtnut.com/l/_hp0tyVXfYrAh
https://dl.doubtnut.com/l/_b4VCs5ZuXRCY


D. Methane

Answer: A

Watch Video Solution

82. A hydrocarbon containing 2 carbon atoms gives Sabatier and

Senderens reaction but does not give precipitate with ammoniacal silver

nitrate solution. The hydrocarbon in the question is

A. Ethane

B. Acetylene

C. Ethylene

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_b4VCs5ZuXRCY
https://dl.doubtnut.com/l/_056E5g7DtjPg
https://dl.doubtnut.com/l/_HSpYfZsVwOEn


83. Ethene when treated with  in the presence of  which

compund is formed

A. 1,2-dibromoethane

B. 1-bromo-2-chloroethane

C. Both (a) and (b)

D. 1,1,1-tribromoethane

Answer: A

Watch Video Solution

Br2 CCl4

84. Alkene can be prepared from alkyl halide by the following reagent

 Alkene + NuH

A. Alc. KOH heat

B. Aq. KOH + cold water

C. NaOH

R − X + Nu− →

https://dl.doubtnut.com/l/_HSpYfZsVwOEn
https://dl.doubtnut.com/l/_yjPEPQadhz1o


D. LiOH

Answer: A

Watch Video Solution

85. Position of double bond in an organic compound is determined by

A. Ozonolysis

B. Oxidation

C. Reduction

D. Hydrogenation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yjPEPQadhz1o
https://dl.doubtnut.com/l/_9xn8Kxb3fuAh


86. The test for unsaturation is confirmed by the decolourisation of which

of the following

A. iodine water

B.  solution

C. Bromine water

D. All of these

Answer: C

Watch Video Solution

CuSO4

87. 1-Butene may be converted to butane by reaction with :

A. Zn-HCl

B. Sn-HCl

C. Zn-Hg

D. Pb/H2

https://dl.doubtnut.com/l/_8q33BRuEF7Fa
https://dl.doubtnut.com/l/_yBVemF7dnYne


Answer: D

Watch Video Solution

88. Reaction of one molecule of HBr with one molecule of 1,3-butadiene at

C gives predominantly.

A. 3-bromobutane under kinetically controlled conditions

B. 1-bromo-2-butene under thermodynamically controlled conditions

C. 3-bromobutane under thermodynamically controlled conditions

D. 1-bromo-2-butene under kinetically controlled conditions

Answer: B

Watch Video Solution

40∘

89. In the following sequence of reactions, the alkene affords the

compound ‘B’ 

https://dl.doubtnut.com/l/_yBVemF7dnYne
https://dl.doubtnut.com/l/_ZHO8bUOnGaNW
https://dl.doubtnut.com/l/_MQC963Y1n9cB


 

The compound B is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2CH = CHCH2CH3

O2

−−→ A
H2O
−−→
Zn

B

CH3COCH3

CH3CH2COCH3

CH3CHO

CH3CH2CHO

90. Hydroboration oxidation of 4-methyl octene would give

A. 4 methyloctanol

B. 2-methyldecane

C. 4-methylheptanol

D. 4-methyl-2-octanone

https://dl.doubtnut.com/l/_MQC963Y1n9cB
https://dl.doubtnut.com/l/_jb2bZeHotIBt


Answer: A

Watch Video Solution

91. Markownikoff rule provides guidance of addition of HBr

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2 = CH2

CH3 − CH2 − CH3

CH3CH = CHCH3

CH2 = CHBr

92. Which decolourize aqueous bromine and gives white fumes of HCl on

reaction with PCl5

https://dl.doubtnut.com/l/_jb2bZeHotIBt
https://dl.doubtnut.com/l/_9DaLSVDenDwa
https://dl.doubtnut.com/l/_d1GVkQjY0pKC


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3COCH2CH = CH2

CH3CH2CH2CH2CH3

CH3CH = CHCH2CH2OH

CH3OCH2CH2CH2CH2OH

93.  reacts with propanone, to give

A. Vie dichloride

B. Propanal

C. Propane-chloride

D. Gem-dichloride

Answer: D

Watch Video Solution

PCI5

https://dl.doubtnut.com/l/_d1GVkQjY0pKC
https://dl.doubtnut.com/l/_uMbxG1iDTFAs


94. In the following reaction, A and B respectively. 

are, 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A
HBr
−−→ C2H5Br

B
−−→ A

C2H4, alc. KOH /Δ

C2H5Cl, aqKOH /Δ

CH3OH, aq. KOH /Δ

C2H2, PBr3

95. When bromobutane reacts with alcoholic  the reaction is

called

A. Halogenation

B. Hydrogenation

2 − KOH,

https://dl.doubtnut.com/l/_uMbxG1iDTFAs
https://dl.doubtnut.com/l/_NClZM8DBR1DQ
https://dl.doubtnut.com/l/_wsWafsVIftjk


C. Chlorination

D. Dehydro-halogenation

Answer: D

Watch Video Solution

96. The additon of HBr to 2-pentene gives

A. 2-bromopentane only

B. 3-bromopentane only

C. 2-bromopentane and 3-bromopentane

D. 1-bromopentane and 3-bromopentane

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wsWafsVIftjk
https://dl.doubtnut.com/l/_Qx2SAxjteIsB


97. An alkyne combines with a conjugated diene to give an unconjugated

cycloalkadiene. The most likely title of this reaction is

A. Schotten-Baumann reaction

B. Hofmann-Bromasmide reaction

C. Pinacol- Pinacolone rearrangement

D. Diels-Alder reaction

Answer: D

Watch Video Solution

98. An alkene gives two moles of , one mole of  and one mole

of  on ozonolysis. The structure of alkene is

A. 

B. 

HCHO CO2

CH3COCHO

CH2 = C = CH − CH2 − CH3

CH2 = CH −

CH3

∣

C H − CH = CH3

https://dl.doubtnut.com/l/_jxAevzCSuj96
https://dl.doubtnut.com/l/_PIyJWakutEqM


C. 

D. 

Answer: D

Watch Video Solution

CH2 = C = C
∣

CH3

− CH3

CH2 = C =

CH3

∣

C − CH = CH2

99. Cyclohexene on reaction with  followed by reaction with 

 gives:

A. Cis-diol

B. Trans-diol

C. Epoxy

D. Alcohol

Answer: A

Watch Video Solution

OsO4

NaHSO3

https://dl.doubtnut.com/l/_PIyJWakutEqM
https://dl.doubtnut.com/l/_idfdgzrD5WCG


100. Ethylene has high b.p. and high vapour pressure at  and does

not dissolve in water. Hence ethylene is separated by this method

A. Simple distillation

B. Vacuum distillation

C. Vapour distillation

D. Alkali treatment

Answer: C

Watch Video Solution

100∘C

101. Ethylene is converted to X on passing through a mixture of acidified

aqueous solution of palladium chloride and cupric chloride. Which of the

following reagents readily takes part addition reaction with X

A. 

B. HBr

Br2

https://dl.doubtnut.com/l/_CvF7vOaJHRsm
https://dl.doubtnut.com/l/_YFBZQr4TOjX0


C. HCl

D. HCN

Answer: D

Watch Video Solution

102. Addition of HCl does not obey anti-Markovnikov's rule because

A. It is a strong acid

B. It is a gas

C. Its bond energy is high

D. Its bond energy is less

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YFBZQr4TOjX0
https://dl.doubtnut.com/l/_L1IveNZg3JMW


103. Correct statement about 1.3-dibutene:

A. Conjugated double bonds are present

B. Reacts with HBr

C. Forms polymer

D. All of these

Answer: D

Watch Video Solution

104. Which of the following compounds represents acrylonitrile

A. Vinyl cyanide

B. Cyanoethene

C. Prop-2-ene nitrile

D. All of them

https://dl.doubtnut.com/l/_3qCjyCA9Zupv
https://dl.doubtnut.com/l/_9DNrCuMXY5Vo


Answer: D

Watch Video Solution

105. A hgydrocarbon X adds on one mole of hydrogen to gives another

hydrocarbon and also decolourises bromine water.X reacts with 

in presenece of acid to give two moles of the same carboxylic acid.The

structure of X is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KMnO4

CH2 = CH − CH2CH2CH3

CH3CH2CH2 − CH = CHCH3

CH3CH2CH = CHCH2CH3

CH3CH = CHCH2CH2CH3

https://dl.doubtnut.com/l/_9DNrCuMXY5Vo
https://dl.doubtnut.com/l/_36nqEjtj6lGI


106. The most reactive hydrocarbon is

A. Ethane

B. Ethyne

C. Ethene

D. Methane

Answer: C

Watch Video Solution

107. Which one is an unsaturated compound

A. 

B. 

C. 

D. 

C6H14

C4H8

C3H7OH

CH3OH

https://dl.doubtnut.com/l/_x23jivwXGkYc
https://dl.doubtnut.com/l/_MZNtRcKVUipk


Answer: B

Watch Video Solution

108. An alkene, on ozonolysis gives formaldehyde and acetaldehyde. The

alkene is 

A. Ethene

B. Propene

C. 1-butene

D. 2-butene

Answer: B

Watch Video Solution

:

109.  is oxidized to  usingCH3CHO = CHCHO CH3CH = CHCOOH

https://dl.doubtnut.com/l/_MZNtRcKVUipk
https://dl.doubtnut.com/l/_zDtupDUzDijx
https://dl.doubtnut.com/l/_VHGAiZKMwWSF


A. Alkaline potassium permanganate

B. Acidified potassium permanganate

C. Selenium dioxide

D. Osmium tetroxide

Answer: B

Watch Video Solution

110. Which of the following hydrocarbons cannot be obtained Sabatier

and Senderens reaction

A. 

B. 

C. 

D. All

Answer: A

CH4

C2H6

C3H8

https://dl.doubtnut.com/l/_VHGAiZKMwWSF
https://dl.doubtnut.com/l/_g6NPQL8UrACX


Watch Video Solution

111. Which one of the following characteristics apply to both ethene and

ethyne

A. Explode when mixed with chlorine

B. Decolourise Baeyer's reagent giving brown precipitate

C. Rapidly absorbed by cold conc 

D. Form white precipitate with silver nitrate solution

Answer: B

Watch Video Solution

H2SO4

112. A mixture of chloropropane and chloropropane when

treated with alcoholic , it gives

A. 1-propene

1 − 2 −

KOH

https://dl.doubtnut.com/l/_g6NPQL8UrACX
https://dl.doubtnut.com/l/_BsyekqA6rUSy
https://dl.doubtnut.com/l/_4Lu5Yzn6Awb3


B. 2-propene

C. Isopropyl

D. All the three

Answer: A

Watch Video Solution

113. When ethene is heated at  C Under high pressure, the product is

are

A. Carbon and 

B. Polyethylene

C. Acetylene and 

D. None of these

Answer: B

Watch Video Solution

400∘

H2

H2

https://dl.doubtnut.com/l/_4Lu5Yzn6Awb3
https://dl.doubtnut.com/l/_AzucnWHjU0mz


114. Paraffins are soluble in

A. Distilled water

B. Benzene

C. Methanol

D. Sea water

Answer: B

Watch Video Solution

115. The compound most likely to decolourize a solution of potassium

permanganate is

A. 

B. 

CH3CH3

https://dl.doubtnut.com/l/_AzucnWHjU0mz
https://dl.doubtnut.com/l/_71t3mNYxPwUQ
https://dl.doubtnut.com/l/_fX1hvAUb0nYH


C. 

D. 

Answer: C

Watch Video Solution

CH3CH = CHCH2CH3

CH3 −

CH3

∣

C
∣

CH3

− CH3

116. Reaction of  on ethylene in presence of NaCl gives

A. 

B. 

C. Both (a) and (b)

D. None of these

Answer: C

Watch Video Solution

Br2

BrCH2 − CH2Br

ClCH2 − CH2Br

https://dl.doubtnut.com/l/_fX1hvAUb0nYH
https://dl.doubtnut.com/l/_v7zaysKxvVKo


117. The final product formed by the ozonolysis of compound

 is

A. RCHO

B. 

C. Both (a) and (b)

D. None of these

Answer: C

Watch Video Solution

RCH = CR2

R2CO

118. The compound B formed in the following sequences of reactions is

A. Propyne

B. Propene

C. Propanol

CH3CH2CH2OH
PCl3
−−→ A

alco.KOH
−−−−−→ B

https://dl.doubtnut.com/l/_J22CP9KEGjyO
https://dl.doubtnut.com/l/_NtuyGhsQfwHH


D. Propane

Answer: B

Watch Video Solution

119. Deviation from Markovnikov's rule occurs in presence of

A. Zinc

B. Peroxides

C. Hg-Zn/HCl

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NtuyGhsQfwHH
https://dl.doubtnut.com/l/_c0Z1TL2uuWHP


120. On passing vapours of an organic liquid over finely divided Cu at

573K the product was an alkene. This reaction is

A. Catalytic oxidation of primary alcohol

B. Catalytic dehydrogenation of secondary alcohol

C. Catalytic dehydrogenation of tertiary alcohol

D. Catalytic dehydration of tertiary alcohol

Answer: D

Watch Video Solution

121. The total number of sigma ( ) and pi ( ) bonds in an ethylene

molecule are

A. 

B. 

C. 

σ π

4σ, 2π

4σ, 1π

5σ, 2π

https://dl.doubtnut.com/l/_5r4UFjeJbvy5
https://dl.doubtnut.com/l/_K0UqwwTAaPwt


D. 

Answer: D

Watch Video Solution

5σ, 1π

122. Which of the following aliphatic compounds will discharge red colour

of bromine

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

C2H4

C3H6

C4H8

https://dl.doubtnut.com/l/_K0UqwwTAaPwt
https://dl.doubtnut.com/l/_cTZGaP7dpR8H


123. Which of the following is the most stable

A. 1-butene

B. 2-butene

C. 1-pentene

D. 2-pentene

Answer: D

Watch Video Solution

124. In the reaction with HCl, an alkene reacts in accordance with

Markownikoff's rule to give a product 1-chloro-1-methylcyclohexane. The

possible alkene is:

A. 

https://dl.doubtnut.com/l/_MpWnnKyll5Jk
https://dl.doubtnut.com/l/_eaNoA6HsKLPO


B. 

C. (a) and (b)

D. 

Answer: C

Watch Video Solution

125. Dimethyl butene can be prepared by heating which of

the following compounds with a strong acid ?

A. 

B. 

C. 

D. 

2, 3 − −2 −

(CH3)2CH − C
∣

CH3

H − CH = CH2

(CH3)3C − CH = CH2

(CH3)2C = CH − CH2 − CH3

(CH3)2CH − CH2 − CH = CH2

https://dl.doubtnut.com/l/_eaNoA6HsKLPO
https://dl.doubtnut.com/l/_3uypi6FckchV


Answer: B

Watch Video Solution

126. A single compound of the structure

 is obtainable

from ozonolysis of which of the following cyclic
compounds

A. 

B. 

https://dl.doubtnut.com/l/_3uypi6FckchV
https://dl.doubtnut.com/l/_TnenZjKIgsSJ


C. 

D. 

Answer: D

Watch Video Solution

127. For the following reactions 

(A)  

 


Which of the following statements is correct

CH3CH2CH2Br + KOH → CH3CH = CH2 + KBr + H2O

https://dl.doubtnut.com/l/_TnenZjKIgsSJ
https://dl.doubtnut.com/l/_ab4ZuVBl8wwH


A. (A) and (B) are elimination reaction and (C ) is addition reaction

B. (A) is elimination , (B) is substitution and (C ) is addition reaction

C. (A) is elimination , (B) and (C )are substitution reactions

D. (A) is substitution , (B) and (C ) are addition reacton

Answer: B

Watch Video Solution

128. Which of the following compounds shall not produce propene by

reaction with HBr followed by elimination or direct only elimination

reaction?

A. 

B. 

C. 

D. 

H3C −
H2

C − CH2Br

H3C −
H2

C − CH2OH

H2C = C = O

https://dl.doubtnut.com/l/_ab4ZuVBl8wwH
https://dl.doubtnut.com/l/_OamS3wTlSa1E


Answer: D

Watch Video Solution

129. Predict the correct intermediate and product in the following

reaction. 

 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3C − C ≡ CH
H2O ,H2SO4

−−−−−−→
HgSO4

Intermediate
(A )

→ Product
(B )

A :H3C − C
∣
OH

= CH2    B :H3C − C
∣

SO4

= CH2

A :H3C − C
∣ ∣
O

= CH3    B :H3C − C ≡ CH

A :H3C − C
∣
OH

= CH2    B :H3C − C
∣ ∣
O

− CH3

A :H3C − C
∣

SO4

= CH2    B :H3C − C
∣ ∣
O

= CH3

https://dl.doubtnut.com/l/_OamS3wTlSa1E
https://dl.doubtnut.com/l/_F8Hl9Qps9xm8


ORDINARY THINKING (Objective question) (ALKYNE)

1. Carbon-carbon bond length is minimum in

A. Ethane

B. Ethene

C. Ethyne

D. Benzene

Answer: C

Watch Video Solution

2. Acetylenic hydrocarbons are acidic because

A. Sima electron density of C-H Bond in acetylene is nearer to carbon,

which has 50% s character

B. Acetylene has only one hydrogen on each carbon

https://dl.doubtnut.com/l/_ur34alvyUgl4
https://dl.doubtnut.com/l/_b8ExehoBULoJ


C. Acetylene contains least number of hydrogen among the possible

hydrocarbons having two carbons

D. Acetylene belongs to the class of alkynes with molecular formula

Answer: A

Watch Video Solution

CnH2n− 2

3. Which is the most suitable reagent among the following to distinguish

compound (iii) from the rest of the compounds 

i.  


ii.  


iii.  


iv. 

A. Bromine in carbon tetrachloride

B. Bromine in acetic acid

CH3 − C ≡ C − CH3

CH3 − CH2 − CH2 − CH3

CH3 − CH2 − C ≡ CH

CH3 − CH = CH2

https://dl.doubtnut.com/l/_b8ExehoBULoJ
https://dl.doubtnut.com/l/_RrxwO5oGtJQ7


C. Alkaline 

D. Ammoniacal silver nitrate reagent

Answer: D

Watch Video Solution

KMnO4

4.  


The reagent is

A. Na

B. HCl and 

C. KOH in 

D. Zn

Answer: C

Watch Video Solution

R − CH2 − CCl2 − R
Reagent

−−−−→ R − C ≡ C − R

H2O

C2H5OH

https://dl.doubtnut.com/l/_RrxwO5oGtJQ7
https://dl.doubtnut.com/l/_N5mbh6TXX4q1
https://dl.doubtnut.com/l/_J3mlWF8SAPDL


5. When treated with ammoniacal cuprous chloride, which one among the

following forms copper derivative

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H6

C2H4

C2H2

C6H6

6. Calcium carbide on reacting with water gives

A. Methane

B. Ethane

C. Ethene

D. Acetylene

https://dl.doubtnut.com/l/_J3mlWF8SAPDL
https://dl.doubtnut.com/l/_2DEgyZXllKOI


Answer: D

Watch Video Solution

7. The bond length between  hybridised carbon atom and other

carbon atom is minimum in

A. Propane

B. Butane

C. Propene

D. Propyne

Answer: D

Watch Video Solution

sp3

8. The triple bond in ethyne is made of

https://dl.doubtnut.com/l/_2DEgyZXllKOI
https://dl.doubtnut.com/l/_hpN1Y0TVBsXM
https://dl.doubtnut.com/l/_YHZBl28yoCEZ


A. Three -bonds

B. Three -bonds

C. Two  and one -bond

D. Two  and one  -bond

Answer: D

Watch Video Solution

σ

π

σ π

π σ

9. The cylindrical shape of alkynes is due to

A. Three -bonds

B. Three -bonds

C. Two  and one -bond

D. Two  and one  -bond

Answer: D

Watch Video Solution

σ

π

σ π

π σ

https://dl.doubtnut.com/l/_YHZBl28yoCEZ
https://dl.doubtnut.com/l/_xF7TREzW50RC


10. Identify the product D in the following series of reaction 

A. Methane

B. Alcohol

C. Acetylene

D. Benzaldehyde

Answer: C

Watch Video Solution

CH3COOH
LiAIH4

−−−−→ A
H +

−−→
443 K

B
Br2

−−→ C
alc.

−−→
KOH

D

11. The products of the following reactions 

 are

A. 

B. 

CH3C ≡ CCH2CH3

O3

−−−−→
oxidation

CH3CHO + CH3CH2CHO

CH3COOH + CH3CH2CHO

https://dl.doubtnut.com/l/_xF7TREzW50RC
https://dl.doubtnut.com/l/_wvkxRiiDYN8l
https://dl.doubtnut.com/l/_944spWOtTFzo


C. 

D. 

Answer: C

Watch Video Solution

CH3COOH + HOOCCH2CH3

CH3COOH + CO2

12. Predict the product C obtained in the following reaction of butyne-1. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2C ≡ CH + HCl → B
HI

−−→ C

CH3 − C
∣
Cl

H − CH2CH2I

CH3 − CH2 − CH2 −

I

∣

C
∣
Cl

− H

CH3 − CH2 −

I

∣

CH − CH2Cl

CH3CH2 −

I

∣

C
∣
Cl

− CH3

https://dl.doubtnut.com/l/_944spWOtTFzo
https://dl.doubtnut.com/l/_GonnU1xraFh1


13. Which of the following reagents will be able to distinguish between

butyne and butyne ?

A. 

B. HCl

C. 

D. 

Answer: A

Watch Video Solution

1 − 2 −

NaNH2

O2

Br2

14. Which of the following organic compounds has same hybridization as

its combustion product ?

A. Ethene

B. Ethanol

(CO2)

https://dl.doubtnut.com/l/_GonnU1xraFh1
https://dl.doubtnut.com/l/_Sr1PWSF0rTlX
https://dl.doubtnut.com/l/_BjX8KvFr5nYR


C. Ethane

D. Ethyne

Answer: D

Watch Video Solution

15. Hydrocarbon contianing following bond is most reactive

A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

C ≡ C

C = C

C − C

https://dl.doubtnut.com/l/_BjX8KvFr5nYR
https://dl.doubtnut.com/l/_g1dEQF3TBC93


16. What happens when a mixture of acetylene and hydrogen is passed

over heated Lindlar's catalyst

A. Ethane and water are formed

B. Ethylene is formed

C. Acetylene and ethane are formed

D. None of these

Answer: B

Watch Video Solution

17.  . Y is

A. 

B. 

C. 

CH ≡ CH
O3 /NaOH

−−−−−−→ X
Zn/CH3COOH

−−−−−−−−−→ Y

CH2OH

∣
CH2OH

CH3CH2OH

CH3COOH

https://dl.doubtnut.com/l/_XdD9MMOmTxWW
https://dl.doubtnut.com/l/_F4zM6RC9vJ7b


D. 

Answer: A

Watch Video Solution

CH3OH

18. 1-Butyne reacts with cold alkaline  to produce

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KMnO4

CH3CH2COOH

CH3CH2CH2COOH

CH3CH2COOH + CO2

CH3CH2COOH + HCOOH

https://dl.doubtnut.com/l/_F4zM6RC9vJ7b
https://dl.doubtnut.com/l/_kEWTTjoqoGrI


19. Which of the following reacts with sodium with the elimination of

hydrogen

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4

C2H6

C2H4

C2H2

20. Acetylene is obtained by the electrolysis of

A. Sodium succinate

B. Potassium fumarate

C. Both (a) and (b)

D. None of these

https://dl.doubtnut.com/l/_dCMedAnkE7jk
https://dl.doubtnut.com/l/_ZjM7XaHQ2L37


Answer: B

Watch Video Solution

21. The product formed when acetylene is passed through red hot tube is

A. Benzene

B. Cyclohexane

C. Neoprene

D. Ethane

Answer: A

Watch Video Solution

22. Which of the following is an electrophile

A. H2O

https://dl.doubtnut.com/l/_ZjM7XaHQ2L37
https://dl.doubtnut.com/l/_ZgGhCw1AcGky
https://dl.doubtnut.com/l/_sTPR26JBah6t


B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

AlCl3

C2H5NH2

23.  reacts with acetic acid in the presence of  ions to

give

A. 

B. 

C. 

D. None of these

Answer: A

HC ≡ CH Hg2g+

CH3

∣

C H(CH3COO)2

CH(CH3COO)2

∣

CH(CH3COO)2
CH3

∣

C H2(CH3COO)

https://dl.doubtnut.com/l/_sTPR26JBah6t
https://dl.doubtnut.com/l/_k4rCNGCjtG8A


Watch Video Solution

24. Simplest alkyne is represented by

A. CH

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH2

C2H2

C2H4

25. On cracking petrol, we get

A. 

B. 

C. Both (a) and (b)

CH4

C3H6

https://dl.doubtnut.com/l/_k4rCNGCjtG8A
https://dl.doubtnut.com/l/_YEgqB5HRCSCF
https://dl.doubtnut.com/l/_LMQeH37Srf7w


D. +alcohols

Answer: C

Watch Video Solution

CH3 + CH4 + C2H6

26. Acetylene reacts with ammonical silver nitrate to form

A. Silver acetylene

B. Silver acetate

C. Metal silver

D. Silver mirror

Answer: A

Watch Video Solution

27. Acetylene gives

https://dl.doubtnut.com/l/_LMQeH37Srf7w
https://dl.doubtnut.com/l/_KKagwXGyqrVO
https://dl.doubtnut.com/l/_Y8i6xSFR2lJj


A. White precipitate with  and red precipitate with 

B. White precipitate with  and red precipitate with 

C. White precipitate with both the reagents

D. Red precipitate with both the reagents

Answer: A

Watch Video Solution

AgNO3 Cu2Cl

Cu2Cl2 AgNO3

28. Acetylene is prepared industrially by passing electric discharge

through graphite electrodes in the atmosphere of

A. Air

B. 

C. 

D. 

Answer: C

N2

H2

CO2

https://dl.doubtnut.com/l/_Y8i6xSFR2lJj
https://dl.doubtnut.com/l/_kKKS1sIS7K0L


Watch Video Solution

29. Acetylene can be prepared from

A. Potassium fumarate

B. Calcuim carbide

C. Ethylene bromide

D. All of these

Answer: D

Watch Video Solution

30. A mixture of ethane, ethene and ethyne is passed through

ammoniacal  solution. The gases which contain unreacted are

A. Ethane and ethene

B. Ethane and ethyne

AgNO3

https://dl.doubtnut.com/l/_kKKS1sIS7K0L
https://dl.doubtnut.com/l/_W4XXE4wbx3HE
https://dl.doubtnut.com/l/_bl1SGkccE3xR


C. Ethene and ethyne

D. Ethane only

Answer: A

Watch Video Solution

31. Which of the following gases is used for the welding

A. Methane

B. Ethane

C. Acetylene

D. Ethene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bl1SGkccE3xR
https://dl.doubtnut.com/l/_c3VgsQLBEl59


32. Distinction in pentene-1 and pentyne-1 is done by

A. 

B. Conc. 

C. HCl

D. 

Answer: A

Watch Video Solution

[Ag(NH3)2]
+

H2SO4

Br2

33. The poisonous gas that comes out with petrol burning in a car is

A. 

B. 

C. 

D. CO

CH4

C2H6

CO2

https://dl.doubtnut.com/l/_WLF5g3IvXNDG
https://dl.doubtnut.com/l/_aVgZ0FLCKCKP


Answer: D

Watch Video Solution

34. propyne on polymerisation gives

A. Mesitylene

B. Benzene

C. Ethyl benzene

D. propyl benzene

Answer: A

Watch Video Solution

35. Which of the following catalyst is used in the polymerisation of

 to CH ≡ CH C6H6

https://dl.doubtnut.com/l/_aVgZ0FLCKCKP
https://dl.doubtnut.com/l/_uWzRqxpOtLnL
https://dl.doubtnut.com/l/_MCjtaWvNXN8c


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AlCl3

HgSO4

NbCl3

HCl

36.  will oxidised acetylene to

A. Ethylene glycol

B. Ethyl alcohol

C. Oxalic acid

D. Acetic acid

Answer: C

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_MCjtaWvNXN8c
https://dl.doubtnut.com/l/_9uRXmcwFWglZ


37. Cetane is a compound which has very good ignition property.

Chemically it is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

CH3(CH2)14CH3

(CH3)3C(CH2)11CH3

C17H34

38. Which of the following will be the final product when  reacts

with HCl

A. 

B. 

C2H2

CH

∣∣
CHCl

CH3

∣
CHCl2

https://dl.doubtnut.com/l/_9uRXmcwFWglZ
https://dl.doubtnut.com/l/_Pcr503Ys86BP
https://dl.doubtnut.com/l/_phKCRf4bLfHc


C. 

D. None of these

Answer: B

Watch Video Solution

CHCl

∣ ∣
CHCl

39. Acetylene adds on to HCN give

A. Acetylene cyanide

B. Cyano acetylene

C. Vinyl ethene

D. Acrylonitrile

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_phKCRf4bLfHc
https://dl.doubtnut.com/l/_wdXdXNuQuu6R


40. When acetylene reacts with arsenic trichloride in the presence of

anhydous aluminium chloride, it produces

A. Lewisite

B. -Chlorovinyl dichloroarisine

C. Nitrobenzene

D. Both (a) and (b)

Answer: D

View Text Solution

β

41. The hybridisation state of carbon in fullerence is

A. sp

B. 

C. 

D. 

sp2

sp3

sp3d

https://dl.doubtnut.com/l/_HbmED7qFW1z5
https://dl.doubtnut.com/l/_VeKtrRRyqi8C


Answer: B

Watch Video Solution

42. What is the major product of the following reaction

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

CH3C ≡ C − CH2 − CH3

1 mole of Cl2
−−−−−−−→

CH3 − CH2 −

Cl

∣

C
∣
Cl

− CH2CH3

CH3 −

Cl

∣

C
∣
Cl

−

Cl

∣

C
∣
Cl

− CH2CH3

43. dibromoethane when heated with alcohilic potash gives1, 2 −

https://dl.doubtnut.com/l/_VeKtrRRyqi8C
https://dl.doubtnut.com/l/_M7H5i2IW30mB
https://dl.doubtnut.com/l/_pRnF4m89ajCI


A. Ethane

B. Acetylene

C. Ethylene

D. Methane

Answer: B

Watch Video Solution

44. Which among the following will give a precipitate with ammonical

silver nitrate

A. 2-butene

B. 2-butyne

C. Chlorobenzene

D. 3-methyl-1-butyne

Answer: D

https://dl.doubtnut.com/l/_pRnF4m89ajCI
https://dl.doubtnut.com/l/_OPbX2VtzZXJz


Watch Video Solution

45. Which will undergo reaction with ammonical 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

AgNO3

CH3 − CH = CH − C ≡ CH

CH3 − CH2 − CH = CH − CH2 − CH3

CH2 = CH − CH2 − CH3

46. Which compound will react with an aqueous solution of

A. 

B. 

Ag(NH3) +
2 OH −

CH2 = CH2

CH3 − CH2

https://dl.doubtnut.com/l/_OPbX2VtzZXJz
https://dl.doubtnut.com/l/_7EGRWapmyIJS
https://dl.doubtnut.com/l/_JmCe6WcsfiUi


C. 

D. 

Answer: C

Watch Video Solution

CH3CH2C ≡ CH

CH3 − C ≡ C − CH3

47. , In the above reaction the compound A is

A. Ethylene bromohydrin

B. 1,2-dibromo ethane

C. Ethanol

D. None of these

Answer: A

Watch Video Solution

CH2 = CH2

Br2 /H2O

−−−−−→ A

https://dl.doubtnut.com/l/_JmCe6WcsfiUi
https://dl.doubtnut.com/l/_pWCCF6njsMzI


48. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH ≡ CH
HgSO4

−−−→
H2SO4

CH3MgBr
−−−−−→

H2O

P /Br2

−−−→

CH3CH(Br)CH3

CH3CH2CH2Br

CH2 = CH − Br

BrCH = CH − CH3

49. The number of -bonds in the product formed by passing acetylene

through dilute sulphuric acid containing mercuric sulphate is

A. Zero

B. One

C. Two

π

https://dl.doubtnut.com/l/_Wj4DFhGAtWQY
https://dl.doubtnut.com/l/_L3VFR4rlCb5x


D. Three

Answer: B

Watch Video Solution

50. Which of the following compounds have more than one type of

hybridisation for carbon? 

(i)  


(ii)  


(iii)  


(iv) 

A. (ii) and (iii)

B. (ii)

C. (iii) and (iv)

D. (iv)

Answer: A

HC ≡ CH

CH2 = CH − C ≡ CH

CH3CH = CHCH3

CH3CH2CH2CH3

https://dl.doubtnut.com/l/_L3VFR4rlCb5x
https://dl.doubtnut.com/l/_e8y4eCPzRZK4


Watch Video Solution

51. The homologue of ethyne is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H4

C2H6

C3H8

C3H4

52. Identify the alkyne in the followin sequence of reactions 

 


A. 

Alkyne
H2

−−−−−−−−→
Lindlar catalyst

A
Ozonolysis
−−−−−→ B

Catalyst
Wacker
−−−→
Process

CH2 = CH2

H3C − C ≡ C − CH3

https://dl.doubtnut.com/l/_e8y4eCPzRZK4
https://dl.doubtnut.com/l/_IZAp4IbZAsgN
https://dl.doubtnut.com/l/_xSyaJK8FMiZ6


B. 

C. 

D. 

Answer: A

Watch Video Solution

H3C − CH2 − C ≡ CH

H2C = CH − C ≡ CH

HC ≡ C − CH2 − C ≡ CH

53. Which of the following reactions is shown by alkynes

A. Addition

B. Substitution

C. Polymerization

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xSyaJK8FMiZ6
https://dl.doubtnut.com/l/_T1dw6mQkUiqD
https://dl.doubtnut.com/l/_4ZEAmZfNb0Zk


54. Which one of the following on ozonolysis followed by oxidation will

give adipic acid

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4ZEAmZfNb0Zk


55. An organic compound reacts with  and also decolourise 

water is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu2Cl2 Br2

CH3 − C ≡ C − CH3

CH2 = CH − CH3

CH3 − C ≡ CH

CH3 − CH3

https://dl.doubtnut.com/l/_FgWLqUi8RqYg


56. In the following reaction ,

 the major

product obtained is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_YG04DjPjHMQX


D. 

Answer: C

Watch Video Solution

57. A hydrocarbon of formula , absorbs only one molecule of 

upon catalytic hydrogenation. Upon ozonolysis the hydrocarbons yeilds. 

 the compound is:

A. Cyclohexane

B. Benzene

C. Cyclohexene

D. Cyclobutane

Answer: C

Watch Video Solution

C6H10 H2

OHC − CH2 − CH2 − CH2 − CH2 − CHO

https://dl.doubtnut.com/l/_YG04DjPjHMQX
https://dl.doubtnut.com/l/_JVU1LONdvZMD


58. By coaltar distillation, which is not obtained

A. Light oil

B. Middle oil

C. Heavy oil

D. Mobil oil

Answer: D

Watch Video Solution

59. What is the end product of the following sequence of operations

A. Methyl alcohol

B. Acetaldehyde

C. 

CaC2

H2O
−−→ A

dil .H2SO4

−−−−−→
Hg++

B
Ni

−−→
H2

C

C2H5OH

https://dl.doubtnut.com/l/_cRdQLGDa7pac
https://dl.doubtnut.com/l/_7syTlBxpfSij


D. 

Answer: C

Watch Video Solution

C2H4

60. An unknown compound "A" has a molecular formula . When "A" is

treated with excess to  a new substance B with formula  is

formed. "A" forms a white precipitate with ammoniacal silver nitrate

solution "A" may

A. Butyne-1

B. Butyne-2

C. Butene-1

D. Butene-2

Answer: A

Watch Video Solution

C4H6

Br2 C4H6Br4

https://dl.doubtnut.com/l/_7syTlBxpfSij
https://dl.doubtnut.com/l/_dmL7E0JJpUUx


61. The compound  has a triple bond , which is indicated by its

reaction with

A. Bromine water

B. Baeyer's reagent

C. Fehling solution

D. Ammoniacal silver nitrate

Answer: D

Watch Video Solution

C3H4

62. The number of moles of proton which can be easily given by 1-butyne

(1 mole) is

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_01PYnGPZ39Ku
https://dl.doubtnut.com/l/_GMKKkS8kFoCe


D. 6

Answer: A

Watch Video Solution

63. Poisonous gas 'Lewisite' is obtained by the reaction of

A.  and 

B.  and 

C.  and 

D.  and NOCl

Answer: A

View Text Solution

CH ≡ CH AsCl3

CH2 = CH2 AsCl3

CH ≡ CH S2Cl2

CH2 = CH2

64. Which of the following compounds is the most stable

https://dl.doubtnut.com/l/_GMKKkS8kFoCe
https://dl.doubtnut.com/l/_gmxKaGI3EWaB
https://dl.doubtnut.com/l/_FsqQYA9Qhi9I


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

65. When acetylen reacted with hydroxylic acid in presence of  the

product obtained is

A. Methyl chloride

HgCl20

https://dl.doubtnut.com/l/_FsqQYA9Qhi9I
https://dl.doubtnut.com/l/_uKXL2XjZUOtx


B. Dichloroethane

C. Vinyl chloride

D. Ethylidine chloride

Answer: C

Watch Video Solution

66. In its reaction with silver nitrate acetylene shows

A. oxidising property

B. Reducing property

C. Basic property

D. Acidic property

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_uKXL2XjZUOtx
https://dl.doubtnut.com/l/_djJkE14TJbSQ
https://dl.doubtnut.com/l/_QKVlrtfZdb8k


67. In order complete the reaction 

1-Pentyne 4-Octyne cis-4-Octene, a and b will be 

(1)  


(2)  


(3)  


(4)

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

−−→
a

b
−−→

(a, b, ), (NaNH2, CH3CH2Br, :H2, (one mole )Pd or Ni)

(a, b, ), (NaNH2, CH3CH2CH2Br, :H2, (two mole )Pd or Ni)

(a, b, ), (NaNH2, CH3CH2CH2Br, :H2, (one mole )Pd or Ni)

(a, b, , ), (NaNH2, CH3CH2CH2Br, :BH3, H2O2, OH − )

68. Ammonical cuprous chloride will give red precipitate with which one

of the following

https://dl.doubtnut.com/l/_QKVlrtfZdb8k
https://dl.doubtnut.com/l/_2dFGkrchaZwI


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − C ≡ C − CH3

CH3 − CH = CH2

CH3 − C ≡ CH

CH3 − CH = CH − CH3

69. Which of the following does not give white precipitate with

ammoniacal 

A. 

B. 

C. 

D. 

Answer: C

AgNO3

CH ≡ CH

CH3 − C ≡ CH

CH3 − C ≡ C − CH3

C
∣
Cl

H2 − C ≡ CH

https://dl.doubtnut.com/l/_2dFGkrchaZwI
https://dl.doubtnut.com/l/_OLVUjRvQE5PE


Watch Video Solution

70. The correct order towards bond length is

A.  

B. 

C.   

D.   

Answer: B

Watch Video Solution

C − C < C = C < C ≡ C

C ≡ C < C = C < C − C

C = C < C ≡ C < C − C

C = C < C − C < C ≡ C

71. If acetylene is passed through an electric arc in the atmosphere of

nitrogen , the compound formed is

A. HCN

B. Pyrrole

https://dl.doubtnut.com/l/_OLVUjRvQE5PE
https://dl.doubtnut.com/l/_DbNDJ7v4wfCw
https://dl.doubtnut.com/l/_0ExivFnDpjP9


C. Pyrazole

D. Pyridine

Answer: A

Watch Video Solution

72. Ozonolysis of acetylene gives

A. Glycol

B. Glyoxal , formic acid

C. Formaldehyde

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0ExivFnDpjP9
https://dl.doubtnut.com/l/_3BQsJDqFfjTm


73. Which of the following order of reagent is chosen to prepare 1,3-

butadiene from 

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

C2H2

Cu2Cl2 /NH4Cl H2 /Pb(BaSO4)

NH4Cl/CuCl H2 /Pd(BaSO4)

H2 /Pd(BaSO4) CuCl/NH4Cl

H2 /Pb(BaSO4) NH4Cl/CuCl

74. What is the product formed when acetylene reacts with hypochlorous

acid.

A. 

B. 

C. 

CH3COCl

ClCH2CHO

Cl2CHCHO

https://dl.doubtnut.com/l/_6J2zP2FZ5YOQ
https://dl.doubtnut.com/l/_5FYSeimufjq0


D. ClCHCOOH

Answer: C

Watch Video Solution

75. A compound  which gives white ppt. with ammonical .A

give  with hot alcoholic KOH then compound is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C5H8 AgNO3

(CH3)2CHCOOH

CH3CH2 − CH2 − CH = CH2

CH3 − CH2 − C ≡ CH

(CH3)2CH − C ≡ CH

CH2 = CH − CH2 − CH = CH2

https://dl.doubtnut.com/l/_5FYSeimufjq0
https://dl.doubtnut.com/l/_FE1am8jgOnx9


76.  Product . Product in above reaction is

A. 

B. 

C. Both (a) and (b)

D. 

Answer: C

Watch Video Solution

CH3 − C ≡ CH
O3

−−−−−→
Zn/H2O2

CH3COOH

HCOOH

CH3CHO + HCHO

77. Which of these will not react with acetylene?

A. NaOH

B. Ammonical 

C. Na

D. HCl

AgNO3

https://dl.doubtnut.com/l/_ytlwbNcIcO8h
https://dl.doubtnut.com/l/_5sp3cY8ZkjHe


Answer: A

Watch Video Solution

78. The treatment of  with  produces :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3MgX CH3C ≡ C − H

CH3C ≡ C − CH3

CH3 −

H

∣

C =

H

∣

C − CH3

CH4

CH3 − CH = CH2

79. The hydrocarbon which can react with sodium in liquid ammonia is

A. CH3CH2C ≡ CH

https://dl.doubtnut.com/l/_5sp3cY8ZkjHe
https://dl.doubtnut.com/l/_elOHa1RmQiNu
https://dl.doubtnut.com/l/_RfYfrglY7pP9


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH = CHCH3

CH3CH2C ≡ CCH2CH3

CH3CH2CH2C ≡ CCH2CH2CH3

80. Hexyne gives trans  hexene on treatment with 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 − −2 − :

Pt/H2

Li/NH3

Pd/BaSO4

LiAlH4

https://dl.doubtnut.com/l/_RfYfrglY7pP9
https://dl.doubtnut.com/l/_jh6CbyL4bcD4
https://dl.doubtnut.com/l/_wLNvbbWK3bVI


81. Which of the following reactions will yield 2,2-dibromopropane

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HC ≡ CH + 2HBr →

CH3C ≡ CH + 2HBr →

CH3CH = CH2 + HBr →

CH3CH = CHBr + HBr →

82. The reaction  is called

A. Hydration

B. Sublimation

C. Dehydration

D. Substitution

H2C = CH2
Ethylene

+ H2O
water

H3PO4

−−−−−−−→
300 ∘ / 60atm

C2H5OH
Ethyl alcohol

https://dl.doubtnut.com/l/_wLNvbbWK3bVI
https://dl.doubtnut.com/l/_BhZCEay7uPS4


Answer: A

Watch Video Solution

83. Ethylidine dichloride can be prepared by the reaction of HCl and

A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

C2H4

C2H2

C2H5

84. Acetylene can be obtained by the reaction

A. HCOOK
electrolysis
−−−−−→

https://dl.doubtnut.com/l/_BhZCEay7uPS4
https://dl.doubtnut.com/l/_vTYwRj98Tczn
https://dl.doubtnut.com/l/_9vg00bIw666R


B. 

C. 

D. 

Answer: B

Watch Video Solution

CHI3 + 6Ag + CHI3

Δ
−−→

CH3CH2OH
Conc .H2SO4

−−−−−−−→
443 ∘C

Be2C + H2O →

85. Hydration of which one of the following yields a ketone

A. Propyne

B. Ethene

C. Propene

D. Ethyne

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9vg00bIw666R
https://dl.doubtnut.com/l/_7CPlAmaL0EUO
https://dl.doubtnut.com/l/_BJxVT1rBEmcw


86. The major product in the reaction of 2-butyne will Li/Liq.  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

NH3

CH3CH2CH2CH3

H2C = CH − CH2 − CH3

87.  A and B,

respectively, are

A. Cis, trans-2-butene

B. Both trans-2-butene

A
H2 / Lindlar's catalyst
←−−−−−−−−−−−− CH3C ≡ CCH3

Na/Liq  NH3

−−−−−−−−→ B

https://dl.doubtnut.com/l/_BJxVT1rBEmcw
https://dl.doubtnut.com/l/_qjfkCrvGryAv


C. Trans, cis-2-butene

D. Both cis-2-butene

Answer: A

Watch Video Solution

88. Propyne and propene can be distinguished by 

A. Conc. 

B.  in 

C. Alk. 

D.  in 

Answer: D

Watch Video Solution

:

H2SO4

Br2 CCl4

KMnO4

AgNO3 NH3

https://dl.doubtnut.com/l/_qjfkCrvGryAv
https://dl.doubtnut.com/l/_EUJrCDA23Psp


89. Which is most sensitive towards addition reaction

A. 

B. 

C. Both are equally sensitive

D. 

Answer: B

Watch Video Solution

CH2 = CH2

CH ≡ CH

CH3CH = CH − CH3

90.  X is

A. 

B. 

C. 

D. 

CaC2 + H2O → X
O3 /H2O/OH +

−−−−−−−−−→ HCOOH

C2H4

C2H2

C2H6

Ca(OH)2

https://dl.doubtnut.com/l/_QxpnV3Uje2je
https://dl.doubtnut.com/l/_ZuNeDYEFPvZO


Answer: B

Watch Video Solution

91. A salt producing hydrocarbon among these compound is

A. Ethane

B. Methane

C. Ethene

D. Ethyne

Answer: D

Watch Video Solution

92. Ammong the following the one which can exist in free state as a

stable compound is:

https://dl.doubtnut.com/l/_ZuNeDYEFPvZO
https://dl.doubtnut.com/l/_UcLUHjMpYWGY
https://dl.doubtnut.com/l/_Unv3ntuYzAZo


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C7H9O

C8H12O

C6H11O

C10H17O2

93. The final product in the given reaction is

A. 

https://dl.doubtnut.com/l/_Unv3ntuYzAZo
https://dl.doubtnut.com/l/_IQ1H1BvYwU4C


B. 

C. 

D. 

Answer: D

Watch Video Solution

94. The number of secondary hydrogens in 2,2-dimethylbutane is:

A. 8

B. 6

C. 4

D. 2

Answer: D

https://dl.doubtnut.com/l/_IQ1H1BvYwU4C
https://dl.doubtnut.com/l/_P39yt8PNkN3l


Watch Video Solution

95.  . Identify X in the given reaction

A. Benzene

B. Ethane

C. Cyclooctatetraene

D. Cyclohexane

Answer: C

Watch Video Solution

CH ≡ CH
Ni (CN ) 2

−−−−−→ X

96. In the reaction 

 Z is

A. Ethylene bromide

B. Ethanol

HC ≡ CH
HgSO4

−−−−→
dilH2SO4

X
LIAIH4
−−−−→ Y

P ,Br2

−−−→ Z,

https://dl.doubtnut.com/l/_P39yt8PNkN3l
https://dl.doubtnut.com/l/_okGkwzjz1nlW
https://dl.doubtnut.com/l/_IXUI7jSHuEZ7


C. Ethyl bromide

D. Ethylidene bromide

Answer: C

Watch Video Solution

97. In the following reaction 'P' 


Product 'P' will not give

A. Tollen's reagent test

B. Brady's reagent test

C. Victor Meyer's test

D. Iodoform test

Answer: C

Watch Video Solution

HC ≡ CH
H2SO4

−−−→
Hg2 +

https://dl.doubtnut.com/l/_IXUI7jSHuEZ7
https://dl.doubtnut.com/l/_yHJw8ornb8Lo
https://dl.doubtnut.com/l/_um40IP87eFsn


98. Shortest C-C bond length is present in

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH2 − CH3

CH3CH2CH2CH3

CH2 = CH − CH = CH2

CH ≡ C − C ≡ CH

99. Carbide which react with water to give propyne is

A. 

B. SiC

C. 

D. 

CaC2

Mg2C3

Al4C3

https://dl.doubtnut.com/l/_um40IP87eFsn
https://dl.doubtnut.com/l/_7359EyATZuBB


Answer: C

Watch Video Solution

100. To synthesize the unsymmetrical alkyne

 the reagents needed would be

A. Ethene, iodoethane, iodomethane and potassium hydroxide

B. Acetaldehyde , 1-bromopropane and conc. 

C. 1,2-dichloroethane , 1-propanol and alcoholic potassium hydroxide

D. Ethyne, iodomethane , iodoethane and sodamide

Answer: D

Watch Video Solution

CH3 − C ≡ C − CH2 − CH3

H2SO4

101. The C-H bond length is minimum in the bond formed by

https://dl.doubtnut.com/l/_7359EyATZuBB
https://dl.doubtnut.com/l/_ndVLBs5VlKQA
https://dl.doubtnut.com/l/_6U1usIhJikrB


A. sp-s overlapping (as in alkynes)

B.  -s overlapping (as in alkenes)

C.  -s overlapping (as in alkanes)

D. None of these

Answer: A

Watch Video Solution

sp2

sp3

102. Which of the  bond is strongest

A. Formed by  hybridised carbon atom (as in alkanes)

B. Formed by  hybridised carbon atom (as in alkanes)

C. Formed by sp-sp hybridised carbon atom (as in alkanes)

D. All are equal

Answer: C

Watch Video Solution

C − C −

sp3 − sp3

sp2 − sp2

https://dl.doubtnut.com/l/_6U1usIhJikrB
https://dl.doubtnut.com/l/_S53SolYruwqJ


103. Which of the following pairs has the same bond angle

A. Ethane and ethylene

B. Ethylene and acetylene

C. Ethylene and benzene

D. Acetylene and benzene

Answer: C

Watch Video Solution

104. Assertion:Cyclobutane is less stable than cyclopentane. 

Reason : Presence of bent bonds causes "loss of orbital overlap"

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_S53SolYruwqJ
https://dl.doubtnut.com/l/_JmP8b4RUtxZ0
https://dl.doubtnut.com/l/_UE7iT1YxrWdx


B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: C

Watch Video Solution

105. Assertion   does not react  in dark. 


Reason  Chlorination of  takes place in sunlight.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

: CH4 Cl2

: CH4

https://dl.doubtnut.com/l/_UE7iT1YxrWdx
https://dl.doubtnut.com/l/_fKzbQLGlPMHz


D. If the assertion and reason both are false

Answer: B

Watch Video Solution

106. Assertion  Bromobutane on reaction with sodium ethoxide in

ethanol gives butene as a major product. 


Reason  Butene is more stable than butene.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

: 2 −

2 −

: 2 − 1 −

https://dl.doubtnut.com/l/_fKzbQLGlPMHz
https://dl.doubtnut.com/l/_jlDWae10fTSV


Watch Video Solution

107. A) Addition of HBr on 2-butene gives two isomeric products. 

R) Addition of HBr on 2-butene follows Markownikoff's rule.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

108. Assertion : Cyclopentadienyl anion is much more stable than allyl

anion. 

https://dl.doubtnut.com/l/_jlDWae10fTSV
https://dl.doubtnut.com/l/_opGOeqUea6JX
https://dl.doubtnut.com/l/_H0nusL9ugVsc


Reason : Cyclopentadienyl anion is aromatic in character.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_H0nusL9ugVsc


109. Assertion:Tropylium cation is aromatic in nature

 


Reason:The only property that determines its aromatic behaviour is its

planar structure

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

https://dl.doubtnut.com/l/_E0AcIO84iWfE


Answer: C

Watch Video Solution

110. Assertion:Melting point of n-butane is higher than propane. 

Reason: it is called oscillation effect

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_E0AcIO84iWfE
https://dl.doubtnut.com/l/_aBu4so6Ikfhl
https://dl.doubtnut.com/l/_YNHvB7yxS3eb


111. Assertion :Iodination of alkanes is reversible 

Reason:Iodination is carried out in presence of iodic acid

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

112. Assertion:Isobutane on oxidation with  gives tert-butyl

alcohol. 

Reason:Oxidising agents have no effect on alkanes

KMnO4

https://dl.doubtnut.com/l/_YNHvB7yxS3eb
https://dl.doubtnut.com/l/_a9S1J3Mvr27y


A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

113. Assertion:Halogenation of alkanes is catalysed by tetraethyl lead 

Reason:Halogenation proceeds through free radical mechanism

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_a9S1J3Mvr27y
https://dl.doubtnut.com/l/_lwbL4rAsWQwM


B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Watch Video Solution

114. Assertion  Neopentene forms only one monosubstituted compound.

Reason  Neopentane has high bond energy

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

:

:

https://dl.doubtnut.com/l/_lwbL4rAsWQwM
https://dl.doubtnut.com/l/_wrmZ7KhvAA1o


Answer: C

Watch Video Solution

115. Assertion:Freezing point of neopentane is more than n-pentane. 

Reason:Increase in vander Waals forces increases freezing point

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wrmZ7KhvAA1o
https://dl.doubtnut.com/l/_3nnp81LeG4np
https://dl.doubtnut.com/l/_Ufjz2Vtcq9vq


116. Assertion:Knocking lowers the efficiency of the engine 

Reason:Fuel with minimum knocking property is preferred

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

117. Assertion : The presence of  enhance the solubility of alkenes in

water. 

Reason : Alkenes are weakly polar in nature.

Ag+

https://dl.doubtnut.com/l/_Ufjz2Vtcq9vq
https://dl.doubtnut.com/l/_zn4NlJGbAMob


A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

118. Assertion:Ethene on treating with  in presence of NaCl forms 

 and  


Reason:This addition involves the formation of free radicals

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

Br2

CH2CICH2Br CH2Br − CH2 − Br

https://dl.doubtnut.com/l/_zn4NlJGbAMob
https://dl.doubtnut.com/l/_ZklRkCHpspmR


B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: C

Watch Video Solution

119. Assertion  Propene reacts with  in presence of benzoyl

peroxide to yield  bromopropane. 


Reason  In presence of peroxide , the addition of  to propane

follows ionic mechanism.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

: HBr

1 −

: HBr

https://dl.doubtnut.com/l/_ZklRkCHpspmR
https://dl.doubtnut.com/l/_d8JUzUAn7WOc


C. if assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

Watch Video Solution

120. In the reaction 

 

X and Y are

A. X=1-Butyne : Y=3-Hexyne

B. X=2-Butyne : Y=3-Hexyne

C. X=2-Butyne : Y=2-Hexyne

D. X=1-Butyne : Y=2-Hexyne

Answer: A

Watch Video Solution

H − C ≡ CH
( 1 )NaNH2 / liq .NH3

−−−−−−−−−−−−−→
( 2 )CH3CH2Br

X
( 1 )NaNH2 / liq .NH3

−−−−−−−−−−−−−→
( 2 )CH3CH2Br

Y

https://dl.doubtnut.com/l/_d8JUzUAn7WOc
https://dl.doubtnut.com/l/_r3WWKtFBHmAG


ORDINARY THINKING (Objective question) (AROMATIC HYDROCARBON)

1. Which among the following is very strong o-p-directing groups?

A. OH

B. Cl

C. 

D. Br

Answer: A

Watch Video Solution

C6H5

2. Cyclic hydrocarbon molecules  has all the carbon and hydrogen in a

single plane. All the carbon-carbon bonds are of same length less than

, but more than . The  bond angle will be

'A'

1.54Å 1.34Å C − C

https://dl.doubtnut.com/l/_r3WWKtFBHmAG
https://dl.doubtnut.com/l/_DkrZNkOSOeyj
https://dl.doubtnut.com/l/_tqZoldlOJVbT


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

120∘

180∘

100∘

109∘ 28'

3. Which of the following structures correspond to the product expected,

when excess of  reacts with  in presence of anhydrous 

?

A. 

B. 

C. 

C6H6 CH2Cl2

AlCl3

https://dl.doubtnut.com/l/_tqZoldlOJVbT
https://dl.doubtnut.com/l/_LlbaSO72lYgL


D. 

Answer: D

Watch Video Solution

4. Benzene reacts with  in the presence of  to give

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COCl AlCl3

C6H5Cl

C6H5COCl

C6H5CH3

C6H5COCH3

5. Chemical name of the insecticide gammaxene is

https://dl.doubtnut.com/l/_LlbaSO72lYgL
https://dl.doubtnut.com/l/_K1YQIW4ME2rH
https://dl.doubtnut.com/l/_pmgrGeRVzoMO


A. DDT

B. Benzene hexachloride

C. Chloral

D. Hexachloroethane

Answer: B

Watch Video Solution

6. Attacking or reactive or electrophilic species in nitration of benzene is

or In the nitration of benzene with concentrated  and , the

attck on ring is made by 

A. 

B. 

C. 

D. 

HNO3 H2SO4

:

NO−
2

NO+
2

NO−
3

NO2

https://dl.doubtnut.com/l/_pmgrGeRVzoMO
https://dl.doubtnut.com/l/_xnkUQaxDhsV8


Answer: B

Watch Video Solution

7.  the name of the

above reaction is

A. Friedel-Craft's reaction

B. Kolbe's synthesis

C. Wurtz reaction

D. Gringnard reaction

Answer: A

Watch Video Solution

C6H6 + CH3Cl
Anhydrous

−−−−−−−−→
AlCl3

C6H5 − CH3 + HCl

8. Anhydrous  is used as a catalyst in the friedel-crafts reaction

because it is

AlCl3

https://dl.doubtnut.com/l/_xnkUQaxDhsV8
https://dl.doubtnut.com/l/_GNyCEyM8fhKX
https://dl.doubtnut.com/l/_LUsLHeQJadbx


A. Electron rich

B. Soluble in ether

C. Insoluble to chloride and aluminium ions

D. Electron deficient

Answer: D

Watch Video Solution

9. Select the true statement about benzene amongst the following

A. Because of unsaturation benzene easily undergoes addition

reactions

B. There are two types of C-C bonds in benzene molecule

C. There is a cyclic delocalisation of  electrons in benzene

D. Monosubstitution of benzene group gives three isomeric

substances

π

https://dl.doubtnut.com/l/_LUsLHeQJadbx
https://dl.doubtnut.com/l/_YLW1ogtctEMx


Answer: C

Watch Video Solution

10. Electrophile in the case of chlorination of benzene in presence of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

FeCl3

Cl+

Cl−

Cl

FeCl3

11. Which one of these is not compatible with arenes

https://dl.doubtnut.com/l/_YLW1ogtctEMx
https://dl.doubtnut.com/l/_ZJNgd6GrASoP
https://dl.doubtnut.com/l/_uUwwBe8kQrQl


A. Greater stability

B. Delocalisation of -electrons

C. Electrophilic addition

D. Resonance

Answer: C

Watch Video Solution

π

12. Which one of the following is a free - radical substitution reaction ?

A. 

B. 

C. 

D. 

Answer: B

CH3CHO + HCN → CH3CH(OH)CN

https://dl.doubtnut.com/l/_uUwwBe8kQrQl
https://dl.doubtnut.com/l/_XKH6REQV7ob2


Watch Video Solution

13. Which one of the following is the most reactive towards electrophilic

attack?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XKH6REQV7ob2
https://dl.doubtnut.com/l/_QOvV2CsCDffO
https://dl.doubtnut.com/l/_3cCbTapan9vX


14. The raction of toluene with  in presence of  gives  and

reaction in presence of light gives  Thus  and  are .

A. X=benzyl chloride , Y=m-chlorotoluene

B. X=benzyl chloride , Y=o-chlorotoluene

C. X=m-chlorotoluene, Y=p-chlorotoluene

D. X=o- and p- chlorotoluene, Y=trichloromethyl benzene

Answer: D

Watch Video Solution

CI2 FeCI3 X

Y X Y

15. Complete the following reaction

A. 

https://dl.doubtnut.com/l/_3cCbTapan9vX
https://dl.doubtnut.com/l/_v1mBGJtCXPwo


B. 

C. 

D. 

Answer: A

Watch Video Solution

16. Complete the following reaction

A. 6p-orbitals and 7 unpaired electrons

B. 6p-orbitals and 6 unpaired electrons

C. 7p-orbitals and 6 unpaired electrons

https://dl.doubtnut.com/l/_v1mBGJtCXPwo
https://dl.doubtnut.com/l/_jWyG0G1HCEy7


D. 7p-orbitals and 7 unpaired electrons

Answer: B

Watch Video Solution

17. Some meta-directing substituents in aromatic substitution are given

which one is the most deactivating?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−NO2

−C ≡ N

−SO3H

−COOH

https://dl.doubtnut.com/l/_jWyG0G1HCEy7
https://dl.doubtnut.com/l/_mfhQlbJBAc4o


18. Which of the following compounds will not undergo Friedel  Crafts

reaction easily ?

A. Toluene

B. Cumene

C. Xylene

D. Nitrobenzene

Answer: D

Watch Video Solution

−

19. Product obtained after nitration of nitrobenzene is

A. TNT

B. 1,3-dinitrobenzene

C. Picric acid

D. 1,4-dinitrobenzene

https://dl.doubtnut.com/l/_OoJ3w2cvjZnF
https://dl.doubtnut.com/l/_ZWnvokB7kajx


Answer: B

Watch Video Solution

20. Nitrobenzene on reaction with conc.  at  forms

which one of the following products?

A. TNT

B. 1,3-dinitrobenzene

C. Picric acid

D. 1,4-dinitrobenzene

Answer: B

Watch Video Solution

HNO3

H2SO4
80 − 100∘C

21. Which of the following chemical system is non aromatic

https://dl.doubtnut.com/l/_ZWnvokB7kajx
https://dl.doubtnut.com/l/_wZ06f3P8J8U1
https://dl.doubtnut.com/l/_r3wyWrr8CsaI


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

22. Which one of the following compounds will undergo meta

substitution (mainly) on monochlorination?

A. Ethoxy ethane

https://dl.doubtnut.com/l/_r3wyWrr8CsaI
https://dl.doubtnut.com/l/_NopPQNAKDM5b


B. Chlorobenzene

C. Ethyl benzoate

D. Phenol

Answer: C

Watch Video Solution

23. On heating a mixture of sodium benzoate and sodalime, the following

is obtained

A. Toluene

B. Phenol

C. Benzene

D. Benzoic acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NopPQNAKDM5b
https://dl.doubtnut.com/l/_X8qCGqesZIR2


24. Catalytic hydrogenation of benzene gives

A. Xylene

B. Cyclohexane

C. Benzoic acid

D. Toluene

Answer: B

Watch Video Solution

25. Which is formed when benzene is heated with chlorine in the

presence of sunlight

A. 

B. 

C. 

C6H5CCl3

C6H5CHCl2

C6H5CH2Cl2

https://dl.doubtnut.com/l/_X8qCGqesZIR2
https://dl.doubtnut.com/l/_M2PxrLGqSJLd
https://dl.doubtnut.com/l/_xBQIZGkn4QxR


D. 

Answer: D

Watch Video Solution

C6H6Cl6

26.  


Sequence Y can be

A. 1-nitrochloro benzene

B. 3-nitrochloro benzene

C. 4-nitrochloro benzene

D. 1,2-nitrochloro benzene

Answer: B

Watch Video Solution

C6H6

HNO3

−−−→
H2SO4

X
Cl2

−−→
FeCl3

Y

https://dl.doubtnut.com/l/_xBQIZGkn4QxR
https://dl.doubtnut.com/l/_Mj6EEnsaDsbE


27. Pyridine is less basic than triethylamine because .

A. Pyridine has aromatic character

B. Nitrogen in pyridine is  hybridized

C. Pyridine is a cyclic system

D. In pyridine, lone pair of nitrogen is delocalized

Answer: D

Watch Video Solution

sp2

28. The hydrocarbon which does not decolourise alkaline 

solution and also does not give any precipitate with ammoniacal silver

nitrate is

A. Benzene

B. Acetylene

C. Propyne

KMnO4

https://dl.doubtnut.com/l/_NNxcJUb77a8Q
https://dl.doubtnut.com/l/_SxW3bSLFHqIa


D. Butyne-1

Answer: A

Watch Video Solution

29. The ratio of  bond in benzene is

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

σ and π

https://dl.doubtnut.com/l/_SxW3bSLFHqIa
https://dl.doubtnut.com/l/_MtiiifqKXGsz


30. Most common reactions of benzene (aromatic hydrocarbon ) and its

derivatives are

A. Electrophilic addition reactions

B. Electrophilic substitution reactions

C. Nucleophilic addition reaction

D. Nucleophilic substitution reactions

Answer: B

Watch Video Solution

31. Which of the following oil is obtained from benzene after fractional

distillation of coal tar

A. Light oil

B. Heavy oil

C. Middle oil

https://dl.doubtnut.com/l/_NT4I2B7grGIe
https://dl.doubtnut.com/l/_m40NRUSIIRNE


D. Anthracene oil

Answer: A

Watch Video Solution

32. Which of the given species cannot be used in Friedel Craft's reactions

?

A. 

B. 

C. 

D. NaCl

Answer: D

Watch Video Solution

FeCl3

FeBr2

AlCl3

https://dl.doubtnut.com/l/_m40NRUSIIRNE
https://dl.doubtnut.com/l/_2x2mxMzsseng


33. Chlorobenzene is  directing in electrophilic substitution

reaction. The directing influence is explained by

A.  of Ph

B.  of Cl

C.  of Cl

D.  of Ph

Answer: C

Watch Video Solution

o, p −

+M

I

+M

+I

34. Necessary conditions for halogenation are

A. Cold and dark

B. presence of halogen carrier

C. Both (a) and (b)

D. None

https://dl.doubtnut.com/l/_HYLJvFdTXrMx
https://dl.doubtnut.com/l/_g7HJySBcdSST


Answer: C

View Text Solution

35. Which of the following reactions takes place when a mixture of

concentrated  and  reacts on benzene at  ?

A. Sulphonation

B. Nitration

C. Hydrogenation

D. Dehydration

Answer: B

Watch Video Solution

HNO3 H2SO4 350K

36. Nitration of benzene by nitric acid and sulphuric acid is

https://dl.doubtnut.com/l/_g7HJySBcdSST
https://dl.doubtnut.com/l/_vhMH1A3jyz6g
https://dl.doubtnut.com/l/_jxqsqPwuXsNC


A. Electrophilic substitution

B. Electrophilic addition

C. Nucleophilic substitution

D. Free radical substitution

Answer: A

Watch Video Solution

37. Benzene is obtained from

A. Coaltar

B. Plant

C. Animal

D. Charcoal

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jxqsqPwuXsNC
https://dl.doubtnut.com/l/_EmYWM98uh0u6


38. After ozonolysis of benzene (not hydrolysis) , the product is

A. Benzene triozonide

B. Glyoxal

C. Ethanediol

D. All of them

Answer: A

Watch Video Solution

39. Which acid will not form hydrocarbon

A. Cinnamic acid

B. Isothallic acid

C. Salicylic acid

https://dl.doubtnut.com/l/_EmYWM98uh0u6
https://dl.doubtnut.com/l/_LVPYsz5Pr2Xb
https://dl.doubtnut.com/l/_oPAOhg0Fqcy2


D. Picric acid

Answer: D

Watch Video Solution

40. In which of the following , the bond length between carbon and

carbon atom is equal

A. 2-butene

B. Benzene

C. 1-butene

D. 1-propyne

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oPAOhg0Fqcy2
https://dl.doubtnut.com/l/_R8kBw8rzevg5


41. The attacking reagent in electrophilic sulphonation of benzene is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2

SO3

SO
2 −
4

HSO−
3

42. Benzene vapour mixed with air when passed over  catalyst at

775K gives

A. Glyoxal

B. Oxalic acid

C. Maleic anhydride

D. Fumaric acid

V2O5

https://dl.doubtnut.com/l/_YX8NK31q8dkL
https://dl.doubtnut.com/l/_rxbGfVV5MOOt


Answer: C

Watch Video Solution

43. Decreasing order of C-C bond length is (I)  (II)  (III) 

(IV) 

A. IV gt III gt I gt II

B. I gt II gtIV gt III

C. II gt I gt IV gt III

D. IV gt I gt III gt II

Answer: A

Watch Video Solution

C2H4 C2H2 C6H6

C2H6

44. Which among the following is very strong o-p-directing groups?

https://dl.doubtnut.com/l/_rxbGfVV5MOOt
https://dl.doubtnut.com/l/_P4gnNYYg8vIu
https://dl.doubtnut.com/l/_ciqZffexoUk7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−Cl

−OR

−NH2

−NHR

45. Which of the following yields both alkane and alkene ?

A. Kolbe's reaction

B. Williamson's synthesis

C. Wurtz reaction

D. Sandmeyer reaction

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ciqZffexoUk7
https://dl.doubtnut.com/l/_GhJZkNnYkDbb


46. Toluene on oxidation with dilute  and alkaline  gives

A. Benzaldehyde

B. Phenol

C. Nitrotoluene

D. Benzoic acid

Answer: D

Watch Video Solution

HNO3 KMnO4

47. In the following reaction, the product 'R' is: 

A. Benzene

B. Ethylbenzene

C. Toluene

CaC2

H2O
−−→ P

hot iron
−−−−→

tube
Q

CH3Cl
−−−→
AlCl3

R

https://dl.doubtnut.com/l/_GhJZkNnYkDbb
https://dl.doubtnut.com/l/_BxXNhYkMkNAY
https://dl.doubtnut.com/l/_FF8n6YWKpGyp


D. n-propylbenzene

Answer: C

Watch Video Solution

48. The compound formed as a result of oxidation of ethyl benzene by

 is :

A. Benzophenone

B. Acetophenone

C. Benzoic acid

D. Benzyl alcohol

Answer: C

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_FF8n6YWKpGyp
https://dl.doubtnut.com/l/_3jJhPgksYXDW


49. The compound used as an explosive is

A. 2,4,6-tribromoaniline

B. 1,3,5-trinitrobenzene

C. 2,4,6-trichlorotoluene

D. 1,3,5-trichlorobenzene

Watch Video Solution

50. What happens when napthalene balls are put inside kerosene

A. Precipitates

B. Dissolves upon heating

C. Dissolves easily

D. Does not dissolve

https://dl.doubtnut.com/l/_lREuHT721Jmg
https://dl.doubtnut.com/l/_CWag30EsknIo


Answer: C

Watch Video Solution

51. Three fused benzene rings are found in

A. Napthalene

B. Anthracene

C. Phenanthroline

D. Triphenyl methane

Answer: B

Watch Video Solution

52. Which of the following is not aromatic

A. Benzene

https://dl.doubtnut.com/l/_CWag30EsknIo
https://dl.doubtnut.com/l/_41u425NpQutd
https://dl.doubtnut.com/l/_lULMSUHC23lt


B. Cyclopenyl cation

C. Trophyliumcation

D. Cyclopentadienyl cation

Answer: D

Watch Video Solution

53. The strongest ortho/para and the strongest meta directing groups,

respectively, are

A.  and 

B.  and 

C.  and 

D.  and 

Watch Video Solution

−NO2 −NH2

−CONH2 −NH2

−NH2 −CONH2

−X −CONH2

https://dl.doubtnut.com/l/_lULMSUHC23lt
https://dl.doubtnut.com/l/_Vg4Gsil52xCJ


54. Meta-directing and deactivating group in the aromatic electrophilic

substitution is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−CH3

−OH

−NO2

−Cl

55. In which reaction , polysubstitution takes place 

A. 

B. 

C. 

:

https://dl.doubtnut.com/l/_yfWUvr6nYemM
https://dl.doubtnut.com/l/_NZ6F9HGzj6Sp


D. 

Answer: B

Watch Video Solution

56. Acylation of benzene to produce aliphatic aromatic ketones is known

as

A. Benzoin condensation

B. Hydroformylation

C. Clemmensen reduction

D. Friedel-Cralft 's reaction

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NZ6F9HGzj6Sp
https://dl.doubtnut.com/l/_hmEUUTITEvAl


57. Which of the following compounds react slower than benzene in

electrophilic substitution?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_m6btOYsb4ewk


Answer: C

Watch Video Solution

58. What is the end product which is obtained on the nitration on

toluene?

A. o-nitrotoluene

B. p-nitrotoluene

C. 2,4-dinitrotoluene

D. 2,4,6-trinitrotoluene

Answer: D

Watch Video Solution

59. Benzene is prepared in laboratory from which one of the following

compounds

https://dl.doubtnut.com/l/_m6btOYsb4ewk
https://dl.doubtnut.com/l/_9oEi72C99J04
https://dl.doubtnut.com/l/_GRxRRCx00075


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6N5N2Cl

C6H5OH

C6H5COONa

C6H5SO3H

60. Among the following compound which one is planar in shape

A. methane

B. Acetylene

C. Benzene

D. isobutane

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GRxRRCx00075
https://dl.doubtnut.com/l/_4HF0eNRag5T7


61. A compound 'A' when treated with  (in presence of )

gives compound B, which is the reduced with  and  to aniline ?

The compound 'A' is

A. Toluene

B. Benzene

C. Ethane

D. Acetamide

Answer: B

Watch Video Solution

HNO3 H2SO4

Sn HCl

62. The reaction of benzene with chlorine in the presence of iron gives

A. Benzene hexachloride

B. Chlorobenzene

https://dl.doubtnut.com/l/_4HF0eNRag5T7
https://dl.doubtnut.com/l/_tS0cCs4D1Kuo
https://dl.doubtnut.com/l/_ax3POJp7b8Xa


C. Benzyl chloride

D. Benzoyl chloride

Answer: B

Watch Video Solution

63. The 'middle oil' fraction of coaltar distillation contains

A. Benzene

B. Anthracene

C. Naphthalene

D. Xylene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ax3POJp7b8Xa
https://dl.doubtnut.com/l/_w5emmK4PMV4m


64. Hydrocarbon  decolourise  water and give ppt. with

ammoniacal . Hydrocarbon can be

A. 1,3,5-cyclohexatriene

B. 1,5-hexadiyne

C. 2,4-hexadiyne

D. None

Answer: D

Watch Video Solution

C6H6 Br2

AgNO3

65. In reaction 

 


Then C is

A. 

B. 

C6H5CH3

oxidation
−−−−→ A

NaOH
−−−→ B

sodalime
−−−−→ C

C6H6

C6H5OH

https://dl.doubtnut.com/l/_CzOpVwfA8BtA
https://dl.doubtnut.com/l/_jkpQpUIBWZXA


C. 

D. 

Answer: A

Watch Video Solution

C6H5COO
+

Na

C6H5ONa

66. The carbon -carbon bond distance in benzene is

A. Longer than a C-C single bond

B. Longer than a C-C double bond

C. Longer than a C=C double bond

D. Longer than a  triple bond

Answer: B

Watch Video Solution

C ≡ C

https://dl.doubtnut.com/l/_jkpQpUIBWZXA
https://dl.doubtnut.com/l/_HxMpVkJ3HBDX


67. Number of resonating structures for Dewar's benzene will be

A. One

B. Two

C. Three

D. Four

Answer: C

Watch Video Solution

68. Adding of  to benzene in the presence of  is an example of

A. Addition

B. Halogenation

C. Substitution

D. Elimination

Cl2 AlCl3

https://dl.doubtnut.com/l/_oRKj6OnbRwkt
https://dl.doubtnut.com/l/_nurEvtakaELo


Answer: C

Watch Video Solution

69. Benzene shows

A. Substitution

B. Addition

C. Oxidation

D. All of these

Answer: D

Watch Video Solution

70. The purest form of coal is

A. Peat

https://dl.doubtnut.com/l/_nurEvtakaELo
https://dl.doubtnut.com/l/_1b884mseIeAu
https://dl.doubtnut.com/l/_J7crl09KYC97


B. Anthracite

C. Bituminous

D. Lignite

Answer: B

Watch Video Solution

71. Benzene can be obtained in the reaction

A. Ethene +1,3-butadiene

B. Trimerisation of ethyne

C. Reduction of PhCHO

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_J7crl09KYC97
https://dl.doubtnut.com/l/_yx7Z3orH1Xji
https://dl.doubtnut.com/l/_vVqN5wjMP4HX


72. Thiophene and benzene are separated by

A. Sulphonation of thiophene

B. Sulphonation of benzene

C. Nitration of thiophene

D. Nitration of benzene

Answer: B

Watch Video Solution

73. Amongst the following the most basic compound is :

A. Benzylamine

B. Aniline

C. Acetanilide

D. p-nitroaniline

https://dl.doubtnut.com/l/_vVqN5wjMP4HX
https://dl.doubtnut.com/l/_gDqF7LFsuTSa


Answer: A

Watch Video Solution

74. Presence of a nitro group in a benzene ring:

A. Activates the ring towards electrophilic substitution

B. Renders the ring basic

C. Deactivates the ring towards nucleophilic substitution

D. Deactivates the ring towards electrophilic substitution

Answer: D

Watch Video Solution

75. The electrophile,  attacks the benzene ring to generate the

intermediate -complex. Of the following, which -complex is of lowest

energy ?

E ⊕

σ σ

https://dl.doubtnut.com/l/_gDqF7LFsuTSa
https://dl.doubtnut.com/l/_15e7wKVhmSKP
https://dl.doubtnut.com/l/_ocOcCupff3kU


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

76. order of reactivity of  and  is

A. 

C2H6, C2H4 C2H2

C2H6 > C2H4 > C2H2

https://dl.doubtnut.com/l/_ocOcCupff3kU
https://dl.doubtnut.com/l/_U4SQhL1c8gZe


B. 

C. 

D. All are equally reactive

Answer: C

Watch Video Solution

C2H2 > C2H6 > C2H4

C2H2 > C2H4 > C2H6

77. Which one of the following is not aromatic ?

A. Cyclopentadienyl cation

B. Cyclooctatetraene

C. Cycloheptatriene

D. Cycloheptatrienyl cation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_U4SQhL1c8gZe
https://dl.doubtnut.com/l/_2P0Hshyeh1At
https://dl.doubtnut.com/l/_TxArOO0xyPzy


78. Which is a non-aromatic compound

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

79. Which of the following will be easily nitrated

https://dl.doubtnut.com/l/_TxArOO0xyPzy
https://dl.doubtnut.com/l/_S8geMAzUMxk2


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3NO2

C6H5NO2

80. Aromatisation of n-heptane by passing over 

catalyst at 773 K gives

A. Benzene

B. Toluene

(Al2O3 + Cr2O3)

https://dl.doubtnut.com/l/_S8geMAzUMxk2
https://dl.doubtnut.com/l/_QBVh2MglDw2p


C. Mixture of both

D. Heptylene

Answer: B

Watch Video Solution

81. The chemical name of anisole is

A. Propanone

B. Acetone

C. Ethanoic acid

D. methoxy benzene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QBVh2MglDw2p
https://dl.doubtnut.com/l/_0FUDBATcs41h


82. Which of the following is not used in Friedel-Craft's reaction

A. Phenyl acetanilide

B. Bromobenzene

C. Benzene

D. Chlorobenzene

Answer: A

Watch Video Solution

83. Benzne can be obtained by heating either benzoic acid with X or

phenol with Y.X and Y, respectively are

A. Zinc dust and soda lime

B. Soda lime and zinc dust

C. Zinc dust and sodium hydoxide

D. Soda lime and copper

https://dl.doubtnut.com/l/_FmHGWyjv8mvP
https://dl.doubtnut.com/l/_A2bBtV816dTu


Answer: B

Watch Video Solution

84. In presence of light & heat toluene chlorinated & react with aqueous

NaOH give

A. o-cresol

B. p-cresol

C. Mixture of o- cresol & p-cresol

D. 1,3,5-trihydroxy toluene

Answer: D

Watch Video Solution

85. Which one of these is not true of benzene :

https://dl.doubtnut.com/l/_A2bBtV816dTu
https://dl.doubtnut.com/l/_k8Frbgdq1vOw
https://dl.doubtnut.com/l/_qdqVS0hjohWo


A. it forms only one type of monosbustituted product

B. There are three carbon-carbon single bonds double bonds

C. The heat of hydrogenation of benzene is less than the theoretical

value

D. The bond angle between the carbon -carbon bonds is 

Answer: B

Watch Video Solution

120∘

86. Which of the following having delocalised electron

A. Benzene

B. Cyclohexane

C. 

D. 

Answer: A

CH4

C2H6

https://dl.doubtnut.com/l/_qdqVS0hjohWo
https://dl.doubtnut.com/l/_vKh3wI8SJEYR


Watch Video Solution

87. The product formed when toluene is heated in light with  and in

absence of halogen carrier is

A. Benzotrichloride

B. Gammexane

C. Chlorobenzene

D. None of these

Answer: A

Watch Video Solution

Cl2

88. Friedel-Crafts reaction using MeCI and anhydrous  will take

place most effeciently with :

A. Benzene

AICI3

https://dl.doubtnut.com/l/_vKh3wI8SJEYR
https://dl.doubtnut.com/l/_Kpbkbn4HXKvX
https://dl.doubtnut.com/l/_eC8qmKbqrebK


B. Nitrobenzene

C. Acetophenone

D. Toluene

Answer: D

Watch Video Solution

89. An equimolar mixture of toluene and chlorobenzene is treated with a

mixture of conc.  and conc.  Indicate the correct statement

from the following :

A. p-nitrotoluene is formed in excess

B. Equimolar amounts of p-nitrotoluene and p-nitrochlorobenzene are

formed

C. p-nitrochlorobenzene is formed in excess

D. m-nitrochlorobenzene is formed in excess

H2SO4 HNO3

https://dl.doubtnut.com/l/_eC8qmKbqrebK
https://dl.doubtnut.com/l/_Sa1zLd9yEMrg


Answer: A

Watch Video Solution

90. Reaction of benzene with  in the presence of anhydrous 

 gives

A. 

B. 

C. 

D. 

Me3COCl

AlCl3

https://dl.doubtnut.com/l/_Sa1zLd9yEMrg
https://dl.doubtnut.com/l/_qe49NyfdsUYx


Answer: B

Watch Video Solution

91. Which of the following is aromatic ?

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_qe49NyfdsUYx
https://dl.doubtnut.com/l/_nEtNUiMXwTMD


Watch Video Solution

92. Complete the following reaction

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_nEtNUiMXwTMD
https://dl.doubtnut.com/l/_RCj5FJPMvZZa


Answer: A

Watch Video Solution

93. Find the major product in the following reaction 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_RCj5FJPMvZZa
https://dl.doubtnut.com/l/_PaFPjiARge04


Answer: B

Watch Video Solution

94. Which of the following group activates the benzene ring most

towards electrophilic substitution

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−CHO

−NR2

−NHCOCH3

−NO2

95. Benzene reacts with  in presence of which of the following to give

iodobenzene

I2

https://dl.doubtnut.com/l/_PaFPjiARge04
https://dl.doubtnut.com/l/_jUgRdZBVaZTa
https://dl.doubtnut.com/l/_c1laIyzvM43u


A. 

B. HI

C. 

D. 

Answer: A

Watch Video Solution

HNO3

SO2

H2O

96. The final product formed in the reaction is

A. 

B. 

https://dl.doubtnut.com/l/_c1laIyzvM43u
https://dl.doubtnut.com/l/_feHBt75QWYcu


C. 

D. 

Answer: D

Watch Video Solution

97. The compound with molecular formula  which will give only two

isomers on electrophilic substitution with  or with 

 is

A. p-dimethyl benzene

B. m-dimethyl benzene

C. o-dimethyl benzene

D. Ethyl benzene

Answer: C

W t h Vid S l ti

C8H10

Cl2 /FeCl3

HNO3 /H2SO4

https://dl.doubtnut.com/l/_feHBt75QWYcu
https://dl.doubtnut.com/l/_4sPLKWCrav7f


Watch Video Solution

98. Which compound is aromatic

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4sPLKWCrav7f
https://dl.doubtnut.com/l/_gBwtlpRjkUYv
https://dl.doubtnut.com/l/_CTRinQTZOBWu


99. Benzene can react with

A.  water

B. 

C. 

D. 

Answer: B

Watch Video Solution

Br2

HNO3

H2O

CH3OH

100. Chorination of benzene is not possible in the following reaction :

A. 

B. 

C. 

D. 

C6H6 + Cl2
FeCl3
−−→

C6H6 + HOCl
H +

−−→

C6H6 + I − Cl
ZnCl2
−−−→

C6H6 + Cl2
AlCl3
−−→

https://dl.doubtnut.com/l/_CTRinQTZOBWu
https://dl.doubtnut.com/l/_QYlMFPXF5UIj


Answer: B

Watch Video Solution

101. Xylenes on oxidation with acidic  gives

A. Terphthalic acid

B. Phthalic acid

C. Isophthalic acid

D. All of these

Answer: D

Watch Video Solution

KMnO4

102. Aromatic compounds burn with a sooty flame because

A. They have a ring structure of carbon atoms

https://dl.doubtnut.com/l/_QYlMFPXF5UIj
https://dl.doubtnut.com/l/_Jmu3Hn6zBZaM
https://dl.doubtnut.com/l/_UIfejgfdn2c0


B. They have a relatively high percentage of hydrogen

C. They have a relatively high percentage of carbon

D. They resist reaction with oxygen of air

Answer: C

Watch Video Solution

103. For preparing monoalkyl benzene, acylation process is preferred than

direct alkylation because

A. In alkylation, a poisonous gas is evolved

B. In alkylation , large amount of heat is evolved

C. In alkylation, polyalkylated product is formed

D. Alkylation is very costly

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UIfejgfdn2c0
https://dl.doubtnut.com/l/_rArIzTS93sDB


104. Which of the following is not formed by the ozonolysis of (o-xylene)

A. Glyoxal

B. Ethyl glyoxal

C. Dimethyl glyoxal

D. Methyl glyoxal

Answer: B

Watch Video Solution

105. Point out the wrong statement in relation to the structure of

benzene

A. It forms only one monosubstitution product

B. The C-C bond distance in benzene is uniformly 1.397 Å

C. It is a resonance hybrid of a number of canonical forms

https://dl.doubtnut.com/l/_rArIzTS93sDB
https://dl.doubtnut.com/l/_kfnLiGXcfYFB
https://dl.doubtnut.com/l/_W3iXcQvODS3B


D. It has three delocalised -molecular orbitals

Answer: A

Watch Video Solution

π

106. Six carbon atoms of benzene are of:

A. One type

B. Two types

C. Three types

D. Six types

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_W3iXcQvODS3B
https://dl.doubtnut.com/l/_0uMcJFCce8kH


107. Benzene on treatment with a mixture of conc.  and conc. 

 at  gives

A. Nitrobenzene

B. m-dinitrobenzene

C. p-dinitrobenzene

D. o-dinitrobenzene

Answer: B

Watch Video Solution

HNO3

H2SO4 100∘C

108. Which xylene is most readily nitrated ?

A. Ortho

B. Para

C. Meta

D. All at the same rate

https://dl.doubtnut.com/l/_XBiLcRxV0LKM
https://dl.doubtnut.com/l/_w4VGLFeNs4iK


Answer: C

Watch Video Solution

109. Which of the following would be least reactive towards bromide

A. Nitrobenzene

B. Phenol

C. Anisole

D. Chlorobenzene

Answer: A

Watch Video Solution

110. (i)Chlorobenzene and (ii) benzene hexachloride are obtained from

benzene by the reaction of chlorine, in the presence of

https://dl.doubtnut.com/l/_w4VGLFeNs4iK
https://dl.doubtnut.com/l/_4sY7g0uJVBOo
https://dl.doubtnut.com/l/_vrWqQtGfHS7s


A. (i)Direct sunlight and (ii) anhydrous 

B. (i)Sodium hydroxide and (ii)sulphuric acid

C. (i)Ultraviolet light and (ii)anhydrous 

D. (i)Anhydrous  and (ii)direct sunlight

Answer: D

Watch Video Solution

AlCl3

FeCl3

AlCl3

111. Which of the following has lowest knocking property

A. Olefins

B. Straight chain paraffins

C. Aromatic hydrocarbons

D. Branched chain paraffins

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vrWqQtGfHS7s
https://dl.doubtnut.com/l/_8g7ywm1KEo8z


112. Nitration of toluene takes place at

A. o-position

B. m-position

C. p-position

D. Both o and p-positions

Answer: D

Watch Video Solution

113. Which of the following is not o,p - directing group ?

A. 

B. 

C.  (halogens)

−NH2

−OH

−X

https://dl.doubtnut.com/l/_8g7ywm1KEo8z
https://dl.doubtnut.com/l/_d9DIo9gagDbN
https://dl.doubtnut.com/l/_rj2CGsOBuh8w


D. 

Answer: D

Watch Video Solution

−CHO

114. Assertion : Pyrrole is an aromatic heterocyclic compound 

Reason : It has cyclic delocalised electrons

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Answer: A

Watch Video Solution

6π

https://dl.doubtnut.com/l/_rj2CGsOBuh8w
https://dl.doubtnut.com/l/_DK5IQCb3AMkm


115. Assertion  Alkyl benzene is not prepared by Friedel  Crafts

alkylation of benzene. 

Reason  Alkyl halides are more reactive than acyl halides.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Answer: B

Watch Video Solution

: −

:

116. Assertion: Styrence on reaction with  gives 1-bromo-1-

phenylethane . 

HBr

https://dl.doubtnut.com/l/_DK5IQCb3AMkm
https://dl.doubtnut.com/l/_p1KQR6TkvnDe
https://dl.doubtnut.com/l/_DccdJZf4DN7y


Reason: Benzyl radical is more stable than alkyl redical .

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Watch Video Solution

117. Assertion:Benzene is a solvent for the Friedel Craft's alkylation of

bromobenzene. 

Reason : Friedel Craft's reation is used to introduce an alkyl or acyl group

in benzene nucleus

https://dl.doubtnut.com/l/_DccdJZf4DN7y
https://dl.doubtnut.com/l/_MBKuIWeuF9ox


A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Watch Video Solution

118. Assertion : [10]Annulene is not aromatic though it contains Huckel

number of -electrons. 


Reason:Steric interaction between internal hydrogens makes it non-

planar

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

π

https://dl.doubtnut.com/l/_MBKuIWeuF9ox
https://dl.doubtnut.com/l/_zZ3cyuIkUYjN


B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Answer: A

Watch Video Solution

119. Statement-I : Nitration of toluene is easier than benzene 

Because 

Staement-II : The methyl group in touene is electron-releasing

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

https://dl.doubtnut.com/l/_zZ3cyuIkUYjN
https://dl.doubtnut.com/l/_Iug7DlntQQdT


D. If assertion and reason both are false

Answer: A

Watch Video Solution

120. Assertion : Benzene forms benzene sulphonic acid with fuming

 at high temperature . 


Reason : The attacking species is 

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Watch Video Solution

H2SO4

SO3

https://dl.doubtnut.com/l/_Iug7DlntQQdT
https://dl.doubtnut.com/l/_JyBscMl5nhHr


121. Assertion :Activating groups are electron donors. 

Reason: Nitroso group is activating group

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Answer: C

Watch Video Solution

122. Assertion:Aryl halides are less reactive towards substitution of

halogen atom. 

https://dl.doubtnut.com/l/_JyBscMl5nhHr
https://dl.doubtnut.com/l/_jzuNMVjnRWp4
https://dl.doubtnut.com/l/_oSEmlutxbrrB


Reason : Halogens are o,p-directing in nature

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. if assertion is true but reason is false

D. If assertion and reason both are false

Answer: B

Watch Video Solution

123. The reaction of  with  produces

A. 

B. 

C6H5CH = CHCH3 HBr

C6H5CH2C
∣
Br

HCH3

C5H5CH2CH2CH2Br

https://dl.doubtnut.com/l/_oSEmlutxbrrB
https://dl.doubtnut.com/l/_6EZVoN4sxhRa


C. 

D. 

Answer: D

Watch Video Solution

C6H5C
∣
Br

HCH2CH3

124. Given  


The enthalpy of hydrogenation of these compound will be in

A. 

B. 

C. 

D. 

III > II > I

II > III > I

II > I > III

I > II > III

https://dl.doubtnut.com/l/_6EZVoN4sxhRa
https://dl.doubtnut.com/l/_V14Z5zprt3iT


Answer: A

Watch Video Solution

125. Which of the following can beused as the halide component for

friedel-crafts reaction?

A. isopropyl chloride

B. Chlorobenzene

C. Bromobenzene

D. Chloroethene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_V14Z5zprt3iT
https://dl.doubtnut.com/l/_LTeKSDwX61a7


126. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qeVH2iDZFIqb


127. The compound  undergoes the following reactions : 


 


The product 'C' is

A. m-bromotoluene

B. o-bromotoluene

C. 3-bromo-2,4,6-trichlorotoluene

D. p-bromotoluene

Answer: A

Watch Video Solution

C7H8

C7H8

3Cl2 / Δ
−−−−→ A

Br2 /Fe
−−−−→ B

Zn/HCl
−−−−→ C

128. identify the major product P, Q and R in the following sequence of

reaction 

https://dl.doubtnut.com/l/_qeVH2iDZFIqb
https://dl.doubtnut.com/l/_Am89gs4OmUgw
https://dl.doubtnut.com/l/_dv4ecXrS2sHa


CRITICAL THINKING (Objective questions)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1. In the following reactions, 

(a)  
H3C −

CH3

|    

CH − CH
∣

 OH

− CH3

H + /heat
−−−−−→ A

Major
product

+ B
Minor

product

https://dl.doubtnut.com/l/_dv4ecXrS2sHa
https://dl.doubtnut.com/l/_bFreIkpBQYhy


(b)  


The major products (A) and (C) are respectively:

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

A
HBr ,dark

−−−−−−−−−−−−→
in absence of peroxide

C
Major

product

+ D
Minor

product

CH2 =

CH3

∣

C − CH2 − CH3 CH3 −

CH3

∣

C
∣
Br

− CH2 − CH3

CH2 =

CH3

∣

C − CH2 − CH3 C
∣
Br

H2 −

CH3

∣

C H − CH2 − CH3

CH2 −

CH3

∣

C = CH2 − CH3 C
∣
Br

H2 −

CH3

∣

C H − CH2 − CH3

CH3 −

CH3

∣

C = CH − CH3 CH3 −

CH3

∣

C H − C
∣
Br

H − CH3

2. The compound  on reaction with  in

the presence of  gives

A. 

CH3 −

CH3

∣

C = CH − CH3 NaIO4

KMnO4

CH3CHO + CO2

https://dl.doubtnut.com/l/_bFreIkpBQYhy
https://dl.doubtnut.com/l/_NKUtSjty8HY6


B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COCH3

CH3COCH3 + CH3COOH

CH3COCH3 + CH3CHO

3. Formation of polyethylene from calcium carbide takes place as follows 

 


 


 


The amount of polyethylene obtained from  is

A. 7 kg

B. 14 kg

C. 21 kg

D. 28 kg

CaC2 + 2H2O → Ca(OH)2 + C2H2

C2H2 + H2 → C2H2

N(C2H4) → ( − CH2 − CH2 − )n

64.1kgCaC2

https://dl.doubtnut.com/l/_NKUtSjty8HY6
https://dl.doubtnut.com/l/_AdtCYC5EVjEQ


Answer: D

Watch Video Solution

4. If ethylene, carbon monoxide and water is heated at high temperature ,

which of the following is formed

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C4H8O2

C2H5COOH

CH3COOH

CH2 = CH − COOH

5. What is formed when calcium carbide reacts with heavy water?

https://dl.doubtnut.com/l/_AdtCYC5EVjEQ
https://dl.doubtnut.com/l/_4ZgVInquqjNS
https://dl.doubtnut.com/l/_6SC4LYrxPXyf


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2D2

CaD2

CaD2O

CD2

6. . Identify A and B in the given

reaction

A.  and 

B.  and HCOOH

C.  and 

D.  and 

Answer: A

CaC2 + H2O → A
H2SO4 /HgSO4

−−−−−−−−→ B

C2H2 CH3CHO

CH4

C2H4 CH3COOH

C2H2 CH3COOH

https://dl.doubtnut.com/l/_6SC4LYrxPXyf
https://dl.doubtnut.com/l/_7UW8tqbzGp4d


Watch Video Solution

7. Napthalene is a/an

A. Ionic solid

B. Covalent solid

C. metallic solid

D. Molecular solid

Answer: D

Watch Video Solution

8. Which of the following is not aromatic

A. Benzene

B. Napthalene

C. Pyridine

https://dl.doubtnut.com/l/_7UW8tqbzGp4d
https://dl.doubtnut.com/l/_wNk9bEPzK2Jx
https://dl.doubtnut.com/l/_7pMeP1djZilS


D. 1,3,5 heptatriene

Answer: D

Watch Video Solution

9. , product X is

A. Ethylene bromide

B. Vinyl bromide

C. Bromo ethane

D. Ethyledine bromide

Answer: B

Watch Video Solution

CH ≡ CH + HBr → X

https://dl.doubtnut.com/l/_7pMeP1djZilS
https://dl.doubtnut.com/l/_u7jYzSIf985P


10. The decreasing order of acidic character among ethane(I), ethene(II),

ethyne(III) and propyne (IV) is:

A. (I) gt (II) gt (III) gt (IV)

B. (II) gt (III) gt (I) gt (IV)

C. (III) gt (IV) gt (II) gt (I)

D. (IV) gt (III) gt (II) gt (I)

Answer: C

Watch Video Solution

11. Benzene is obtained by

A. Substitution of three acetylene molecules

B. Addition of three  molecules

C. Polymerization of three  molecule

D. Condensation of three  molecule

C2H2

C2H2

C2H2

https://dl.doubtnut.com/l/_LtFkEY9w6dbR
https://dl.doubtnut.com/l/_klyCntHzgmdK


Answer: C

Watch Video Solution

12. Identify the product (E) in the following sequence of reactions 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_klyCntHzgmdK
https://dl.doubtnut.com/l/_vrWVKAlvdxdd


Answer: B

Watch Video Solution

13. The following is a conjugated diene

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CH = C = CH − CH3

CH2 = CH − CH2 − CH = CH2

CH2 = CH − CH2 − CH2 − CH = CH2

CH2 =

CH3

∣

C − CH = CH3

14. Which one of the following reactions is most suitable for the

preparation of n-propyl benzene

https://dl.doubtnut.com/l/_vrWVKAlvdxdd
https://dl.doubtnut.com/l/_isUX5X8Yt5xZ
https://dl.doubtnut.com/l/_K15qEOZxIKg9


A. Friedel-Craft's reaction

B. Wurtz reaction

C. Wurtz -Fitting reaction

D. Gringnard reaction

Answer: C

Watch Video Solution

15. The compound X on reaction with  gives 


Y which one oxidation gives acetic acid. X is

A. 

B. 

C. 

D. 

Answer: A

HgSO4 + H2SO4

C2H2

C2H4

C3H4

C4H6

https://dl.doubtnut.com/l/_K15qEOZxIKg9
https://dl.doubtnut.com/l/_Uh9grcZRbt7e


Watch Video Solution

16. The reaction 

 is known as

A. Wurtz reaction

B. Koch reaction

C. Clemmensen reduction

D. Kolbe's reaction

Answer: B

Watch Video Solution

CH3CH = CH2

CO+H2O
−−−−−−−−→

H +
CH3 − CH

∣

COOH

− CH3

17. When ethyl alcohol is heated with red phosphorus and , then which

of the following is formed

A. 

HI

C2H6

https://dl.doubtnut.com/l/_Uh9grcZRbt7e
https://dl.doubtnut.com/l/_7KjvFz3lcrTt
https://dl.doubtnut.com/l/_p5ySzpbR72CP


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

C3H8

C2H4

18. Identify the compound X in the following reaction 

A. 

https://dl.doubtnut.com/l/_p5ySzpbR72CP
https://dl.doubtnut.com/l/_du877jaHSN62


B. 

C. 

D. 

Answer: A

Watch Video Solution

19. Propane cannot be prepared from which reaction

A. 

B. 

CH3 − CH = CH2

B2H6
−−→
OH −

CH3CH2CH2I
HI

−−→
P

https://dl.doubtnut.com/l/_du877jaHSN62
https://dl.doubtnut.com/l/_dFzINx9SzzJm


C. 

D. None of these

Answer: A

Watch Video Solution

CH3CH2CH2Cl
Na

−−→

20. The best method for the preparation of 2,2-dimethylbutane is via the

reaction of

A.  and  in Na/ether

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

Me3CBr MeCH2Br

(Me3C)2CuLi MeCH2Br

(MeCH2)2CuLi Me3CBr

Me3CMgI MeCH2I

https://dl.doubtnut.com/l/_dFzINx9SzzJm
https://dl.doubtnut.com/l/_UE5XGMHWnTNW
https://dl.doubtnut.com/l/_p3ZZKS7qCdQf


21. In the case homologous series of alkanes, which one of the following

statements is incorrect

A. The members of the series are isomers of each other

B. The member of the series have similar chemical properties

C. The members of the series have the general formula ,

where n is an interger

D. The difference between any two successive members of the series

corresponds to 14 units of relative atomic mass

Answer: A

Watch Video Solution

CnH2n+ 2

22. pentane and iospentane can be distinguished by

A. 

B. 

n −

Br2

O3

https://dl.doubtnut.com/l/_p3ZZKS7qCdQf
https://dl.doubtnut.com/l/_a58SCUSx6Det


C. Conc. 

D. 

Answer: D

Watch Video Solution

H2SO4

KMnO4

23. Which of the following is formed as a result of biological oxidation of

benzene in the body of the dog

A. Acrylic acid

B. Cinnamic acid

C. Maleic acid

D. Gluconic acid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_a58SCUSx6Det
https://dl.doubtnut.com/l/_NLqbGXdw1llh
https://dl.doubtnut.com/l/_Ghw0uP7deOID


JEE SECTION (Only one choice correct answer)

24. How many primary , secondary , tertiary and quanternary carbons are

present in the following hydrocarbon 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH(CH3) − C(CH3)2 − CH2 − CH(CH3) − CH2 − CH3

Primary secondary Tertiary Quanternary

6 2 2 1

Primary secondary Tertiary Quanternary

2 6 3 0

Primary secondary Tertiary Quanternary

2 4 3 2

Primary secondary Tertiary Quanternary

2 2 4 3

1. Main constituent of marsh gas is

A. C2H2

https://dl.doubtnut.com/l/_Ghw0uP7deOID
https://dl.doubtnut.com/l/_b3J9voKxPuXs


B. 

C. 

D. CO

Answer: B

Watch Video Solution

CH4

H2S

2. The most strained cycloalkane is :

A. Cyclopropane

B. Cyclobutane

C. Cyclopentane

D. Cyclohexane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_b3J9voKxPuXs
https://dl.doubtnut.com/l/_NdlaqyMdLh1L
https://dl.doubtnut.com/l/_fb1i0TZyRN37


3. The halogen which is most reactions , in the halogenation of alkanes

under sunlight is .........

A. Chlorine

B. Bromine

C. Iodine

D. All equal

Answer: A

Watch Video Solution

4. The bond order of individual carbon-carbon bond in benzene is

A. One

B. Two

C. Between one and two

D. One and two , alternately

https://dl.doubtnut.com/l/_fb1i0TZyRN37
https://dl.doubtnut.com/l/_r85AY2gHxNFg


Answer: C

Watch Video Solution

5. A gas on passing through ammonical solution of  does not give

any precipitate but decolourises alkaline  solution. The gas may

be:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AgNO3

KMnO4

CH4

C2H6

C2H4

C2H2

6. The compound butadiene has 1, 2 − :

https://dl.doubtnut.com/l/_r85AY2gHxNFg
https://dl.doubtnut.com/l/_iZlYX1vE9YHz
https://dl.doubtnut.com/l/_dXZTnnf1aXvv


A. Only sp-hybridized carbon atoms

B. Only -hybridized carbon atoms

C. Both sp and -hybridized carbon atoms

D. sp,  and  hybridized carbon atoms

Answer: D

Watch Video Solution

sp2

sp2

sp2 sp3

7. When propyne is treated with aqueous  in the presence of 

, the major product is:

A. Propanal

B. propyl hydrogen sulphate

C. Acetone

D. Propanol

Answer: C

H2SO4

HgSO4

https://dl.doubtnut.com/l/_dXZTnnf1aXvv
https://dl.doubtnut.com/l/_fjVNaa9PkLoA


Watch Video Solution

8. Which of the following compounds does not dissolve in conc. 

even on warming 

A. Ethylene

B. Benzene

C. Hexane

D. Aniline

Answer: C

Watch Video Solution

H2SO4

?

9. Baeyer's reagent is used in the laboratory for-

A. Alkaline permanganate solution

B. Acidified permanganate solution

https://dl.doubtnut.com/l/_fjVNaa9PkLoA
https://dl.doubtnut.com/l/_xNBsUTdsvrR2
https://dl.doubtnut.com/l/_NAJaK7X0spqJ


C. Neutral permanganate solution

D. Aqueous bromine solution

Answer: A

Watch Video Solution

10. The compound that is most reactive towards electrophilic nitration is

A. Toluene

B. Benzene

C. Benzoic acid

D. Nitrobenzene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NAJaK7X0spqJ
https://dl.doubtnut.com/l/_NB4oZslwfaF6


11. In which of the following, addition of HBr does not takes place against

markownikoff's rule or Anti-Markownikoff addition of HBr is not observed

for

A. Propene

B. But-1-ene

C. But-2-ene

D. Pent-2-ene

Answer: C

Watch Video Solution

12. Which of the following contains acidic hydrogen?

A. Ethyne

B. Ethene

C. Ethane

https://dl.doubtnut.com/l/_X2wBtBjLxJ6j
https://dl.doubtnut.com/l/_KxjgGDFneFVB


D. Benzene

Answer: A

Watch Video Solution

13. The highest boiling point is expected for

A. Iso-butane

B. n-octane

C. 2,2,3,3-tetramethyl butane

D. n-butane

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KxjgGDFneFVB
https://dl.doubtnut.com/l/_Lp2kOVbwNdqv


14. The reaction of toluene with chlorine in the presence of ferric chloride

gives mainly

A. Benzoyl chloride

B. m-chlorotoluene

C. Benzyl chloride

D. o and p chlorotoluene

Answer: D

Watch Video Solution

15. Condition for maximum yield of  is

A. 

B. 

C. 

D. 

C2H5Cl

C2H6(excess) + Cl2
UV light
−−−−→

C2H6 + Cl2
dark

−−−−−−→
Room temp.

C2H6 + Cl2(excess)
UV light
−−−−→

C2H6 + Cl2
UV light
−−−−→

https://dl.doubtnut.com/l/_WtCFSGxOhunA
https://dl.doubtnut.com/l/_L2iZp8ta5yJO


Answer: A

Watch Video Solution

16. n-propyl bromide on treatment with ethanolic potassium hydroxide

produces

A. Propane

B. Propene

C. Propyne

D. Propanol

Answer: B

Watch Video Solution

17. The number of structural and configurational isomers of a bromo

compound, , formed by the addition of  to 2-pentyneC5H9Br HBr

https://dl.doubtnut.com/l/_L2iZp8ta5yJO
https://dl.doubtnut.com/l/_yJeQpUYoffod
https://dl.doubtnut.com/l/_zhsu1lO65Jkv


respectively, is:

A. 1 and 2

B. 2 and 4

C. 4 and 2

D. 2 and 1

Answer: B

Watch Video Solution

18. A reaction between methyl magnesium bromide and ethyl alcohol

gives

A. Metane

B. Ethane

C. Propane

D. Butane

https://dl.doubtnut.com/l/_zhsu1lO65Jkv
https://dl.doubtnut.com/l/_ooZKoNFuKS02


Answer: A

Watch Video Solution

19. The compound which has one isopropyl group is

A. 2,2,3,3-tetramethyl pentane

B. 2,2 dimethyl pentane

C. 2,2,3-trimethyl pentane

D. 2-methyl pentane

Answer: D

Watch Video Solution

20. The C-H bond distance is the longest in:

A. C2H2

https://dl.doubtnut.com/l/_ooZKoNFuKS02
https://dl.doubtnut.com/l/_tzP4pwLHSzeM
https://dl.doubtnut.com/l/_JinqUj3MC8ar


B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H4

C2H6

C2H2Br2

21. In the fractional distillation of crude petroleum

A. Petrol condenses at the bottom of the column

B. The gases condense at the top of the column

C. High boiling constituents condense at the bottom of the column

D. High boiling constituents condense at the top of the column

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_JinqUj3MC8ar
https://dl.doubtnut.com/l/_GM0Oy0yxMxVX
https://dl.doubtnut.com/l/_yNwecPlb6zMq


22. Gasoline is the name of

A. Crude oil

B. The gaseous constituents of petroleum

C. The mixture of uncondensed gases produced in the distillation of

crude oil

D. The mixture of the residue and gas oil obtained in the distillation of

crude oil

Answer: B

Watch Video Solution

23. In the process of cracking

A. Organic compounds decompose into their constituent elements

B. Hydrocarbons decompose into carbon and hydrogen

https://dl.doubtnut.com/l/_yNwecPlb6zMq
https://dl.doubtnut.com/l/_mbdK8WvCsH7D


C. High molecular weight organic compounds decompose to gives low

molecular weight organic compounds

D. Hydrocarbons yield alkyl radicals and hydrogen

Answer: C

Watch Video Solution

24. The octane number has zero value for

A. Iso-octane

B. n-hexane

C. n-heptane

D. Iso-heptane

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mbdK8WvCsH7D
https://dl.doubtnut.com/l/_MlqhHB1dSARY
https://dl.doubtnut.com/l/_saHCO0svl9n4


25. The inorganic origin of petroleum is indicated by the fact that

A. It constituents can be separated by fractional distillation

B. Carbon and hydrocarbon can combine by absorption of solar

energy to give hydrocarbons

C. Petroleum contains traces of chlorophyll

D. Oil fields are located with the help of seismograph

Answer: B

Watch Video Solution

26. A mixture of ethyl iodide and n-propyl iodide is subjected to Wurtz

reaction. The hydrocarbon that will not be formed is

A. n-butane

B. n-propane

C. n-pentane

https://dl.doubtnut.com/l/_saHCO0svl9n4
https://dl.doubtnut.com/l/_OYGMYfSmZimh


D. n-hexane

Answer: B

Watch Video Solution

27. Which one of the following compounds gives methane on treatement

with water?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Al4C3

CaC2

V C

SiC

https://dl.doubtnut.com/l/_OYGMYfSmZimh
https://dl.doubtnut.com/l/_4TqnEpE16TzF


28. Alcoholic solution of KOH is used for ,

A. Dehydration

B. Dehydrogenation

C. Dehydrohalogenation

D. Dehalogenation

Answer: C

Watch Video Solution

29. The dehydrohalogenation of neopentyl bromide with alcoholic KOH

mainly gives

A. 2-methyl-1-butene

B. 2-methyl-2-butene

C. 2,2-dimethyl-1-butene

D. 2-butene

https://dl.doubtnut.com/l/_Jg5Hn9t4VkWc
https://dl.doubtnut.com/l/_hJXII8tL0LzI


Answer: B

Watch Video Solution

30. Dilute aqueous  , at room temperature reacts with R-CH=CH-R

to give

A. R-CHO

B. R-COOH

C. RCHOH-CHOHR

D. 

Answer: C

Watch Video Solution

KMnO4

CO2 + H2O

31. Aqueous sulphuric acid reacts with 2-methyl-1-butene to give

predominantly-

https://dl.doubtnut.com/l/_hJXII8tL0LzI
https://dl.doubtnut.com/l/_XU4EPn135wcp
https://dl.doubtnut.com/l/_XHKak77g7ABq


A. Isobutyl hydrogen sulphate

B. 2-methyl-2-butanol

C. 2-methyl-1-butanol

D. Secondary butyl hydrogen sulphate

Answer: B

Watch Video Solution

32. The olefin which on ozonolysis gives  and  is

A. 1-butene

B. 2-butene

C. 1-pentene

D. 2-pentene

Answer: D

Watch Video Solution

CH3CH2CHO CH3CHO

https://dl.doubtnut.com/l/_XHKak77g7ABq
https://dl.doubtnut.com/l/_b8O8bC7Q9O3a


33. Which is most readily nitrated

A. Benzene

B. Phenol

C. Aniline

D. Nitrobenzene

Answer: B

Watch Video Solution

34. What is the chief product obtained 

when n-butane is treated with bromine

in the presence of light at C

A. 

B. 

130∘

CH3 − CH2 − C
∣

CH3

H − Br

CH3 − C
∣

CH3

H − CH2 − Br

https://dl.doubtnut.com/l/_b8O8bC7Q9O3a
https://dl.doubtnut.com/l/_wgKUeKOdYcx1
https://dl.doubtnut.com/l/_NlZfn3lOG99S


C. 

D. 

Answer: A

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− Br

CH3 − CH2 − CH2 − CH2 − Br

35. When isobutyl bromide in dry ether is treated

with absolute ethyl alcohol, the products formed are

A.  and 

B.  and Mg(OH)Br

C.  and 

D.  and Mg(OH)Br

Answer: C

Watch Video Solution

CH3 − C
∣

CH3

H − CH2OH CH3CH2MgBr

CH3 − C
∣

CH3

H − CH2 − CH2 − CH3

CH3 − C
∣

CH3

H − CH3 CH3 − CH2OMgBr

CH3 − C
∣

CH3

H − CH3, CH2 = CH2

https://dl.doubtnut.com/l/_NlZfn3lOG99S
https://dl.doubtnut.com/l/_pFuIgUgBYnVI


36. The predominant product formed when  methyl pentene

reacts with  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3 − −2 −

HOCl

CH3 − CH2 −

Cl

∣

C
∣

CH3

−

OH

∣

CH − CH3

CH3 − CH2 −

Cl

∣

C
∣

CH3

−

Cl

∣

CH − CH3

CH3 − CH2 −

OH

∣

C
∣

CH3

− C
∣
Cl

H − CH3

CH3 −

CH3

∣

C
∣

CH3

−

OH

∣

CH − CH3

37. When acetylene is passed into dilute sulphuric acid

containing  ions, the product formed isHg2+

https://dl.doubtnut.com/l/_pFuIgUgBYnVI
https://dl.doubtnut.com/l/_OWjCnrC5FOH5
https://dl.doubtnut.com/l/_w7IagnuKPFpR


A. Acetone

B. Acetic acid

C. Acetaldehyde

D. Formaldehyde

Answer: C

Watch Video Solution

38. When cyclohexane is poured in water, it floats because:

A. Cyclohexane is in boat form

B. Cyclohexane is in chair form

C. Cyclohexane is in crown form

D. cyclohexane is less dense than water

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_w7IagnuKPFpR
https://dl.doubtnut.com/l/_p9bNDqXi2fZB


39. In the reaction of p-chlorotoluene with  is liguid  the

major product is .

A. o-toluidine

B. m-toluidine

C. p-toluidine

D. p-chloroaniline

Answer: B

Watch Video Solution

KNH2 NH3

40. The number of possibel enantiomeric paira that can be produced

during monochlorination of 2-methyl butane is :

A. 2

B. 3

https://dl.doubtnut.com/l/_p9bNDqXi2fZB
https://dl.doubtnut.com/l/_kb68dsRjjRHR
https://dl.doubtnut.com/l/_NU27LU8uH1yX


C. 4

D. 1

Answer: A

Watch Video Solution

41. The intermediate during the addition of  to propene in the

presence of peroxide is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCl

CH3

.

C

HCH2Cl

CH3

+

CHCH3

CH3CH2

.

C

H2

CH3CH2

+

CH2

https://dl.doubtnut.com/l/_NU27LU8uH1yX
https://dl.doubtnut.com/l/_CAHCsf7BVfiu
https://dl.doubtnut.com/l/_xMn3CfUtnqXK


42. During debromination of meso-dibromobutane, the major compound

formed is :

A. n-butane

B. 1-butane

C. cis-2-butene

D. trans-2-butene

Answer: D

Watch Video Solution

43. Which one of the following statements on the nitration of aromatic

compounds is false?

A. The rate of nitration of benzene is almost the same as that of

hexadeutrobenzene

B. The rate of nitration of toluene is greater than that of benzene

https://dl.doubtnut.com/l/_xMn3CfUtnqXK
https://dl.doubtnut.com/l/_y7BvswDFLrbN


C. The rate of nitration of benzene is greater than that of

hexadeuterobenzene

D. Nitration is an electrophilic substitution reaction

Answer: C

Watch Video Solution

44. Nitrobenzenen can be prepared from benzene by using a mixture of

conc  and conc.  in the nitrating mixture. Nitric acid acts as

a

A. Base

B. Acid

C. Reducing agent

D. Catalyst

Answer: A

HNO3 H2SO4

https://dl.doubtnut.com/l/_y7BvswDFLrbN
https://dl.doubtnut.com/l/_vDyzPyKvHY7H


Watch Video Solution

45. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

46. Assertion: Addition of  to -butane gives two optical isomers. 


Reason: The product contains one asymmetric carbon atoms.

Br2 1

https://dl.doubtnut.com/l/_vDyzPyKvHY7H
https://dl.doubtnut.com/l/_ftfScLgCrg5W
https://dl.doubtnut.com/l/_VVioGdvIN1VH


A. Both assertion and reason are correct and reason is the correct

explanation of the assertion

B. Both assertion and reason are correct but reason is not the correct

explanation of the assertion

C. Assertion is correct, but reason is incorrect

D. Assertion is incorrect, but reason is correct

Answer: A

Watch Video Solution

47. Benzylchloride  can be prepared from toluene by

chlorination with :

A. 

B. 

C. 

(C6H5CH2Cl)

SO2Cl2

SOCl2

Cl2

https://dl.doubtnut.com/l/_VVioGdvIN1VH
https://dl.doubtnut.com/l/_f7NQbqdmWZA1


D. NaOHCl

Answer: C

Watch Video Solution

48. At low temperatures, the slow addition of molecular bromine to

 gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2 = CH − CH2 ≡ CH

CH2 = CH − CH2 − CBr = CHBr

BrCH2 − CHBr − CH2 − C ≡ CH

CH2 = CH − CH2 − CH2 − CBr3

CH3 − CBr2 − CH2 − C ≡ CH

https://dl.doubtnut.com/l/_f7NQbqdmWZA1
https://dl.doubtnut.com/l/_NSkeuHKusyTK


49.  


X in the above reaction is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3C ≡ CCH
( i )X

−−−−−−−→
( ii )H2O/Zn

CH3 − C
∣ ∣
O

− C
∣ ∣
O

− CH3

HNO3

O2

O3

KMnO4

50. In the compound 

 the  bond is of

A. 

B. 

CH2 = CH − CH2 − CH2 − C ≡ CH C2 − C3

sp − sp2

sp3 − sp3

https://dl.doubtnut.com/l/_OBcS8mzXtHVU
https://dl.doubtnut.com/l/_aGwzL5R3XgJU


C. 

D. 

Answer: D

Watch Video Solution

sp − sp3

sp2 − sp3

51. A solution of -2-chloro-2-phenyl ethane in toluene racemises

slowly in the presence of small amount of , due to the formation of:

A. Carbanion

B. Carbene

C. Free-radical

D. Carbocation

Answer: D

Watch Video Solution

( + )

SbCl5

https://dl.doubtnut.com/l/_aGwzL5R3XgJU
https://dl.doubtnut.com/l/_uzavTlMhi0F3
https://dl.doubtnut.com/l/_Z4VzD5zVSvzZ


52. The product(s) obtained via oxymercuration  of 1-

butyne would be:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(HgSO4 + H2SO4)

CH3 − CH2 −

O

∣ ∣

C − CH3

CH3 − CH2 − CH2 − CHO

CH3 − CH2 − CHO + HCHO

CH3CH2COOH + HCOOH

53. The alakene  producing  on ozonolysis is :

A. Hexene-1

B. Hexene -3

C. Cyclohexene

D. 1-methylcyclohexene-1

C6H10 OHC(CH2)4CHO

https://dl.doubtnut.com/l/_Z4VzD5zVSvzZ
https://dl.doubtnut.com/l/_kdJosgLzAJDH


Answer: C

Watch Video Solution

54. The function of anhydous  in the Friedel Craft reaction is to

A. Absorb water

B. Absorb HCl

C. To produce electrophile

D. To produce nucleophile

Answer: C

Watch Video Solution

AlCl3

55. Catalytic dehydrogenation of n-heptane in presence of 

at 750 K gives

Cr2O3 /Al2O3

https://dl.doubtnut.com/l/_kdJosgLzAJDH
https://dl.doubtnut.com/l/_gxxri0MO6pra
https://dl.doubtnut.com/l/_9O0PRlk1WlAF


A. Iso-heptane

B. 1-heptane

C. Toluene

D. 2,3-dimethylpentene-1

Answer: C

Watch Video Solution

56. Which of the following alkenes will react fastest with  under

catalytic hydrogenation conditions

A. 

B. 

C. 

H2

https://dl.doubtnut.com/l/_9O0PRlk1WlAF
https://dl.doubtnut.com/l/_4rbLksoa3vD6


D. 

Answer: A

Watch Video Solution

57. Assertion: But-1-ene on reaction with HBr in the presence of peroxide

produces 1-bromobutane. 

Reason: It invovles the formation of a primary free radical.

A. Both assertion and reason are correct and reason is the correct

explanation of the assertion

B. Both assertion and reason are correct but reason is not the correct

explanation of the assertion

C. Assertion is correct, but reason is incorrect

D. Assertion is incorrect, but reason is correct

Answer: C

https://dl.doubtnut.com/l/_4rbLksoa3vD6
https://dl.doubtnut.com/l/_2xXtS0WP0RQa


Watch Video Solution

58. One mole of each of the following alkenes is catalytically

hydrogenated. The quantity of heat evolved will be the lowest in the case

of

A. 1-butene

B. trans-2-butene

C. cis-2-butene

D. 1,3-butadiene

Answer: D

Watch Video Solution

59. Which of the following are formed on addition reaction of DCl with 3-

methyl-1-butene

https://dl.doubtnut.com/l/_2xXtS0WP0RQa
https://dl.doubtnut.com/l/_3nIM83oPPUzZ
https://dl.doubtnut.com/l/_IoK6ONBT5Zxh


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2DCHClCH(CH3)2

CH2DCH2CCl(CH3)2

CH3CDClCH(CH3)2

ClCH2CHDCH(CH3)2

60. The reagent which is used to distinguish between propene and

propyne is

A. Bromine

B. Alkaline 

C. Ammoniacal 

D. Ozone

Answer: C

KMnO4

AgNO3

https://dl.doubtnut.com/l/_IoK6ONBT5Zxh
https://dl.doubtnut.com/l/_ym25oGctePU2


Watch Video Solution

61. The structure of the product(Z) in the reactions given below 

 Z is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HC ≡ CH
NaNH2 .CH3COCH3
−−−−−−−−−−−−→

H +
X

Hg2 + ,H3O
+

−−−−−−−→
H2O

CH3 − CH2 − CH2 −

O

∣ ∣

C − CH2OH

CH3 − C
∣ ∣
O

−

CH3

∣

C H − CH2OH

CH3 − C
∣ ∣
O

−

CH3

∣

C
∣
OH

− CH3

CH3 − CHOH −

CH3

∣

C H − CHO

62. The reagent X in the reactions 

(CH3)3CCH = CH2

X
−−→
THF

Y
NaBH2

−−−→
NaOH

(CH3)3 − C
∣
OH

− CH − CH3

https://dl.doubtnut.com/l/_ym25oGctePU2
https://dl.doubtnut.com/l/_VPKLHjnuQctN
https://dl.doubtnut.com/l/_lpiqyAFKlwgr


A. 

B. 

C. 

D. HCOOH

Answer: B

Watch Video Solution

H3O
+

Hg(CH3COO)2

OH −

63. Hydrogenation of the adjoining compound in the presence of

poisoned palladium catalyst gives 

https://dl.doubtnut.com/l/_lpiqyAFKlwgr
https://dl.doubtnut.com/l/_L89a296Ot054


A. An optically active compound

B. An optically inactive compound

C. A racemic mixture

D. A diastereomeric mixture

Answer: B

Watch Video Solution

64. In the presence of peroxide, hydrogen chloride and hydrogen iodide

do not give anti-Markovnikov's addition to alkenes because:

A. Both are highly ionic

B. One is oxidising and the other is reducing

C. One of the steps is endothermic in both the cases

D. All the steps are exothermic in both the cases

Answer: C

https://dl.doubtnut.com/l/_L89a296Ot054
https://dl.doubtnut.com/l/_FzKcSmFYWGK4


Watch Video Solution

65. Assertion:(i)Dimethyl sulphide is commonly used for the reduction of

an ozonide of an alkene to get the carbonyl compound (ii)Addition of

bromine to trans-2-butene yields meso-2,3-dibromo butane. 

Reason:(i)It reduces the ozonide giving water soluble dimethyl sulphoxide

and excess of it evaporates (ii)Bromine addition to an alkene is an

electrophilic addition

A. Both assertion and reason are correct and reason is the correct

explanation of the assertion

B. Both assertion and reason are correct but reason is not the correct

explanation of the assertion

C. Assertion is correct, but reason is incorrect

D. Assertion is incorrect, but reason is correct

Answer: A

https://dl.doubtnut.com/l/_FzKcSmFYWGK4
https://dl.doubtnut.com/l/_xBmLgtOTEixF


Watch Video Solution

66. The reaction of propene with HOCl proceeds via the addition of :

A.  in the first step

B.  in the first step

C.  in the first step

D.  and  in a single step

Answer: B

Watch Video Solution

H +

Cl+

OH −

Cl+ OH −

67. , A is

A. 

Ph − C ≡ C − CH3

Hg2 + /H +

−−−−−−→ A

https://dl.doubtnut.com/l/_xBmLgtOTEixF
https://dl.doubtnut.com/l/_kYgOipspAfwd
https://dl.doubtnut.com/l/_txw7LDeVYXBT


B. 

C. 

D. 

Answer: A

Watch Video Solution

68. Identify a reagent from the following list which can easily distinguish

between 1-butyne and 2-butyne.

A. Bromine , 

B. , Lindlar catalyst

C. Dilute 

D. Ammonical  solution

CCl4

H2

H2SO4, HgSO4

Cu2Cl2

https://dl.doubtnut.com/l/_txw7LDeVYXBT
https://dl.doubtnut.com/l/_rVsX7iwT5dla


Answer: D

Watch Video Solution

69. Condiser the following reaction, 

 


Identify the structure of major product X.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − C
∣
D

H − C
∣

CH3

H − CH3 + Br2 → X + HBr

H3C − C
∣
D

H − C
∣

CH3

H −
.

CH2

H3C − C
∣
D

H −
.

C
∣

CH3

− CH3

H3C −
.

C
∣
D

− C
∣

CH3

H − CH3

H3C −
.

CH − C
∣

CH3

H − CH3

https://dl.doubtnut.com/l/_rVsX7iwT5dla
https://dl.doubtnut.com/l/_gn3iwAXKmePm


70. The nodal plane in the -bond of ethene is located in:

A. The molecular plane

B. A plane parallel to the molecular plane

C. A plane perpendicular to the molecular plane with bisects the

carbon-carbon -bond at right angle

D. A plane perpendicular to the molecular plane which contains the

carbon carbon  bond

Answer: A

Watch Video Solution

π

σ

σ

71. Which of the following represents the given mode of hybridization

 from left to right ?

A. 

B. 

sp2sp2sp − sp

H2C = CH − C ≡ CH

HC ≡ C − C ≡ CH

https://dl.doubtnut.com/l/_jAVXZAYAG9zw
https://dl.doubtnut.com/l/_VqhJGCXO2bGq


C. 

D. 

Answer: A

Watch Video Solution

H2C = C = C = CH2

72. Phenyl propene on acidic hydration gives 

A. 2-phenyl-2-propanol

B. 2-phenyl-1-propanol

C. 3-phenyl-1-propanol

D. 1-phenyl-2-propanol

Answer: A

Watch Video Solution

2 − ,

https://dl.doubtnut.com/l/_VqhJGCXO2bGq
https://dl.doubtnut.com/l/_hSQ04PYRQweo


73. How many chiral compounds are possible on monochlorination of 2-

methyl butane

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

74. Product on monobromination of this compound is

https://dl.doubtnut.com/l/_3u1lyV1PjV63
https://dl.doubtnut.com/l/_SVQlFvx1DWgB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

75. The product of acid catalyzed hydration of pheny propene is

A. 3-phenyl-2-propanol

2 − 1

https://dl.doubtnut.com/l/_SVQlFvx1DWgB
https://dl.doubtnut.com/l/_YDJOcGCB9QIv


B. 1-phenyl-2-propanol

C. 2-phenyl-2-propanol

D. 2-phenyl-1-propanol

Answer: C

Watch Video Solution

76. Which of the following used for conversion of 2-hexyne into trans-2-

hexene?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2 /Pd/BaSO4

H2, PtO2

NaBH4

Li − NH3 /C2H5OH

https://dl.doubtnut.com/l/_YDJOcGCB9QIv
https://dl.doubtnut.com/l/_wuqsAJKSUesu


77. What would be the produt formed when 1-bromo-3 chorocyclobutane

reacts with two equivalents of metallic sodium in ether ? .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wuqsAJKSUesu
https://dl.doubtnut.com/l/_OVnYrFAkCwh6


78. , Identify the adduct.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH = CH2 + NOCl → P

CH3 − C
∣
Cl

H − C
∣
NO

H2

CH3 − C
∣
Cl

H − C
∣
NO

H2

CH3 − CH2 −

NO

∣

C
∣
Cl

H

C
∣

NO

H2 − CH2 − C
∣
Cl

H2

79. The reaction of toluene with  in presence of  gives

predominantly :

A. Benzoyl chloride

B. Benzyl chloride

C. o- and p- chlorotoluene

Cl2 FeCl3

https://dl.doubtnut.com/l/_Q0jb7xbvNLE3
https://dl.doubtnut.com/l/_Y11M9FgIS9Bx


D. m-chlorotoluene

Answer: C

Watch Video Solution

80. Cyclohexene on ozonolysis followed by reaction with zinc dust and

water gives compound E. Compound E on furhter treatment with

aqueous KOH yields compound F. Compound F is

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_Y11M9FgIS9Bx
https://dl.doubtnut.com/l/_73mSrWT5fjKv


Watch Video Solution

81. The synthesis of 3-octyne is achieved by adding a bromoalkane into a

mixture of sodium amide and an alklyne. The bromo alkane and alkyne

respectively are:

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

BrCH2CH2CH2CH2CH3 CH3CH2C ≡ CH

BrCH2CH2CH3 CH3CH2CH2C ≡ CH

BrCH2CH2CH2CH2CH3 CH3CH2C ≡ CH

BrCH2CH2CH2CH3 CH3CH2C ≡ CH

https://dl.doubtnut.com/l/_73mSrWT5fjKv
https://dl.doubtnut.com/l/_fzrxtvbgTb7t


82. The compound  


 


were separately subjected to nitration using mixture. The

major product formed in each case respectively is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P , Q and S

HNO3 /H2SO4

https://dl.doubtnut.com/l/_lqfgumzov0pS


83. The number of optically active products obtained from the complete

ozonolysis of the given compound 

 


is :

A. 0

B. 1

C. 2

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lqfgumzov0pS
https://dl.doubtnut.com/l/_o9qmE4Hy5h5U


84. Which of the following molecules, in pure form, is /are ustable at

room temperature?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NZbR0P5N6alk


85. In the reaction 

 


The product C is

A. Acetaldehyde

B. Acetylene

C. Ethylene

D. Acetyl chloride

Answer: C

Watch Video Solution

CH3COOH
LiAlH4

−−−→ A
PCl5
−−→ B

Alc .KOH
−−−−−→ C

86. Which compund will yield 5-keto -2 methyl hexanal upon treatment

with ?

A. 

O3

https://dl.doubtnut.com/l/_Hscf35c3KsGB
https://dl.doubtnut.com/l/_ZX1BIU1iMdfB


B. 

C. 

D. 

Answer: B

Watch Video Solution

87. In the following sequence of reactions: 

Toluene  


the product C is

KMnO4
−−−−→ A

SOCl2
−−−→ B −−−→

BaSO4

C

H2

Pd

https://dl.doubtnut.com/l/_ZX1BIU1iMdfB
https://dl.doubtnut.com/l/_9wwZrUlPTFCQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5COOH

C6H5CH3

C6H5CH2OH

C6H5CHO

88. In the following reaction, the major product is

A. 

B. 

https://dl.doubtnut.com/l/_9wwZrUlPTFCQ
https://dl.doubtnut.com/l/_U2r5F7dW0qY3


C. 

D. 

Answer: D

Watch Video Solution

89. In the following reactions, the product S is

A. 

B. 

https://dl.doubtnut.com/l/_U2r5F7dW0qY3
https://dl.doubtnut.com/l/_UyyPS9oH9aIA


C. 

D. 

Answer: A

Watch Video Solution

90. The major product U in the following reactions is

A. 

B. 

https://dl.doubtnut.com/l/_UyyPS9oH9aIA
https://dl.doubtnut.com/l/_0uE5IRH6zLFn


C. 

D. 

Answer: B

Watch Video Solution

91. The reaction of propene with  proceeds through

the intermediate:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HOCI(CI2 + H2O)

CH3 − CH + − CH2 − Cl

CH3 − CH(OH) − CH +
2

CH3 − CHCl − CH +
2

CH3 − CH +CH2 − OH

https://dl.doubtnut.com/l/_0uE5IRH6zLFn
https://dl.doubtnut.com/l/_U5nfrteSmcM4


92. The product of the reaction given below is: 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_U5nfrteSmcM4
https://dl.doubtnut.com/l/_DL560stoX0iT


D. 

Answer: A

Watch Video Solution

93. The trans-alkenes are formed by the reduction of alkynes with

A. 

B. 

C. Sn-HCl

D. 

Answer: B

Watch Video Solution

NaBH4

Na/liq. NH3

H2 /Pd/C, BaSO4

https://dl.doubtnut.com/l/_DL560stoX0iT
https://dl.doubtnut.com/l/_f4oZMbGn3Fhx


JEE SECTION (More than one choice correct answer)

1. Which of the following will give cis-diols?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

2. Toluene, when treated with  gives p-bromotoluene as the

major product, because the  group:

A. is para-directing

B. is meta-directing

Br2 /Fe

CH3

https://dl.doubtnut.com/l/_gkD3hmFyItgj
https://dl.doubtnut.com/l/_7InstRsg7UjE


C. Activates the ring to hyperconjugation

D. Deactivates the ring

Answer: A::C

Watch Video Solution

3. An aromatic molecule will

A. Have -electrons

B. Have (4n+2) -electrons

C. Be planar

D. Be cyclic

Answer: B::C::D

Watch Video Solution

4rπ

π

https://dl.doubtnut.com/l/_7InstRsg7UjE
https://dl.doubtnut.com/l/_LMhcSd4EuNyh


4. Among P,Q,R and S , the aromtic compound(s) is /are

A. P

B. Q

C. R

D. S

https://dl.doubtnut.com/l/_wRDww3ENebmG


Answer: A::B::C::D

Watch Video Solution

5. Among the following reactions (s), which gives (give) tert-butyl benzene

as the major product?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_wRDww3ENebmG
https://dl.doubtnut.com/l/_M9nM2TiRF73y
https://dl.doubtnut.com/l/_QiljOXECCZsJ


6. The correct statement(s) about the following reaction sequence is (are)

Cumene  


Q(major)+R(minor), 

A. R is steam volatile

B. Q gives dark violet coloration with 1% aqueous  solution

C. S gives yellow precipitate with 2,4-dinitrophenylhydrazine

D. S gives dark violet colouration with 1% aqueous  solution

Answer: B::C

Watch Video Solution

(C9H12)
( i )O2

−−−−−→
( ii )H3O

+
P

CHCl3 /NaOH

−−−−−−−−→

Q
NaOH

−−−−−→
PhCH2Br

S

FeCl3

FeCl3

https://dl.doubtnut.com/l/_QiljOXECCZsJ


7. The correct statement for the following addition reactions is (are) 

A. (M and O) and (N and P) are two pairs of enantiomers

B. Bromination proceeds through trans-addition in both the reactions

C. O and P are identical molecules

D. (M and O) and (N and P) are two pairs of diastereomers

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_yXr9U5mMCT8o


8. Compound p and R upon ozonolysis produce Q and S, 

respectively . The molecular fromular of Q and S id . Q


undergoes Cannizzaro reaction but not halofrom reaction , 

whereas S undergoes halofrom reaction but not Cannizzaro 

reaction . 

 


(ii)  


The option (s) with suitable combination of P and R, 

respectively , is(are)

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

C8H8O

(i)P
( i )O3 /CH2Cl2
−−−−−−−−−→

( ii )Zn/H2O
Q

(C8H8O )

R
( i )O3 /CH2Cl2
−−−−−−−−−→

( ii )Zn/H2O
S

(C8H8O )

https://dl.doubtnut.com/l/_SoKUhyx9S60J


9. Octane number of petrol (gasoline) can be increased by

A. Aromatisation

B. Cracking

C. By adding anti-knocking agent

D. Nitration

Answer: A::B::C

Watch Video Solution

10. During the preparation of alkanes by 

Kolbe's electrolytic decarboxylatio of  ,


which of the following products are formed

A. 

B. 

CH3CH2COONa

CH3CH2CH2CH3

CH2 = CH2

https://dl.doubtnut.com/l/_SoKUhyx9S60J
https://dl.doubtnut.com/l/_FpArtD9UELB1
https://dl.doubtnut.com/l/_81KE8P8zRy14


C. 

D. 

Answer: A::B::D

Watch Video Solution

CH4

CH3CH2OH

11. During the Kolbe's electrolytic decarboxylation of 

A.  is liberated at cathode because discharge potential of  is

less than discharge potential of 

B.  is discharged preferentially at anode than 

because discharge potential of  is less than discharge

potential of 

C. NaOH is discharged at cathode

D.  is liberated at anode along with alkane

Answer: A::B::D

CH3COONa

H2 H +

Na+

CH3COO
− OH −

CH3COO
−

OH −

CO2

https://dl.doubtnut.com/l/_81KE8P8zRy14
https://dl.doubtnut.com/l/_QGQgdM2V976K


Watch Video Solution

12. Which of the following statements are correct during halogenation of

alkane

A. The yield of the alkyl halide depends upon the bond dissociation

energy of the type of C-H bond

B. The yield of the alkane depends upon the number of a particular

type of C-H available

C. The fluoro compounds cannot be prepared because of high bond

energy of F-F

D. Iodo compounds cannot be prepared by this method because the

backward reaction is thermodynamically more favourable

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_QGQgdM2V976K
https://dl.doubtnut.com/l/_pVWJNQcmSwW8
https://dl.doubtnut.com/l/_JKnA48sQS51q


13. Which of the following methods yield saturated hydrocarbon?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

RCH = CH2

( i )BH3

−−−−−−−−−→
( ii )CH3COOH

CH2 = CH − R
CH2N2

−−−→

Br − CH2 − CH2 − CH2 − CH2 − CH2 − Br
Na/Ether
−−−−−→

Δ

14. When ethylbenzene is brominated, then which of the following

products can be obtained in major amounts

A. 

B. 

https://dl.doubtnut.com/l/_JKnA48sQS51q
https://dl.doubtnut.com/l/_v9m3BwvEkONV


C. 

D. 

Answer: B::C

Watch Video Solution

15. In which of the following Hoffmann elimination product is more ?

A. 

B. 

C. 

D. 

Answer: B::C

CH3 −

CH3

∣

C
∣

CH3

− C
∣
OH

H − CH3

Conc .H2SO4
−−−−−−−→

Δ

CH3 −

CH3

∣

C
∣

CH3

− C
∣
Br

H − CH3
Potassium
−−−−−→
t-butoxide

CH3 −

CH3

∣

C
∣

CH3

− CH2 − Cl
alc KOH
−−−−→

Δ

https://dl.doubtnut.com/l/_v9m3BwvEkONV
https://dl.doubtnut.com/l/_zhwgZ8PT3fcA


Watch Video Solution

16. When 2-butyne is brominated, A is formed . When 2-butyne is reacted

with  and  , then B is formed which then gives C . Hence

A. 

B. 

C. B is  and C is 

D. B is  and C is 

Answer: B::C

View Text Solution

HgSO4 H2SO4

Me − C
∣
OH

= CH − Me Me −

O

∣ ∣

C − CH2 − CH3

Me −

OH

∣

C
∣
OH

= CH − Me Me −

O

∣ ∣

C − CH2 − CH3

https://dl.doubtnut.com/l/_zhwgZ8PT3fcA
https://dl.doubtnut.com/l/_Rw3nhSoffAZ4


17.  


Followed by treatment with  , then the different products

formed at different stages are

A. 

B. 

C. 

D. 

Answer: B::C

H2O2 /OH −

https://dl.doubtnut.com/l/_U3I7qjrsazqK


Watch Video Solution

18. 

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_U3I7qjrsazqK
https://dl.doubtnut.com/l/_dR9FIwuOS37M


19.  

In this reaction sequences

A. A is 

B. B is  and C is 

C. B is  and C is 

D. 

Answer: A::C

View Text Solution

H − C ≡ C − (CH2)
8

− Br

H − C ≡ C − H LiC ≡ C − (CH2)
8

− Br

LiC ≡ C − (CH2)8 − Br

20. When  is reacted with HBr then the product formed

is A and when  is treated with HBr then the

product formed is C. Hence here

A. A is 

CH2 = CH − Br

CH2 = CH − COOH

C
∣
Br

H2 − C
∣
Br

H2

https://dl.doubtnut.com/l/_QhxUObYhnaVW
https://dl.doubtnut.com/l/_kHiopxS97m5I


B. 

C. C is 

D. C is 

Answer: B::D

Watch Video Solution

CH3 − C
∣
Br

H − COOH

C
∣
Br

H2 − CH2 − COOH

21. Which of the following reaction will give an alkyne?

A. 

B. 

C. 

D. Potassium maleate 

Answer: A::B::C::D

Watch Video Solution

CH3CH2C
∣
Cl

H − C
∣
Cl

H2

H2O
−−−−→
NaNH2

CH3CH2CHBr2
alc KOH
−−−−→

Δ

CH3 −

Br

∣

C
∣
Br

−

Br

∣

C
∣
Br

− CH3

Zn/alcohol
−−−−−→

electrolysis
−−−−−→

https://dl.doubtnut.com/l/_kHiopxS97m5I
https://dl.doubtnut.com/l/_17myzxXGS6iC


22. Which of the following reactions are correct

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

https://dl.doubtnut.com/l/_17myzxXGS6iC
https://dl.doubtnut.com/l/_wHuXKSkI5Mou


23. In the given conversion given below 

A. 

B. (i)One equivalent of LDA, (ii)

C. 

D. (i)  (ii)

Answer: A::B::D

Watch Video Solution

H2O/Hg2 + /H +

D2O

Br2 /CCl4

(Sil)2BH H2O2 /OH −

24. Which of the following are highly reactive towards electrophile

https://dl.doubtnut.com/l/_7RZWpIblKk5M
https://dl.doubtnut.com/l/_bUzjtpfLwf2O


A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

25. Complete the following reaction

https://dl.doubtnut.com/l/_bUzjtpfLwf2O
https://dl.doubtnut.com/l/_Lu8vl6hPxeOT


A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_Lu8vl6hPxeOT


26. 

A. 

B. 

C. 

D. 

Answer: A::D

View Text Solution

27. Complete the following reaction

https://dl.doubtnut.com/l/_5uqyLc8UIVoQ
https://dl.doubtnut.com/l/_4WgVYkjuUnYC


A. 

B. 

C. 

D. Enolization is not possible

Answer: A::B

Watch Video Solution

28. what are the product obtained in the reaction sequence given below 

https://dl.doubtnut.com/l/_4WgVYkjuUnYC
https://dl.doubtnut.com/l/_4x095wftrhD1


A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

29. Complete the following reaction

https://dl.doubtnut.com/l/_4x095wftrhD1
https://dl.doubtnut.com/l/_jsuJBhJghvNi


A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

30. In the reaction sequence given below 

https://dl.doubtnut.com/l/_jsuJBhJghvNi
https://dl.doubtnut.com/l/_NdMdH06qoxNK


A. 

B. 

C. S and D are respectively AgCN and none

D. 

Answer: B::C

View Text Solution

31. Complete the following reaction

A. 

https://dl.doubtnut.com/l/_NdMdH06qoxNK
https://dl.doubtnut.com/l/_2zhpokI7BB35


B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

32. 

A. 

B. 

https://dl.doubtnut.com/l/_2zhpokI7BB35
https://dl.doubtnut.com/l/_MMJybCJWt1x1


C. 

D. 

Answer: A::B::C

View Text Solution

33. Which of the following statement is/are correct about benzene

A. It burns with scooty flame

B. It undergoes electrophilic substitution reaction

C. Its resonace energy is 

D. It is highly unsaturated and decolourises bromine water

Answer: A::B::C

Watch Video Solution

36kcalmol− 1

https://dl.doubtnut.com/l/_MMJybCJWt1x1
https://dl.doubtnut.com/l/_9J5m6nWgw2lZ


34. Which of the following are electrophile

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

SO3

−COCH3

H3O
+

(CH3)4N
+

35. The  will attack which ring in the following compounds and wht is

the rate of ESR in this

E ⊕

https://dl.doubtnut.com/l/_9J5m6nWgw2lZ
https://dl.doubtnut.com/l/_I3ew6CnvM1TE
https://dl.doubtnut.com/l/_wIHGiPeoxLcT


JEE SECTION (Reasoning type questions)

A. In A, ring X will take part in electrophilic substitution reaction

B. In A, ring Y will take part in electrophilic substitution reaction

C. In B, ring Q will take part in electrophilic substitution reaction

D. Compound B is more reactive than compound A

Answer: B::C::D

Watch Video Solution

1. Statement 1:Addition of  to 1-butene gives two optical isomers. 


Statement 2:The product contains one asymmetric carbon

A. Statement 1 is true , statement 2 is true , statement 2 is a correct

explanation for statement 1

B. Statement 1 is true , statement 2 is true , statement 2 is not a

correct explanation for statement 1

Br2

https://dl.doubtnut.com/l/_wIHGiPeoxLcT
https://dl.doubtnut.com/l/_nSk8B3UNkrwR


C. Statement 1 is true , statement 2 is false

D. Statement 1 is false , statement 2 is true

Answer: A

Watch Video Solution

2. Assertion  Butene on reaction with  in the presence of a

peroxide produces bromo butane 


Reason  It involves the free radical mechanism.

A. Statement 1 is true , statement 2 is true , statement 2 is a correct

explanation for statement 1

B. Statement 1 is true , statement 2 is true , statement 2 is not a

correct explanation for statement 1

C. Statement 1 is true , statement 2 is false

D. Statement 1 is false , statement 2 is true

: 1 − HBr

1 − −

:

https://dl.doubtnut.com/l/_nSk8B3UNkrwR
https://dl.doubtnut.com/l/_xV0VCOeFv8qN


Answer: A

Watch Video Solution

3. Statement-1: Bromobenzene upon reaction with  gives 1,4-

dibromobenzene as the major product. 

Statement-2: In bromobenzene the inductive effect of the bromo group is

more dominant than the mesomeric effect in directing the incoming

electrophile.

A. Statement 1 is true , statement 2 is true , statement 2 is a correct

explanation for statement 1

B. Statement 1 is true , statement 2 is true , statement 2 is not a

correct explanation for statement 1

C. Statement 1 is true , statement 2 is false

D. Statement 1 is false , statement 2 is true

Answer: C

Br2 /Fe

https://dl.doubtnut.com/l/_xV0VCOeFv8qN
https://dl.doubtnut.com/l/_tNGruRPa9Tg9


JEE SECTION (Comprehension type questions)

Watch Video Solution

4. Assertion (A) Friedel - Crafts reaction benzene with n - propyl chloride

on heating produce isopropyl benzene 

Reason (R ) Benzene undergoes electrophilic substitution easily.

A. Statement 1 is true , statement 2 is true , statement 2 is a correct

explanation for statement 1

B. Statement 1 is true , statement 2 is true , statement 2 is not a

correct explanation for statement 1

C. Statement 1 is true , statement 2 is false

D. Statement 1 is false , statement 2 is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tNGruRPa9Tg9
https://dl.doubtnut.com/l/_OHAQxQKzcZKL


1. An acyclic hydrocarbon P, having molecular fromula  gave

acetone as the only organic product through the followig sequence of

reaction in which Q is an intermediate organicn compound 

 

The structure of compound P is

A. 

B. 

C. 

D. 

C6H10

CH3CH2CH2CH2 − C ≡ C − H

H3CH2C − C ≡ CH2CH3

https://dl.doubtnut.com/l/_a8HkntvK9cpH


Answer: D

Watch Video Solution

2. An acyclic hydrocarbon P, having molecular fromula  gave

acetone as the only organic product through the followig sequence of

reaction in which Q is an intermediate organicn compound 

 

The structure of the compound Q is

A. 

C6H10

https://dl.doubtnut.com/l/_a8HkntvK9cpH
https://dl.doubtnut.com/l/_S2HfdVl22eSj


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2CH2

OH

∣

CHCH3

3. Schemes 1 and 2 describe sequential transformation of alkynes M and

N. Consider only the major products formed in each step for both the

schemes. 

https://dl.doubtnut.com/l/_S2HfdVl22eSj
https://dl.doubtnut.com/l/_WA9Yjgv7pN9Y


 

The product X is

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_WA9Yjgv7pN9Y


Watch Video Solution

4. Schemes 1 and 2 describe sequential transformation of alkynes M and

N. Consider only the major products formed in each step for both the

schemes. 

 

The product X is

A. It gives a positive Tollens test and is a functional isomer of X

B. It gives a positive Tollens test and is a geometrical isomer of X

C. It gives a positive iodoform test and is a functional isomer of X

D. It gives a positive iodoform test and is a geometrical isomer of X

https://dl.doubtnut.com/l/_WA9Yjgv7pN9Y
https://dl.doubtnut.com/l/_ztOkKq7qnqkR


Answer: C

Watch Video Solution

5. In the following reactions 

 


Compound X is

A. 

B. 

https://dl.doubtnut.com/l/_ztOkKq7qnqkR
https://dl.doubtnut.com/l/_Zp8CjAq78NLQ


C. 

D. 

Answer: C

Watch Video Solution

6. In the following reactions 

 


The major compound Y is

https://dl.doubtnut.com/l/_Zp8CjAq78NLQ
https://dl.doubtnut.com/l/_7jxUrz4ok2MF


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7. The reaction of compounf P with  (excess) in 

followed by addition of  give Q the compound Q on treatment with 

at  C gives R. the reaaction of R with  in the presence

of anhydrous  followed by treatment with  produces

compound S. [Et in compound P is ethyl group] The product S is The

CH3MgBr (C2H5 _ (2)O

H2O

H2SO4 0∘ CH3COCl

AlCl3inCH2Cl2 H2O

https://dl.doubtnut.com/l/_7jxUrz4ok2MF
https://dl.doubtnut.com/l/_owCm3BQJaTal


product S is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_owCm3BQJaTal


8. The reaction of compounf P with  (excess) in 

followed by addition of  give Q the compound Q on treatment with 

at  C gives R. the reaaction of R with  in the presence

of anhydrous  followed by treatment with  produces

compound S. [Et in compound P is ethyl group] The product S is The

product S is 

A. Aromatic sulfonation and Friedel-Crafts acylation

B. Friedel-Crafts alkylation and Friedel-Crafts acylation

C. Friedel-Crafts alkylation , dehydration and Friedel-Crafts acylation

D. Dehydration and Friedel-Crafts acylation

Answer: B

Watch Video Solution

CH3MgBr (C2H5 _ (2)O

H2O

H2SO4 0∘ CH3COCl

AlCl3inCH2Cl2 H2O

https://dl.doubtnut.com/l/_5rIBt5ploHeF


9. Five millitres of a gas (A) containing only C and H was mixed with an

excess of oxygen (30 ml) and the mixture was exploded by means of an

electric spark. After the explosion, the remaining volume of the mixed

gases was 25 ml. On adding a concentrated solution of KOH, the volume

further diminished to 15 ml.The residual gas being pure oxygen . 

 


The molecule formula of gas (A) is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

C2H4

C2H6

C3H6

C3H8

https://dl.doubtnut.com/l/_l3JypWjdHG5k


10. Five millilitires of a gas (A) containing only C and H was mixed with an

excess of oxygen (30 ml) and the mixture was exploded by means of an

electric spaek. After the explosion, the remaining volume of the mixed

gasses was 25 ml. On adding a concentrated solution of KOH, the volume

further diminished to 15 ml. The residual gas being pure oxyges. 

 


Compound (B) is:

A. 

B. 

C. 

https://dl.doubtnut.com/l/_VZr5DGcNV0Rh


D. 

Answer: C

Watch Video Solution

11. Five millilitires of a gas (A) containing only C and H was mixed with an

excess of oxygen (30 ml) and the mixture was exploded by means of an

electric spaek. After the explosion, the remaining volume of the mixed

gasses was 25 ml. On adding a concentrated solution of KOH, the volume

further diminished to 15 ml. The residual gas being pure oxyges. 

 


Compound (C) is:

A. 

https://dl.doubtnut.com/l/_VZr5DGcNV0Rh
https://dl.doubtnut.com/l/_hOpZA9QQcl5b


B. 

C. 

D. 

Answer: B

Watch Video Solution

12. Five millilitires of a gas (A) containing only C and H was mixed with an

excess of oxygen (30 ml) and the mixture was exploded by means of an

electric spaek. After the explosion, the remaining volume of the mixed

gasses was 25 ml. On adding a concentrated solution of KOH, the volume

further diminished to 15 ml. The residual gas being pure oxyges. 

https://dl.doubtnut.com/l/_hOpZA9QQcl5b
https://dl.doubtnut.com/l/_IwYyzS60vAs1


 


Compound (D) is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_IwYyzS60vAs1


Watch Video Solution

13. Five millilitires of a gas (A) containing only C and H was mixed with an

excess of oxygen (30 ml) and the mixture was exploded by means of an

electric spaek. After the explosion, the remaining volume of the mixed

gasses was 25 ml. On adding a concentrated solution of KOH, the volume

further diminished to 15 ml. The residual gas being pure oxyges. 

 


Compound (E) is:

A. 

B. 

https://dl.doubtnut.com/l/_IwYyzS60vAs1
https://dl.doubtnut.com/l/_8HVm9xMaaDUf


C. 

D. 

Answer: C

Watch Video Solution

14. Five millilitires of a gas (A) containing only C and H was mixed with an

excess of oxygen (30 ml) and the mixture was exploded by means of an

electric spaek. After the explosion, the remaining volume of the mixed

gasses was 25 ml. On adding a concentrated solution of KOH, the volume

further diminished to 15 ml. The residual gas being pure oxyges. 

 


Compopund (F) is:

https://dl.doubtnut.com/l/_8HVm9xMaaDUf
https://dl.doubtnut.com/l/_ZjN3Cf29oBLq


JEE SECTION (Integer type questions)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZjN3Cf29oBLq


JEE SECTION

1. The total number of alkenes possible by dehydrobromination of 3-

bromo-3-cyclopentylhexane using alcoholic  is

Watch Video Solution

KOH

1. Among the following the number of aromatic compound (s) is 

Watch Video Solution

2. Amongest the following the maximum number of alkenes which shows

geometrical isomers are 1-pentene, 2-butene, 2-pentene, 1-butene ,propne,

https://dl.doubtnut.com/l/_yVXkK6EkdGQn
https://dl.doubtnut.com/l/_8eR0WZzETzwm
https://dl.doubtnut.com/l/_liTEbMXTkdmt


JEE SECTION (Matrix Match type questions)

2,3-dimethyl-2-butene, 3-hexene, 1-hexene

Watch Video Solution

3. How many of the following on reductive ozonolysis will give only

glyoxal? Ethylene, acetylene, 1,3-butadiene, benzene, o-xylene, m-xylene, p-

xylene, cyclobutadiene, cyclooctatetrene.

Watch Video Solution

4. how many of the following species are aromatic in nature

cyclopentadienyl cation, cyclopentadienyl anion, tropylium cation,

azulene, cyclopropenyl cation, tetrahydrofuran, cyclooctatetraene, furan ,

cycloheptatriene

Watch Video Solution

https://dl.doubtnut.com/l/_liTEbMXTkdmt
https://dl.doubtnut.com/l/_VvyxswjBSVXM
https://dl.doubtnut.com/l/_GEY6YZDKrE7W
https://dl.doubtnut.com/l/_bvWiEkpSGAfA


1. Each of the compouns given in Column I with the reactions that they

can undergo , given in column II . 

Watch Video Solution

2. Match the reactions in column I with appropriate type of steps/reactive

intermediate involved in these reactions as given in Column II. 

https://dl.doubtnut.com/l/_bvWiEkpSGAfA
https://dl.doubtnut.com/l/_XaYFfcwCbcSH


 


View Text Solution

https://dl.doubtnut.com/l/_XaYFfcwCbcSH
https://dl.doubtnut.com/l/_g8qSkAcUF20c


3.  


The only CORRECT combination in which the reaction 

proceeds through radical mechanism is

A. (IV)(i)(Q)

B. (III)(ii)(P)

C. (II)(iii)(R)

D. (I)(ii)(R)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_g8qSkAcUF20c


4.  


For the synthesis of benzoic acid , the only CORRECT combination is

A. (II)(i)(S)

B. (I)(iv)(Q)

C. (IV)(ii)(P)

D. (III)(iv)(R)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_irZrcV8WKrDW


5.  


The only CoRRECT combination that gives two different carboxylic acid

A. (IV)(iii)(Q)

B. (II)(iv)(R)

C. (I)(i)(S)

D. (III)(iii)(P)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2i13U9piFr7C


6. Match the compounds in Column I with their structure/characteristic

/reaction /stereochemistry etc . Given in coloumn II. 

Watch Video Solution

https://dl.doubtnut.com/l/_rwajb13DxVir

